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General Instructions

1. AIST ¥ GF GOET 2021 ¥ fory §IS qgeEe 9¥ Hyale 39 T waeT
qIagHE & SR GV G 39 T3 &/

Model Question papers are uploaded on the Board website have been framed
on the basis of the revised syllabus for Board Examination 2021.

2. FIfds—19 GR9Eq 4 o+ §HY a@ [dened T8 Ger S fAfETT Rrrr ifa
5o & oI J&F gradm @iafa EI%T T FeTF Y sgaifed faar 79 &

Due to the COVID-19 conditions schools have not been opened for the students
for a long time. Teaching process has been hampered, hence the syllabus
committee has approved a new Question paper pattern.

3. G goT g7 7T 97 gv EiRa &) 7v Al ¥ qglawed], & gfad § oV
T, RaT w7 i, agoxavicia— |, Tgoaecid— /| s ge7 &1 Taaey
g/

All the Model Question papers are framed according to the new pattern.
Multiple Choice Questions, one line answers, Fill in the blanks, Short Answer
Type - |, Short Answer Type - |1, Long Answer Type Questions are included in the
Question Papers.

4. GV T UG T & FAP H97 H (0@, ool U8 J & JAF F97 4 2-2
faweq 79 T4 &/

Section C and D have one internal choice and Section E has two internal choices
in each question.

5 GIOIHT 4 179 TI FHIE TN 3P VT B AN H 25% TF IFHR H GRIT
9 gem & geTgal # =T 81

A change/ variation up to 25% can be there in the unit-wise marking
scheme/weightage of marks as given in the syllabus and in the main Board
Examination Question papers.

6. 507 wre, Wi, e U7 Ty Bvar @ 22 7 de ¥ arfre uRadT YT 3 Tl
TG SITEIHTT T HFEGY [T TIT &/

In the Model Question papers of Accountancy, Music, Drawing and language
subjects partial changes have been made in the given pattern according to the
nature and reqirement of the subject.
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SENIOR SECONDARY EXAMINATION, MODEL QUESTION PAPER-2021
Model Paper
English
;34 99 qUlis 80

Wenfeia & forw M= fAady —
GENERAL INSTRUCTION TO THE EXAMINEES:

Candidate must write first his/her Roll No. on the question paper compulsorily.

All the questions are compulsory.

Write the answer to each question in the given answer book only.

For questions having more than one part the answers to those parts are to be

written together in continuity.

5. If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.

6. Write down the serial number of the question before attempting it.

7. Weightage of marks for the question is as follows.

oo b~

Section Number of Questions Marks of each | Total Marks
question
Section (A) 1(itox), 2toll =20 1 20
Section (B) 12t019 =8 2 16
Section (C) 20t023 =4 4 16
Section (D) 24t025 =2 5 10
Section (E) 26t028=3 6 18




SECTION - A

Q. 1. Read the passage given below and answer the questions that follow:

Gandhiji was a first class nurse to the sick. Where he picked up nursing
was a mystery. He certainly did not pass through a nursing school. As in many
other things, when nursing became necessary to him in life, he learned it by the
hard way of experience. In the Ashram at Sabarmati, all sick persons came
directly under his eye and care. Doctors were, of course, consulted, but the care
of the sick, Gandhiji arranged in person. It was a joke, especially among the
people in the Ashram that if you wanted to see Gandhiji every day and talk to
him and hear him crack jokes,, you had only to be ill and get into bed ! For
Gandhiji visited the sick every day, spent a few minutes at every bed-side,
himself saw to things carefully and never failed to crack a joke or two with the
patient. There was no day too busy for Gandhiji to attend sick persons.

There was once a young lad who went down with dysentery. He had
done his best to accustom himself to Ashram food, but failed. He had a great
liking for coffee. But in the Ashram there was no coffee for him nor was coffee
allowed. In good time, he got rid of his dysentery and was npw recovering.
Gandhiji visited him for a few minutes every day during his usual rounds.
Those few minutes were like a tonic to the poor lad.

He pined for a cup of good coffee. One day he was lying on his back dreaming
of it when he heard the welcome sound of the wooden sandals of Gandhiji. A
minute later Gandhiji entered with his never — failing smile and cheering word.
He looked at the lad and said, “Now you are decidedly better. You
must have recovered your appetite. What would you like to eat? Ah! Some
good uppuma or dosai ?”
Gandhiji evidently knew all about the lad’s partiality for these two good old
South Indian dishes. Gandhiji was laughing. The youngster had a sudden brain-
wave. “ Could | have a cup of coffee, please,” he blurted out. Gandhiji
answered with a peal of laughter, “Oh, you old sinner, that is what you want! “
And then seeing the look on the lad’s face, he added, “ You certainly shall have
your cup of coffee. Yes, light coffee will soothe your stomach. And what will
you have with the coffee? | don’t think we can make uppama or dosai, but
warm toast would go well with coffee. | shall send you a tray. ”
Gandhiji's cottage was at the other end of the Ashram. Gandhiji himself
prepared the coffee because his wife was taking rest. It was an untimely hour.
He did not want to give unnecessary trouble to anyone. Coffee was light but
excellent. The young lad was troubled when he thought that he had given
trouble to Gandhiji to prepare coffee and toast for him.



Choose the correct answer from the passage and write it in the answer book:
(1) What was a mystery ? 1

(a) Gandhiji’s experience as a nurse.

(b) attend sick persons.

(c) meeting a young lad.

(d) liking coffee.

(I1) What was the joke about Gandhiji ? 1
(a) nursing.
(b) just beill and get into bed.
(c) talking to people.
(d) laughing with patients.

(111) What was served with Coffee? 1
(a) biscuit.
(b) snacks.
(c) Toast.
(d) nothing.

(IV) Why was the young lad troubled?
(a) because he troubled Gandhiji. 1
(b) he did not like anything.
(c) he was not feeling good.
(d) he wanted to go somewhere else.

(V) Where was Gandhiji’s cottage in the Ashram? 1
(a) at the shore of river.
(b) at the end of Ashram.
(c) at the end building.
(d) at the end of station.

(V1) Why did Gandhiji himself prepare coffee? 1
(a) because it was untimely hour
(b) because he did not want to trouble his wife
(c) both (a) and (b)
(d) none

(VIl) What disease did the young lad have ? 1
(a) typhoid.
(b) cold.
(c) fever.
(d) dysentery.



(VII1) The coffee was - 1
(a) light
(b) strong
(c) both
(d) none

(IX) What is the right word for ‘ being used to' ? 1
(a) certainly
(b) evidently
(c) partiality
(d) accustomed

(X) Choose the right word for ‘desire for food’: 1
(a) appetite
(b) delicious
(c) tasty
(d) tonic

Q. 2-8 Answer the following questions in one line :
2. Where did Saheb’s family settle ? (Lost Spring) [1]
3. Which diseases are caused by stress? (How Yoga Heals) [1]
4. Who is pure according to the author? (Purity is Power) [1]
5. Why did Gandhiji plan to go to Muzzafarpur? (Indigo) [1]
6. Name three important feats performed in the show. (A walk through the Fire)
[1]
7. Where did the author find himself lying? (Deep Water) [1]
8. Who suggested the room size 10’x 8’ and to whom? (A Room 10’ x 8’) [1]

Q. 9-11 Fill in the blanks :

9. Douglas decided to learn swimming at the .................. pool. [1]

10. Mukesh belongs to a family of bangle makersin ................. . [1]

11, e, Books never become outdated. [1]
SECTION -B

Q .12-14 Answer the following questions in 30-40 words each:

12. What is the theme of the poem, ‘The Hope’? (The Hope) [2]

13. Why is a lily better than an oak? (The Noble Nature) [2]

14. How does a man play his role in the last age? (The Seven Ages Of Man) [2]

Q.15-19 Answer the following questions in 30-40 words each:

15. Why was Sherlock Holmes interested in getting the letters and photographs

at the earliest? (Trouble In Bohemia) [2]

16. Who killed Mahesh and Why? (Drought) [2]

17. What was the King’s offer to the man who could beat his daughter in
whistling ? (Svayamvara) [2]



18. How much money did the Tiger King pay to the British jewellers for rings?
(The Tiger King)  [2]
19. Discuss the aptness of the title, ‘Love across the Salt Desert’?
(Love across the Salt Desert) [2]

SECTION - C

Q.20 Read the extract given below and answer the questions that follow:
“Then a soldier.
Full of strange oaths and bearded like the pard
Jealous in honour, sudden and quick in quarrel
Seeking bubble reputation,
Even in the Cannon’s mouth.”

(a) How does a solider play his part in this age? [1%]

(b) Why is a soldier ready even to go in cannon’s mouth? [1%]

(c) Write the name of the poem. [1]
OR

Hope makes life go on.
Life is a derivative of the Function called Hope.
Hope is the prime excellence.
Right from the day one is born.

(a) What is the importance of hope in life?
(b) What is the prime excellence?
(c) What does hope make ?

Q.21-22 Answer the following questions in about 60-80 words each:
21. Why did Gandhiji scold the lawyers? (Indigo) [4]
OR
Mention the benefits of Yoga. (How Yoga Heals)
22. Describe how Douglas tried to save himself from drowning.

(Deep Water) [4]
OR
Explain how Mrs. Malik took keen interest in getting her house built and
furnished. (A Room 10’x 8’)

Q.23 Your friend Rashmi or Rajat has invited you to attend the wedding
ceremony of his or her brother. Write an informal reply expressing your
inability to attend the ceremony due to unavoidable reasons.

(word limit — 50 words) [4]
OR
Your school is going to publish it’s 25" annual magazine next month. Write
a notice inviting the articles from students. (word limit -50 words)



SECTION-D

Q.24 Answer the following question in about 100-125 words

What are the merits of purity? (Purity is Power) [5]
OR

Mention the qualities of a great book and how is its greatness

determined? (On Reading in Relation to Literature)

Q.25 Answer the following question in about 100-125 words

Attempt a character sketch of the peddler. (The Rattrap) [5]
OR
Write a character sketch of the author’s grand — mother.
(The Portrait Of a lady)

SECTION — E

Q. 26 Yesterday, two robbers robbed the Punjab National Bank of your City.

Write a report on it in about 100 words. You may use the following outline.
(PNB — robbed - two robbers —11:30 a.m. — customers — cash- counter —
Manager — Pistol — guard — injured — telephone line — masks — safe — fifty
lakh rupees — police- investigation) [6]
OR
You are Anil/Anita of Government Sr.Sec.School, Kota. Your school
celebrated Annual function cum Alumini meet. Write a report on it in
about 100 words.
OR
You are Ajay/Archana studying in Govt. Sr. Sec. School, Dholpur. Your
school celebrated a two days ‘Van- Mahotsav’ programme last week. Write
a report on it in about 100 words.

Q.27 You are Rehana or Rahim living in Kota and perusing M.C.A. Write a letter

to the C.E.O., Oracle India Pvt. Ltd. Surat for the post of a software
engineer giving your resume. [6]
OR
You are Ankush or Anu living at 3 — Basant Vihar, Ajmer. Write a letter to
the editor, The Time of India, jaipur, expressing your views on the topic,
‘Influence of mobile and internet on students.’
OR
You are Rakesh/ Rani. You are a student of Xll class. Your half- yearly exams
are drawing near. People in your locality use loudspeakers till late night.
Werite an application to the district Collector requesting him to ban the use
of loud speakers till late night during exam period.



Q.28 Your Principal has asked you to deliver a speech in your school prayer
assembly on the topic “ Water Conservation’ Write a speech on it in about

100 words. [6]
OR
Write an article in about 100 words on the topic * Women
Empowerment’.
OR

Write an article to be published in the Indian Express in about 100 words
on ‘Demonitization and its impact.’
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us 3
Section A
g 1. 9 R T gfawadl T & SaR SR gRaawr # ford |

Write the answer of the following given multiple choice questions in the
answer book.

()= & 9 P9 SeT WaR AR () Sel Iwaer 87 (1)
(@1) @) ITH(E) W() SWIad | Pig el

Which of the following data structure is linear data structure?
(A)Tree(B) Graph(C) Arrays(D) None of the above

(i) & & PIaT ST R SRWEN STl R 87 (1)
@n W@ foirsfore (@) SWId THI(E) SWIad A ®Ig el

Which of the following data structure is nonlinear data structure?
(A)Array (B) Linked list (C) both of above (D) None of these

(iii)XET A TR B Sifeerdr B 1)
(31) O(n)(@) O(log n)(&) O(n2)(=) O(n log n)

Complexity of Linear Search Algorithm is.
(A) O(n)(B) O(log n)(C) O(n2)(D) O(n log n)

(iv) 771 & & dIFaT & Sifearar Rigrea & 81 grar 87 (1)

(@) I HA@E) T DAE) VNS DA(E) Td DA

Which of the following case does not exists in complexity theory?
(A)Best case(B) Worst case(C) Average case(D) Null case

(V)F & | DT B (STl |8l 87 (1)

(1) int fun (int a, int b)(@) int fun (int, int)(d) FAIIIANE) ST 8T T8

Which of the following function declaration is valid?

(A) int fun (int a, int b)(B) int fun (int, int)(C) Both A and B(D) None of
these

(vi)fre tRHieR uifiTT gfdd H areIfdss IRTHIeR &1 BT farifde
IRMeR # &7 S 87 (1)



(31) Call by reference (d) call by value (&) Call by Text (g) 95 | @13
el
In which parameter passing method the actual parameters are copied to
formal parameter of function?
(A) Call by reference (B) call by value(C) Call by Text(D) None of these

(vii) 98 IoR RWIES TeT <S5y Sl T1eT 9 Hawd &T Tdh AT diedT &,
HEATT 27 1)
(37) Object (9) Class (9) Array (<) Pointer

User defined data type that binds data and function together is called?

(A) Object(B) Class(C) Array(D) Pointer

(viii)aERET AR TR fH FoIrd & AR R B 87 (1)

(31) dfeaT®m(d) USae() Ucdcs(E) I | dis Tl

By default the members of a class are?

(A) Public(B) Private(C) Protected(D) None of these

(i) = & | T SeEw JHviie Rived &1 o™ T8l 287 (1)

(31) ST FEATR B FALRA(E) AT SICT UGHI(H) Bivhic Taad |

TATI(E) STCT Dl GReT
Which of the following is not a goal of database management system?
(A) Managing large information(B) efficient retrieval(C) Preventing

concurrent accesses(D) Safety of data

(x)fF=1 # | BT Th It ST Heoiie Ried @1 UaR 87 (1)
(@7) Oracle(@) IBM(W) Sybase(s) All

Which of the following is a type of commercial database management
system?
(A) Oracle(B) IBM(C) Sybase(D) All

U3 G 2 9§ 8 O Ul ® SR U Ufed H ST —

Q.No.2-8 Answer the following questions in one line:

9. 2. 3R TIeT IR BT PIg [P IQTERY felRay | (1)

Write any one example of nonlinear data structure.

9. 3. TH~d RIT B8IT 27 (1)



What are tokens?
. UFURE RIT Bl 27 (1)

What are Expressions?
. §—<T3H BaeE I B 87 (1)

What are in-line functions?
. 6. FATH BT GRATRT B2 (1)

Define Class?
. PREdER JAARATST b ded &7 (1)

What is constructor overloading?
. SIS, BT QT AW FIT BT 87 (1)

What is the full form of DDL?

Wus d’
Section B
9. TR e gIaT 2 | (1/2)
ATTaY 1S oo, .
R TORC] Rz R A & Y WU T | (1/2)
DML is abbreviationof ............................ :
1. FATH B UfAD HIR BT e I TR fhar S |aadn g 1(1/2)
The public member of the class can be accessible with ................ .
. 12. SQL & I3 IR TURIE Hae foRay | (2)
Write any four aggregate functions of SQL.
. 13. Y& ©RIE ST &7 8al &7 (2)
What is bad database?
. 14. BT H HiaT—a1d YBT DI AHST | (2)
Explain Call by reference in functions.
.15, WfeH HeR HaRM & U7 g8y | (2)
What are the properties of static member function.
Wus '
Section C
.16, WY W 3MY RIT A ©° U [T W DI FHSIST | (3)
What do you mean by Array? Explain 1-Dimensional Array.
J1dT

N

[$)]

~

o

R T Bl 87
What is String?
. 17. UTgde 9 Ufeddd Taad AIfSHRR § 3faR 9a1gy | (3)
Differentiate between private and public access modifier.
Jrrdr

wfedh SeT HeaR & U7 qarsy |
State the characteristics of static data member.



. 18.

. 19.

. 20.

.21,

. 22.

. 23.

BHREICR D U BT FHASLY |
Explain the properties of Constructor.
3frdr
$oRCH ¥ ISl Aie & UWIg &l |HSISY |
Explain the effect of visibility mode on Inheritance.
fhfTheT Td SifoTdal STel safsusdl H 3fdy JdTsy |
Differentiate between Physical and Logical data independency.
3ferdr
BRA—B] RT Bl & 2 fhdl e9al § BRA—F] 59 YR 9T 27
What is a foreign Key? How we can create a foreign key in a table?
s ¢
Section D

faf= geR & U7 ITHSH BT quiF DI |

Explain various types of looping statements.
3ferdr

oYl S8R Bl IS0l Ifed 9SSV |

Explain multiple inheritances with example.

STl IR & STINT §dTsy |

Tell the uses of data structure.

3ferar
PR R a1 AHEY |
Explain the character string.
s g’
Section E

T B! B fha TR F1d d)d 87
How space complexity can be calculated?
AT
T—S[IHTAA WX Bl IQTERVT Higd HASISY |
Explain 2-Dimensional array with example.
3FdT
ISR I RN 99 9 e ) 8° gHSsSU |

Why Binary search is better than Linear Search? Explain.

e HaRd ® HEFdl ¥ 8l aI Fo & Sl HaR Dl WU B 2q

argT TRy |

(3)

)

3)

3)

(4)

(4)

Write a program to swap data member of two classes using friend function.

JFdT
faf = 7R & $RST B ITERYT Afkd dfera § FH=Ey |
Write a short note on different type of inheritance with example.
AT
f = e’ 3ifRex & forg Ricaw qarsy |

1. S 2. VN




Write the syntax for following “set” operators.
1. Intersect 2. Except
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W & MU AT [
GENERAL INSTRUCTIONS TO THE EXAMINEES:

1.

8.

et FAUYA IHUR U UF W HUSAT AATS AfAardd: wry|
Candidates must write his/her Roll Number on the question paper.
gt oo Jrfaard B

All the questions are compulsory.

U U B Seok &1 8 Seok Giecer & & b

Write the answer of each question in the answer sheet only.

S ueat & 3idRe @s §, 30 ¥ & 3R Th @Y & md|

For question having more than one part, the answers to those parts are to be written together in

continuity.

URE Pl S M@ @ G U T shATeh 3T FW |

Write down the serial number of the question before attempting it.

U UF & T @ el FUIGR # BT YR I Je/ e/ ERIUTHTE B W EEr T o uee @t
& e A

If there is any kind of error/ difference/contradiction in the Hindi and English versions of the question
paper, the question of Hindi version should be treated valid.

Tt BT AHIR AR 2|

Weightage of marks for the question is as follows.

Tus—37(A) 1(itox), 2 tol11=20 1 20
Tug—d(B) 12to 19 =8 2 16
wue—H(C) 20t023 =4 4 16
@U@—?{(D) 24t0 25 =2 5 10
wus—4(E) 26t028=3 6 18

U HEAT 20 ¥ 28 A HdRH [HbeU & FFAT Tdh [HheU Dl &l hITST|

Question number 20 to 28 is the internal option. Attempt any one option.




1.

@ us - T
Section-A
a'g:maa—«d’r e

Multiple Choice Questions
(i) 3TARMET FT ST fF AT ST & ?

@1 usH EHY @)

@) Ol @)

Who is known as the father of economics ?

(A) Adam Smith (B)
(C) Robbins (D)
(i) =afSe 3R gAfE Qreel &1 v FIUAHF FFAT IR -

(37) 1930 § @)
@) 1936 § @)

The words micro and macro were first used in -

(A) 1930 (B)
(C) 1936 (D)

(iii) T 6T T TATSTHFA H T F frT FIG oA -
@) gaTHD @)

@) Y @)

The relationship between the quantity demanded and consumer's income is -

(A) Positive (B)
(C) Zero (D)

(iv) ERET a&q 61 SUADTAT &1 Foid Pl STl & -

(31 AT ()
@) BIGERT ©)

Creation of utility of a good is called -
(A) Consumption (B)

(C) Exchange (D)

T

Marshall
Samuelson

1933 F
1939 %

1933
1939

34

EIGCIE]

Infinite
Inverse

Production

Distribution



(v) U mERhdT dTell a9k § -

@)

&)

quT gfatwTar @)

IR R )

One seller market is

(A) Perfect competition (B)

(C) Oligopoly (D)

(vi) GoloTer a3t 7 Frarae B el S ¥ -

(31)

(#)

~

Teih (s)

HAeTeRn T

a

The wear and tear of capital goods is called -

(A)

(€)

(vii)

(31)

#)

Deposits accepted by the bank for a fixed period are called -

(A)

(€)

(viii)

(31)

#)

(A)

Stock (B)

Depreciation (D)

THIRBRICHSD UTaATITaT

TRIEIPR

Monopolistic competition

Monopoly

©) aer

Flow

Investment

dob garr TARad 3am & FT S FAT THPR H A & 3% Fed & -

AT STATT @)

URBTh STHTT @)

Time deposits (B)
Primary deposits (D)
ARG & TH FIT & Al W gE&AeR e &
JUTAFAT @)
Hed AT @)
In India One rupee currency note is signed by -
Prime Minister (B)

Finance Secretary (D)

AT FTATT

ag?l:raramir

Demand deposits

Derivative deposits

e FAT

Finance Minister

Governor



(ix) 3T B HET ggfed AT AR FT FI & -

1) AC @) C
( AY Y
@) a3 <) >
| AY a Y
Formula to find the average propensity of consume is -
A) AC ) C
( AY Y
(@) a3 (D) >
AY Y
(x) ©1C & golc F 3T &
(31) Fel 3T >Fol T (a1) Pl AT < Pl AT
@) P T = P I ) Pl AT =0
Deficit budget means
(A) Total Income > Total Expenditure (B) Total Income < Total Expenditure
(Q) Total Income = Total Expenditure (D) Total Income =0

BT G T HIS Teh SETe0T Il |

Give one example of a Giffin good.

gfed & & e 2
What is meant by supply?
al 9y T 8N qrell a3 & T mEw|

Write the name of two perishable goods.

Thel AT F 3T FIT FASA &2

What do you understand by gross investment?

m@rmﬁaﬁmwaﬁmml

Write the meaning of barter system.

SUMIT Bl Pl AETIT FT F HY g &7

How is the consumption function expressed mathematically?



8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

{oied °1e &l I [FIET]

Write the formula of revenue deficit.

37AeMET fir ATET H A AT 3T T Yo & DaEId Dl CIIT Hd ¢l

In the branch of economics, we study general income and employment theory. 1

3UHT P A Tdfcd (MPC) + Tad @1 HHAT Fgied (MPS) = |

Marginal propensity to consume (MPC) + Marginal propensity to save (MPS) =

AT d mY af a de gar &l

The financial year in India is from to

gus -df

Section-B

AP ERWVUT T UTIIPTh [ERAVUT I G&T F HASTST|

Briefly explain static analysis and dynamic analysis.

CUTRIPR I IRATINT HifST|

Define oligopoly.

gl gfANDTaT aeiR & Teh 36l & HiAd YR &7 @iET g |

Draw a diagram of price determination in an industry in the perfect competition market.

MU AR ACET 3 A 0T H 3 arell & FHAEAW &7 2

According to you what are the two problems in calculating national income?

3 & THIPR YdIE & T Aisel Bl I@ET F &2M5U|

Draw a diagram of the simple model circular flow of income.

maawwzrm%‘.?

What is Demonetization?

IUHT T H T & Pe &l 3237 IdASU|

In your opinion, state any two objectives of the budget.

N | =
+
N |-
1]
=

1+1=2

1+1=2



19.

20.

21.

Weh dolc @ &1 Y 2

What is meant by supplementary budget? 2
gus -8Y
Section - C

gie ERdl a&d T Herd 5 & a1 HAN S arell AET 10 1S § ST HIAT deehT 10 & Sl &

AN S arell AN TR 8 ShTS IE Sl © | TR a1 3requrfcies w1 & FHior & AT s H
IOTAT HIAT |

3gar
ST EREY a&d T BT 10 ¥ A 3HHT AT 2003HT$ ¥ IS oA Tt 8 F S & Ar AT
dEhY 250 SIS B Sl &1 Pl T N HK T HIT & & AT HITIT |

If the price of a commaodity is X 5, then the quantity demanded is 10 units. When the price increases to
% 10, the quantity demanded decreases to 8 units. Calculate the price elasticity of demand by
percentage or proportional method. 4

OR
When the price of a commaodity is X 10, then its demand is 200 units. If the price decreases to X 8, then
the demand increases to 250 units. Find the elasticity of demand by the method of total expenditure.4

e Fae @ ‘B’ 3cUTed B i A arvrEr HifFw:
axg A HAT (H) 05 10 15 20
‘N 3EH GaRT et 07 12 19 28

‘B’ ScUTesh garT gfct - - - -

eI’ gfed 20 30 50 60

372qar
fe= T @ el TRl ST T HrfS:

Scqfed AT (Q) 0 1 2 3

Pl R arer g 20 20 20 20

Pel GRacH ofrarel — - - -

SRS 20 28 34 38

Calculate the supply of ‘Product ‘B’ from the following data: 4
Price of goods () 05 10 15 20
Supply of producer ‘A’ 07 12 19 28

Supply of producer ‘B’

Market Supply 20 30 50 60




OR

Find out the total variable cost from the following table :

Quantity Produced (Q) 0 1 2 3
Total Fixed Cost 20 20 20 20
Total Variable Cost _ _ _ _
Total Cost 20 28 34 38

22. 3T ITER Hal & Ehetl TR BT Bl qu HITAT|
3rar
3Uh IFTER TG ol & BI$ IR HHAT s HIfT|

According to you, describe any four functions of Money.
OR

According to you, explain any four limitations of credit creation.
23. R A F WET & TEIar § GHBY|
Jaar
goit &1 HATT PREIDRACAT D IWES HI FerIdl & AT
Explain induced investment with the help of a diagram.

OR

Explain the marginal efficiency of capital with the help of a diagram.

gusg - 3y

Section-D
24.mﬁw3ﬂ9m%?masy§wmwmﬁwwzﬁﬁm

31qar

UHRIRIPRICHD UTaNDTET F T 3T 2 SN dlg IR HAVATT JdTsy|

What does the market mean? Classify the market by region.
OR

What is meant by monopolistic competition? Explain any four characteristics of it.

1x4 =4

2+2=4

1+4=5

25. QI I0TAT AT T2 ACET 31T & A N Aed Ha9aT HR A 3erevr wied carear fifaw|

372reT
MEF FeAToT F FAT JBIUTT §2 AT 31T T 3MEF hodIoT J T Ja9 & ?



26.

27.

What is double counting? Discuss the value added method of measurement of National income with
an example. 1+4=5

OR

What does economic welfare mean? What is the relationship between national income and economic
welfare?

qus- §
Section - E
AT # grg BN QI GEIIHT TAT TUTAGeeT GEIHT AN AT W GHTT Dl W Hr Ferdal §
THSST|
ERC)

HIT B AT Y Fheel dieT AW B FWIEET H Jeradr & GHASTSU|
37q@r
HT Th &b Gliea! 3R TT AT IR DGHh &l IQIEET HT Te—dT § AU

Explain the effect of increase in price on the demand of complementary goods and substitute goods
with the help of diagrams. 3+3=6

OR
Explain any the three types of elasticity of demand with the help of diagrams.
OR

Explain the shift of the demand curve to the right and left and with the help of diagrams.

ISR Qfcl &1 IaUROm B I@EET B FEIar § JAABC
312

3rad scuTe Ta AT Sed T et I@mEAT & e d hia|
312

Ererprela 3 T va Ereidrele AT FPTT HY AT JW@ET B JEddr § Hifav|

Explain the concept of market supply with the help of diagrams. 3+3=6
OR
Discuss average production and marginal production with the help of diagrams.

OR



Discuss the long-run average cost and long-run marginal cost with the help of diagram.

28. herg dF F Ee) T PrAf F EXAR ¥ guig HST|
372rar
AR Rod deh dr Afee AT & el i Je@ Uil & EFIR & auid Hifae|

31gar

T ETHT GuTell & Eheel el HISASA BT FFAR & quie HfT|

Describe in detail any three functions of the central bank. 3x2=6
OR

Describe in detail any three principal tools of monetary policy of Reserve Bank of India.
OR

Describe in detail any three difficulties of the barter system.
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(@vs 3)
SECTION-A
q1 9 _RY T4 TgTIIHE FF & FIY Y Gleawr 7 fenfav—

Write the the answers to the given multiple choice questions in the answer book.

() RA BT aRA®T DI BT ST & —

(®) srae (@) w2

() P (&) Wt
The Legislature of India is known as
(A) DIET (B) PARLIAMENT

(C) CONGRESS (D) Mazlies

(i) 9RT & AAY BT DT M IRISAT URYE BT YTGET Bl & —

(@) 265 () 263
() 368 (=) 200
Which Article of the Constitution of India make Provision of Inter-State Council -
(A) 265 (B) 263
(C) 368 (D) 200
(i) dae H g fdEge FaugH fbe de= H UK il o7
(@) faemTen (@) fer aRug
(1) TR (&) ArHaT
In which house is the Money Bill first introduced in Parliament -
(A) LEGISLATIVE ASSEMBLY (B) Legislative Council
(C) RAJYA SABHA (D) LOK SABHA
(iv) ef=Tqet gsTRa T wramet 3—
(@) Sisl iR SiH &7 (@) AT A1 FEY B |
(1) |9 & | A e (&) 37U R §G T |
The Meaning of Peaceful Co-existence is -
(A) Live and Let Live (B) Struggle together
(C) Combine boundaries with everyone (D) Keep your Existence

(v) Fgad I HE B GRe uRYg o WIS TSl B G&AT 5
(®) 5 @) 7
@ 11 ®=) 3
The number of permanent members of the Security Council of United Nations Organization -
(A) 5 (B) 7

()11 (D)3
(vi) T fdamRes =1 SIS WBAT BT B & U IR &8l & —
(@) Sfas A (@) mvE
() gRra o (&) g
Which thinker said Political Culture as "Orientations towards work"-
(A) David Easton (B) Almond

(C) Lucian Pye (D) Simon



(vii) & A & fA9hl R HEH T BT SMABR B

(@) TG TRER [@) B TWIR
IR () S ey 1
Who makes laws on the Items of Union List -
(A) State Government (B) Central Government
(C) Panchayat (D High Court
(viii) TaTRUTHS =TT BT AR & UlauTed 28—
(@) wier (@) oy
(1) g™ (@) St e 1
Who Is the Exponent of distributive theory of justice -
(A) Plato (B) Aristotle
(C) Aquinas (D) John Rawls
(ix) faerg TSl & qATaRoT WReE 2 dferar @ g fhd Ma H gs—
(@) STerTig (@) =R
(1) TWoree! (@) SR 1

In which village did the incident of the sacrifice of the Bishnoi Society for the protection of
environment take place -

(A) JALGAON (B) BASSI

(C) KHEJADALI (D) JALORE
(x) SATPATIPG AR BT~ Y-’ & 7 —
(@) TSI FEATRIAT (@) oD Ao
(1) XTSI ¥l (GRS RINE R CHIGIE 1

" Life -Element" of Democratic System is -

(A) Political Participation (B) Political Elites

(C) Political Culture (D) Political Behaviourism

T¥F T 02 W 08 AF & T VB GIIT H </
Write the answers of the Questions 2 to 8 in one line.

. 2 3w T F TG S R 7 7 1
What is the main objective of ‘Economic Justice’ ?

g. 3 faemedt &1 o e Faoiiexer fd wverr & g8rdr g 2 1
In which institution does the political socialization of a student take place?

¥. 4 SFEAR @& A9 ARIH 9arsy | 1

Describe the three Modes of Mass Communication.

9. 5 oI IS &7 ofdd &1 fasm o4 g A & ? 1

Which scholar believes that the science of political science is the science of Power?

9. 6 T 99 3ffth TaHT GKID (B oRgd Bl © ? 1

" The web of Government " book is written by which Author ?

Y. 7 YRAY Gfaem_ & fHior § fa=r 9939 o ? 1

How long did it take to prepare the Indian Constitution?

. 8 e # 59 HeMes & 919 FHRT & SIDHR BT Alferd AEBR B gl A
gl AT 7 1




After which amendment in the constitution has the right to property has been
removed from the list of fundamental rights?

o7 G&gT 09 W 11 G @ 79 T RFT w7 &7 Sv gleasr 7 1/

Write the answer of the Questions 9 to 11 Fill in the blanks in the given answer book.

T, 9 Ul 5T § oo TG FAMIT BNl 2 |

Members are nominated by the The President in Rajya Sabha.

. 10 RIS AT BT TEITAT o H Rera B

The headquarter of the International Court of Justice is located at ----------------- .

(@vs 9)

SECTION-B
Y. 12 Ifdd Td 9979 § QT 3fa” §dsy |

State two differences in power and influence.
9. 13 §HMAI & DIg QT SMERYT I qasy ?
State any two fundamental elements of equality.
U. 14 OIS FATSIERET & A & ®9 H IRAR @ fH6T & R H 918y |
Describe the role of family as a means of political socialization.
. 15 MRA & faqer N # THFRUeAr &7 U= & &1 SRl 9d1v | 2
Give two reasons for Adopting Non-Alignment in India Foreign Policy.

U. 16 XTSI STURTENHRYT BT 3 gdersy ?

Explain the meaning of Political Criminalization ?

. 17 "AThdaATHD TORST F T AU © 2

What does the Democratic Republic mean?

U. 18 Udhel ARl T & ?

What is single citizenship?
. 19 ISIId SR ®I 98 & foly HIg IT geia iy |

Give any two suggestions to increase the Political Participation.



(@vs w)

SECTION-C

Y. 20 @Al & sl IR YBR BT fada=T Iy | 4
Describe any four types of Liberty.
AT

OR
IR P ~ATY Heell fa=R o1 fad=mr Iy |

Describe Aristotle's idea of justice.

9. 21 Ioad epid & MuRe d@i o aa $IT (@18 @R) | 4
Describe the determinants of Political Culture (any four).
3T
OR
RISTHIfIS FHSITERT & AR & w9 #7413 fadaem S |

(i) AToTIfd gt (i) T3reTor ey

Discuss the following as tools of Political Socialization.
(i) Political Parties (ii) Educational Institutions

g, 22 ‘SIfIATE dldbad & favg &1 39 $U9 & IMYUR WX (MY SAfddie & IR
THRIHD JATdT Bl fdde@T BT | [1x4=4]

‘Casteism is against Democracy’. Explain four negative effects of Casteism on the basis of
this statement.

HAAT
OR

"AFYSIRIGAT ®Hael BAR <9 & forg 1 781 s1fig wvgel Aeaan

& oY Usp ARy 217 39 §R R 8 IR SUF Gy |

“Communalism is a curse not only for our country alone but also for the entire
humanity.” Suggest four measures to remove it.

U. 23 3 FAAJIR TS Bl S & TR ATl BT Iecid HIToTT | [1x4=4]
Describe any four benefits of ‘Coalition politics according to your views.

S
OR

JATAHATG! ST & RS HSAT HaANSl B Blg IR GUHE IAT8Y |

Write any four Repercussions of Over Reporting of Terrorist Activity by media.



(@vs T)

SECTION-D
. 24 QAR SIRTRedhdT Gl Agayqul ot o1 gHferd - dlferdT a8y — 5
(a) faeg qufaRoT feas (1) 28 etrg
(b) gedl faqw (2) 22 5
(c) fawa smare= feaw (3) 22 3T
(d) a9 #EIIq (4) 5 S
(e) fawa 9Tt fea<d (5) 16 RrawR
Match the important days related to 'Environment Awareness'
(a) World Environment day (1) 28 July
(b) Earth Day (2) 22 March
(c) World Ozone Day (3) 22 April
(d) Forest Festival (4) 5 June
(e) World Water Day (5) 16 September
AT
OR

A4 8= T4l & IS & TRI HRDI DI ATleTel g18Y |
Draw a table of major factors of Green House Gases Emission.

Y. 25 WRAIY GiAer o1 W gd Uhredd [Vl & Jericded diferel g | 5

Make a comparative table of Federal and Unitary features of Indian Constitution.

S
OR

VRO GfIE &Y IRATaET BT TS, S¢3d 3R AaRTeH S 91T &Y diferdT 99180 |

Make a table of Declarative, Objective and Descriptive Part of the Preamble of the Indian

Constitution.

(Tvs 3)

SECTION-E

. 26 HIfd SMANT B TS UG ST Pl fddaT BT |

Explain the composition and aims of National Institution for Transforming India (NITI).

AT
OR

[3+3=6]

TR & Ged d anfefe iR amifoie =g R fewoft HIvr |

Comment on Economic and social Justice in reference of India.

AT
OR

FREe T 27 ST addr 9 30T W ARy SIfery |

What is Planning? Eloborate its needs and Objectives.



g. 27 9 & 9 St a1 fAdeEr ST | [3+3=6]
(i)fem= = (iiypraurfereT wR =T
Explain the following functions of the Parliament:
(i) Amendment of Constitution
(ii) Control over executive
AT
OR
died <RI & ATBRI Td AT DI AT HIFTT |
Explain the Rights and Powers of the Supreme Court.
AT

OR
ard | =1 FHIIar o1 312} IR g 91y |

Write down the meaning and Importance of Judicial Activism in India.

Y. 28 MRA B f4qer A B U@ fIRIvamsil H1 auiF I | 6

Describe the salient features of the foreign policy of India.

3T
OR
IS I [ D] W] & I I G IAD! g™ JARTHAT IR YD SIfery |
Highlight the main purpose and current relevance of the establishment of the United
Nations Organization.

Jrerdr
OR
GG M DI HSTAAT BT HITSH, AT Td B qarsd?

Write down the Organisation]Powers and fuctions of general assembly
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ST I3
I "D
Hepd ey
q9Y: 3Y4 °US qUlies 80
wenfohg: 9=y ﬁé’%’ﬂ:
1 g Fdve @uTu=aAaR AMid ifarid: oRel: |
2 qd g et |
3 TAHR JeARIRR STRYRTDBRIHG S |
4 JAHE JTAANRY IR HAMARISH AT ofRadedH |
5. G SABHRIOT FFFTTARIOT Hiw:
[ERS EESIC I REd] 3 YD | el b WR
RS
gus—3i(A) 1(isx) 2311 =20 1 20
Tus—4(B) 12919 =38 2 16
wue—(C) 20 923 =4 4 16
wue—g(D) 24 425 =2 5 10
wugs—(E) 26 9 28 = 3 6 18




Ue 01 SENfaREd Je STRE SRId HER W StRyRaarn forag —
() & AeTadg arR A USRIl B ?

(31) =T (am) TEn

(8) Rraxml ) i
() gSaret: HRATRT: HWIT ?

(31) S SRR

(8) e (%) 3 T

(1) #N ASHITASIal HEMRAR HRAT gdfor ka2
(31) = Tafor (3m) a1 udfor

(3) @ gdfor () farTe wafor
(&) TTDR: STl &: GaIfT 2

(a7) A= (am) er:

®) = (®) Bx

(§) facho qemef Afre fRarerrgemt ufaeadt —
) REAENIRERECR] (am) grfder faa
(3) =rnfdwfody feaw ) fawfody feaxy

(=) ATERY IMSISIAT A 2

(31) gHAT: (a1) guaa:
(3) faspm: () wor
(B) Usrad—= fEgar aqd ?
(&) qoTHE: (am) Toe
() fawy oA () AR ufvsd:

(ST) wiREeT #erad fb o ?
(1) Yo AU (3m) SFATHAT]
() enfa—aves ) fau=eroi

(31) “dowfaa: well T gfefa ?
(31) JeemH (3m) =ToTER
(8) 7aet fbaRor () droTHEA

(37) ueT: fpad drel wA=THq emiua: M ?
(37) U AT W (M) b 9Y U
@) Prm wiq (€) vsHN Wiy

(10x1=10)



TS 25 UT G 2 O 5 YA \ifhd YR SR YRAIAY FHedl U@ Uqdi Sk usd

g —2 §a: TR} FHEd | 1
Teq —3 ARTIRI F: YRR | 1
T —4 5 (AT aATAq | 1
U —5 HIan Fa3 a5 B | 1
U 6 O 8 YA SrENfoiiad RNy U AADRE AHIeerd Foodd —

ged —6 BA BT | T BifT: WIRTHTEA | 1
U —7 I I IR IRVY: | 1
g —8 WUR Iy 9eRy g Iqach | 1
Ue 9 o 11 W Read W RA¥ET W StRyRaeri SR forad —

e —9 WA T T oo 1
e —10 ANTRET: B BHMOT .o gASTOT: | 1
I —11 FARYOT TG | oo 2 dUFeeR: | 1
frr=rferfaa geamT Hepa wer] SR foreq —

ge —12 g% Iy AeRy b A Rk ? 2
geq —13 SI. BRRM AR HIIAT [AABRITAl: D JREBNIT JIo¥hd: ? 2
Ued —14 JERIERTH Sfd ACsd Bl ey fa9ad ik ? 2
ged —15 Sf. AR AT HIhx: GUSIRI fUg: &: A 3R ? 2
ged —16 “HISl AfGR” ST ST gH G 37ede Us & GRAaH ? 2

ge —17 YSIHME: U qadr: 9 9 YIS | 3 WRia sid fhamn &l & eika 2 2

geq —18 JAMIRIT IATHI g Afearq dxe 3 == dwpd a1 forad —
et i R re A a=aT JERaReT I | 2
A R 2 R QRIVHRTeN | g fasiardaredr geger gaoaer | |
JATE—GH—AT, 3T Uy eMMforT |
g —19 IFENfIRITH BRI Uhd ITibRE F&vNerexvl forgd — 2
TG / FOHT

U3 —20 3feNfeiRad Terme uyfdedr Y= SRifor forad — 4
I gAY o= ediuRITe: geard avigHd: dlid dTotm™: faetdr -4
i FTeRrST g gafon qw weeraRel Sl | g T aRrew

BT g el SeH AT I S W GEIE YF UTKiesdT Bl




GeIEoRI A A B O UGd: Afa=an Jarn FrRfTar |

G
[N _ [N

(&) g SO ygigue ere ferr fored ?
SIDC|

referRad Tenel ufSar U SRl forad | 4

YATgeT TG Wafwd HISTRGUQeI=e | 3uiaad f2 7Ry whichHunfda weifaxmawar faef
AR | [eaaToaerdid Aieielfdd Hgguoafc HaviRerd YR | v g Rl
39 EMRIMAFTRIMRIG I HIRGISTTIN | ERAHITTHSHRMAT QTSI TaIYHAATRITHY
39 | RIS UeHegad: URUM 39 ufelawyul RRISTSIam el gar oYY dad JRUFIM |

() SUGERUN: G FEd Ffder ? (Yiarre IR <1Fdm) 1
() ‘MR HGUIRd Twded fb IueTafa ? 1
(¥1) '9aTgEN g WA AISTHTGUQeTER §c03 YaIgell S W &R dd Ugh:

el T IUSIERY: R ? 2
e —21 3rEliferRad genel ufd@r geam=m Saxifor fored — 4

AN % HHIOT HIT Fed] G701 |
o~ aN -
RiqeaRigedl: FER W9 T Sed | |

(1) ANTRRY: HH BAIOT I b fehamaes ?

(@) TRersa’ 3 uewy uataraus sardq formar forad |

AT

ST %7 Ya-fdfad gpracia ],
SR @ URfa—g%Y wHAwd HE: |

TN AIET GRARAO R ALTHH | |
() JETTARYT WET: B R I AT 2 1
(@) TEYIAISEH 3F R a & AU ? 1

(¥7) ITeeT HrET RARAY AR deIdM | 3 gRedrad R | 2



e —22 JEfoilRad erafed ey ufear SR foraa — 4

JRA FER fgfdam SFr gwawi | dud Arared: JIuR JwurRiEidn | wrgdrfa:
PHUAT I Bedfa Fad 7 g fqer 7 = dreovq i | IR fHA0 w7 wifd, $vavesn
AT AT |l | JRurRRnfeM: gaf<d Iq SHk: Jwued Ud Hafd | sRieyaRT=l gEd
3MGH ST U G A | ORI BRI SN 3R G 9 T |

(@) 9 Hafd Fad 9 g 9= 7 9 dewq 34 & i ? (TEHued STR)
(@) riicyaTAT YR MM e A1E=H by ? (quiarerie STk SRidTH)

() fgfaem: ST s faRvoi faRrsr—ug foe ?

(&) geurienfor: f& aafd ?

SRl

A Sigq fFatera o U sroiifdel T€g e | T YSIus ™ §Y:;, drioreaw,
SINARITEY BRI A | IReg F |al Sl Ahedrd dchd 3ad |l | 3fd: dbaraiy
e A g | e Siad faqafd | Sia s apear Seeamfl | Ud 31q |

AR FhHUTT HeRIHY 31aed gul 9afd |

ON N o

geq —23 3IrelifeiRgad ufddq e ufdwr M

N - ON O\
GRITFHIN URATATHTARINVT Teldd — 4

I IAHTH ART QI AR | 3T WA AMd: ol IR | T FEeaTq 3R A
YRaH 3fd | o SRl QR f2drera: uda: sfeoren @ fReHenR: i | 313 T J91
Y IR Uad: <ae: Jagi~d ATl Sleld WRd 4 IR el IRd 33 JRURIAT 4H:
AR | fAfIrarar] ydhar wRAR ARy SR | s Irgeaal: BHauierd: | Afgd ararig—
“HRHG SIA AN ey 8 RiE 2 | i ISgHIST 9 SR ISR JEIERT |

(@) IR a9 SR G & uda: oika ? (Tdpues STR)
(@) IRTR BT fIRdT IR ? (YUlarRe IR <A

() “<aTer ydsiT s 6 dqued ?

(&) “mafa SfA U |AMRIG USH Irgeoeld @ foraq ?

L UL UL U I

AT

HE[HId: BICTEE: ARhd IQAIR 9 Bfd ARG | F: A AeHi faRadar| oY
ARG Ie 31 URigH Tedhd AR | IIRAT ATcdh T AdBl: AT | Ty 31U =gy 3ia:
fARreHAERIE | IRAT AWy SAfeR] HfaAT BiUTH— “HIAY Aeh IR T IRT Ad=<Iell |

ST AIChHY A1 g~ ATRT = NEASISIN
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) A ATeTIed BicT 3fbT A~ ? (ThUad INR)
) AR Mg ARG & ? (qUiarRe IR S-IdT)

q

_ A A

() "o Bfa: oI faerueay fwd ?
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U —24 INfIRad B=<d: dAefunaraxvl fored — 5
(@) T=as
3rerar
AT~ 3
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SRl
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Jeq —27 USIeRT] UANT dde UhH AJeoa fored —

ARG, SHUTITRI, ST A HTaT,
AGTARYATATH, JUieIaRell, MMSTHAIRRI, HHATG:
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AT

SRR T FYRIThATTAR forad —

GE)

) T Bre=R 2ere: 31U SRR T3 SuNT=ed |
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(i) AP ® Tl AR Je&T B |
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HISTORY

H9L: 3% TS quIies 80

wNenfefay & forw wm= fAdy —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Temeft FduE U9 U U WX AMie ifarid: forg |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 1 e B Afard 2 |

All the questions are compulsory.
3. UI® U BT SR QI T3 IR gRABT H B ford |
Write the answer to each question in the given answer book only.
4. TS el H <IR® WUS & I F9 & IR U A & ford |
For questions having more than one part the answers to those parts are to be written
together in continuity.
5. U UF & fadl OR 3fIon wumRer # fdl UeR & e /R / faRemi g9 w2
AT & U DI Fel A |
If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.
6. U BT IR fol@ I Jd U BT HHAID Jaey ford |
Write down the serial number of the question before attempting it.
6. U¥Hl BT JHIR TR 2 |
Weightage of marks for the question is as follows.

U U Dl FE 3ih Bl b IR
T
g3
wue—3i(A) 1(ito x ), 2 to11=20 1 20
wug—4(B) 12t019 =8 2 16
Tus—H(C) 20to 23 =4 4 16
@W@—?{(D) 24t0 25 =2 5 10
wue—3(E) 261028 =3 6 18

7. % HEAT — 24 9 25 & fIQ U9 U @ W Wl AM fAE U@ aR S sifed wR SwR gRadr & 1 Her o |



gfers
(@vs 3)
1- @7 77 gglamed] 597l (i W x a&) & TO¥ GO gieasr 4 ford —

Write the answers to the given multiple choice questions in the answer book.

(i) ITERT BT ISTHAR BT HET Srar § 2

(37) gamanT (@) i @) wE (]) WA

Who is called the Prince of travelers ?
(A) Heiun-Tsang (B) Etsing (C) Fa-hein (D) Megasthenes.
(i) R |t |wIar § faRrret MaTST 7 S/aRy v H W dEl | Ut gar ? 1

@) el (@) dIEaRT  (|) el (]) TR

From which of the following was the remains of the huge dockyard was found in the Indus Valley civilization

(A) Lothal (B) Dholavira (C) Banavali (D) Rangpur

(iii) YTOTARATON & o T § ¥ BT g ? 1
@) e (@) aroMg (9) door  (]) arhRuld

Which of the following is the author of Rajtarangeni?

(A) Vishnu Gupta (B) Banabhatta (C) Kalhan (D) Vakapati

(v) /1 # 9 @9 gvaRa” g)ae & fREar o ?

(o) aorrE (@) wifeed (@) Y (<) wEIw

Who among the following was the author of the “Harshacharita” book?
(A) Banabhatta (B) Kotilya (C) Harsha (D) Padmagupta
(v) ‘d&I BT IR e Fall’ & 9R1 4 # 9 foaq fear ? 1
(@) @ faddr=< (@) ST IR I (1) W e (]) Sads 9|

Who among the following gave the slogan 'Back to the Vedas' ?
(A) Swami Vivekananda (B) Raja Ram Mohan Ray (C) Swami Dayanand (D) Keshav Chandra Sen

(vi) GHTY T §IF BT o9 7 § F fbe I 0R garm o ? 1
(@) ®cd (@) THRI (W) Dol () FAEAgR

Subhash Chand Bose was born in which of the following places?
(A) Cuttack (B) Tankara (C) Calcutta (D) Midnapore



(vi) ST BT fa9ToI fove 99 gar o ? 1
(1) 1900 %. @) 1905 3. (A) 1906 5. (3) 1915 S.
In which year Bengal was partitioned?
(A) 1900 AD  (B)1905AD  (C) 1906 AD (D) 1915 AD

(viii) TRTST BT Yo I§ fhd a9 ol a7 ? 1
@) 11913. (@) 1091 3. (A) 1192 8. () 1092 &.

In which year was the first battle of Tarain fought?
(A) 1191 AD (B)1091AD (C)1192AD (D) 1092 AD

(ix) 1 & | e SrfSfem gRT ur=il | |9 9 Ay fhar war ? 1
(31) 1909 BT SIATIH (9) 1919 BT IMATIH (H) 1935 BT ARTIH (]) 1947 BT MATIH

By which of the following act, the rule of Dyarchy was implemented in the provinces?
(A) Act of 1909 (B) Act of 1919 (C) Act of 1935 (D) Act of 1947
(x) XTSI H 1857 H Tad=d1 FU™ &I U™ /=1 § | %2l | garm ? 1
(&) TRRTETE (@) A (W) WAEYRT (<) At

Where did the freedom struggle begin in 1857 in Rajasthan?
(A) Nasirabad (B) Nimach (C) Shahpura (D) Auva

U 2 I w9 9 fd yeilRa § Iqaa @ f[aol &1 Seoi fefar & 2 1
Q. 2 In which Prashasti are the victories of Samudra Gupta mainly mentioned?
9. 3 AP H D 2g gaud sl Bl FHi b 2mae & it H g ? 1

Q. 3 During the reign of which ruler Sudarshan lake was built for the welfare of people in the Mauryan period?

9. 4 FHT A BErA H T AEE B FHI H AR AT AT ? 1

Q. 4 The Chinese traveler Fa-hein came to India during which Gupta ruler?

9. 5 HERIVN UdT9 &1 51 fd g H garm o1 ? 1

Q. 5 In which fort was Maharana Pratap born?
U. 6 AR I HIU & T 7ehe] diF of ? 1

Q. 6 Who was the first President of Indian National Congress?

9. 7 WRIY ¥ BT FaULH TN b AT GoRe o fobar o ? 1
Q.7 Which social reformer used the word 'Swarajya' for the frist time?

U. 8 ‘Bl AT W' BT AR fbd 3f<ra= & <R fear Tar o ? 1

Q. 8 During which movement the slogan 'Do or Die' was given ?



1 vt § Raa e @t it ax et ST gRaaer & fofed —

Fill in the blank in the following questions and write in your answer book--

o9 e DI Yo YRATT AT FITH YRS g3l | 1
Q9. The first Indian freedom struggle started on the .................. .
9. 10 faora fE Ui &1 ol T e o7 | 1

Q.10 Vijay Singh Pathik's original name was ........... .
1S R S AT & AU o | 1

Q.11 ... was the founder of Braham Samaj.

gus (9)
U T 12 § 19 TS U 2 3T FT 5|
9. 12 99 ¥ oA 9 Vfaeiie g aiftfas Ea afe aed @ wg | f 719 € °? 2
Q.12 Which historical and literary sources are also valid in the form of judicial evidence at present?
9. 13 A0 & IR & g fawy 9% ®1 7 ? 2
Q. 13 What is the main theme of Chanakya's Arthashastra?
U. 14 g9 & GlauTed 8 MTh & ATG8ING IRl Bl forfay | 2
Q. 14 Write Ashoka's practical measures for rendering Dhamma.
9. 15 Ifa A9 @rar g H RO G & WIE R B A fb Ffeal F = &1 yay R ? 2
Q. 15 If you were in place of Rana Sanga in the Khanwa war, what errors would you have tried to avoid?
9. 16 XTSI XMHAET X1G $ HMffd GERT & YT BT Hierd o S | 2
Q. 16 Briefly describe the efforts of Raja Ram Mohan Roy for religious reforms.
9. 17 A W P gad oM ¥ e fd UaR gar ? 2
Q. 17 How did the Matsya Union merge in Greater Rajasthan?

U. 18 31T HY P8 Hhd 2 fb Vo= ¥ 1857 So & Wad—=ar 9™ & afe <9 Rargar
P IMADG] BT FEART Brar A aRvmH <1 grar | 2

Q18. How can you say that if there was cooperation of the rulers of the princely states in the

1857 AD freedom struggle in Rajasthan, the result would have been different.

9. 19 AT 37U favg &1 gAY W9 N QAR g [IW] eaqol =1 @1 & Al A DIF—bA 4
Rl BT GHIT B ? 2

Q.19 If you want to see the second longest wall in the world and the Vishnu flag, then which places

will you visit?



gve (3)

o G 20 & 23 TF F¥I P GV T 60 Ik H Gforg —
Answer questions 20 to 23 in about 60 words.

. 20 R IR 9RIaT & TR PRI @7 39 fJeydmell &1 Seokd BT S Weedl &
@ forg amet N uifie 2| 4
3rerar
R HTA ARIAT & i Sfiad &) SUATIE! &7 ool HITY S et Y yafera © ?

Q. 20 Mention the characteristics of the city planning of the Indus Saraswati civilization that are still relevant for
cleanliness.

Or
Mention the achievements of the religious life of the Indus-era civilization which are still prevalent.

U. 21 TR & fgdld g H YRS D8 & RIS & Y9 HRUN DI Seeld DITOTY | 4

3rerar
"JeRTST XAl & ATAR SIS AR YeARS & #ed Foy & BRI BT Seold HIfo |

Q. 21 Mention the main reasons for the defeat of Prithviraj Chauhan in the Second Battle of Tarain.

Or
According to "Prithviraj Raso" explain the conflict reasons between Jaichand and Prithviraj.
9. 22 3G T Wol A wifaen Tiafafel | fea yeRr anme fear ?
34T
Mias TH F Al & FEId g [fde I H {$9 JeR Arrer & ? See SR |

Q.22 How did Arjun Lal Sethi contribute to revolutionary activities?

Or

How did Govind Guru contribute to the social and moral upliftment of Bhils ? Mention.

. 23 1857 @I il & J&A URUITH Bl WS B | 5
3ferdr

IRAR AP gRT €T alel SRIAT BT [IRIT 1857 BT HIFT BT dAlhlfold HRUT AT | WL B |
Q.23 Explain the main results of the revolt of 1857.

Or
The Resistance of fat cartridges by the Indian soldiers was the immediate cause of the 1857 revolution.

Explain.



s (3)

Y. 24 MRT & AERE § fAEfaRad UfasRie el &1 sifdbd Iy |

1. oAbl 2. WS 3. AMND 4. fdoell 5. GAT

AT

1. El"%r&; 2. HglH 3. XA 4. IHAAY 5. oY1
Q. 24 Mark the following historical places in the map of India.
1. Calcutta 2. Meerut 3. Nashik 4. Delhi 5. Poona
Or

1. Bombay 2. Madras 3. Surat 4. Amritsar 5. Lucknow

Y. 25 9Rd & AAE § FEfaRaa UfdsiRie werell &1 sifhd Fifviu |

1. BIGHET 2. BICT 3. SIEYR 4. BFEYR 5. Sl
fereT

1. ARIA 2. SAYR 3. §&l 4. RSPR 5. Il

Q. 25 Mark the following historical places in the map of India.

1. Kalibanga 2. Kota 3. Jodhpur 4. Kanpur 5. Jhansi
Or

1. Lothal 2. Jaipur 3. Bundi 4. Barrackpur 5. Bareilly

oS (3)

9T G 26 @ 28 TF F¥I B GV TTHT 150 TG & oy -—
Answer questions 26 to 28 in about 150 words.

. 26 WP Hell, Ao Td A5 & &= § g S~Id BT quF BIfOT |
3reraT
TATADBTCAT URTHA DT FUI B |

AT

AABTAT Bl T AT B fa==T BT |

Q. 26 Describe the progress made in the field of art, literature and science during the Gupta period.
Or

Describe the administration of Cholas period.
Or

Discuss the art and literature during the Cholas period.



9. 27 U YRAR 38N @1 SMeRI 8] dlg At 9 99 A1t &l ool DIFIY |
arerar

SN @ SId & w9 H qedierdl & Aed oIy |
arerar

SN & STMeRI H QRIAMd S 6T e fo1kay |

Q. 27 For the information of ancient Indian history, mention Buddhist literature and Jain literature.
Or

Write the importance of vanashvali as a source of history.
Or

Write the importance of archaeological sources for the information of history.
Y. 28 XTSI XMHHAIE XA & AMISTD GERT BT goiF BT |
3TJdr
W ST Qd 3R FATST & BT Bl o BIfTY |
3T
IRATT FEa==Idl AT ¥ 3fele 88 Bisl & AR &l 9o HIFTY |

Q. 28 Describe the social reforms of Raja Ram Mohan Roy.
Or

Describe the works of Swami Dayanand and Arya Samaj.
Or

Describe the contribution of Azad Hind Fauj in the Indian freedom struggle.
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GEOGRAPHY

H9G: 3Y4 TS QUi 56
Wenfeia & forw M= fAady —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. TRIETST Y 3199 U3 UF WR A Afardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge R eifvard 7|

All the questions are compulasory.
3. URP U BT IR &l g IR JRAHT 4§ &1 ford |
Write the answer to each question in the given answer book only.
4. 9 U=l H e @re 8 39 91 & IR Ud A & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
5 U UF & 2l UR UG WURT H bl bR &1 FJfe /R /R 89 iR B
YT & U2 &I Fal 714 |
If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.
6. U BT SR foRa= ¥ gd U &I HAID AaeT ford |
Write down the serial number of the question before attempting it.

7. UeHl BT IR TR 7 |

Weightage of marks for the question is as follows.

D | TAD

q@r | g
Tug—31(A) 1(itox), 2toll 20 1 20
Tug—d(B) 12 to 15 4 2 8
wus—4(C) 16 to 19 4 3 12
wgue—a(D) 20 to 21 2 4 8
wus—(E) 22 to 23 2 4 8

7. U ISP 20 ¥ 21 AR $R ¥ G9Rd & 3R UAS 4 3P & 2|

Question No. 20-21 are related to map-work carrying 4 marks each.

8. fava, WRA Td WG & SUAKT FHRIY Y NG AR B STRYGRADT S AT Tt I |

Attach the given outline maps of World, India and Rajasthan with the answer-book.




yus 3
Section A

1. for=1 forRaa uei @ SR folRay —

Write the answer of following multiple choice questions in the given answer book.

(i)

(i)

(iii)

(iv)

(vi)

(vii)

aarg @Y +iq feas & ?
@) ewa @) Tad 99d GEESIE (]) Pl AR 1

Who laid the foundation of Possiblism?
(A) Ratzel (B) Ellen Semple (C) Blache (D) Karl Sauer

AR H 10 G ¥ 3AfeH TG dred TRl B RT Hgd © ?
(@) TR @ R @) R () 980 TR 1

Cities with population more the 10 lakh in India are called.....
(A)Town (B) Metropolitan (C) Sannagar (Conurbation) (D) Large city

TRBH N B S § b doferal &1 e Jew & ?
(a1) Wer R (3) g3 WeRET (@) W—dfd (3) B e 1

Which fish has great importance in the life of Eskimos ?
(A)Seal Fishes (B) Whale Fishes (C) Sea Lion (D) Small Fishes

fawg &1 yr=aH SeH PiEEr § ?
(e7) T (3) T T WUV (}) AN UbS (3) TLART 1

Which is the oldest economic activity of the world?
(A)Mining (B) Hunting & Food gathering (C) Fishing (D) Pastoralism

| 2011 B SIIOMAT & ITAR ARA &1 A a6 geq faen € ?
(31) 204 @) 321 (|) 382 ) 390 1

According to the 2011 Census, the average population density in India is....
(A)294 (B) 321 (C) 382 (D) 390

M= BTS9 T91T Bl BH DA D TSI § ?
(@1) STrareq $o9 &1 F9 ST @) RS gerRer
() TARITART BTE D TANT R Ad () Sugad T 1

What is the solution to reduce the Green House Effect?
(A)Reduced use of fossil fuels (B) Planting more trees
(C) Pronhibition on the use of chlorofluorocarbons (D) All of the above

Al a6 ST B IS FE TR B dEd B ?
(@1) g3 @ eFR @) [oRE (]) PrAER 1



Which city is called the Capital of cotton textile industry?
(A) Mumbai (B) Kanpur (C) Gujarat (D) Coimbatore

(viii) ¥RT # A FT G TST STRSD T9T BRI § 2
(31) SR U= (d) R @) R () affterrg

Which is the largest Sugar producing state in India?
(A) Uttar Pradesh (B) Bihar (C) Maharashtra (D) Tamil Nadu

(iX) =ge gRAeET 54 5 =i 9 |yaa aRare=T § ?
(81) TeTRIF—T[oRIT §) TSRIA—HEY<Y
() RIorIF—YSTE—gRaATT () IS —usig

Chambal project is a joint project of which states?
(A) Rajasthan-Gujarat (B) Rajasthan-Madhya Pradesh
(C) Rajasthan-Punjab-Haryana (D) Rajasthan-Punjab

(X) <o ¥ Al ey fea e | 9 S § ?
@) SR @R @) dEER (@) TR

In which district is the largest bovine found in Rajasthan?
(A) Udaipur (B) Nagaur (C) Bikaner (D) Jodhpur

2. P T T ?
What is Cross?

3. feimura frd wea € ?

What is the Sex-Ratio?

4. Q9—ufew et {6 <1 we}i &7 Siredn 8 ? YVarVa=1
Which two cities connects by East-West corridor?

5. IRTET FT FIW faaH T IMYFH ARE BT B ?
Which is the fastest and modern mode of transport ?

6. XTSRRI BT WS BT SSTITER FA HET T 8 ?
Why Rajasthan is called a Museum of Minerals?

7. Ao ¥ fAFTUE &9 89 @ BIS J1 SR Ay | 12r12=1
Write any two reasons for low Sex ratio in Rajasthan.

8. ulfcas 9 Jenfeasd @fel § SIS e 3iar fafay |

Write any one difference between metallic and non-metallic minerals.



e HeEgr 9 § 11 # Raq w7 @l gid #ea gy gwv—yleadr d oy —

Fill in the Blanks of questions No. 9 to 11 in the given answer book.

9. AT TS SR SHd HIMferd Hey Rer & 8, I8 T FI ..o 1
Human Society and its geographical relationship is not stable, all this relationship is ....................
10. WIRA ¥ T X 16 3T 1853 BT TEE A .oovrrrerr @ 7 34 fbHA. 3§ FAg TS 1
The first Train in India was run on 16 April 1853 between Mumbai to .................. in 34 Kilometers.
L L TR— 15 2 LA Riars faftrl &1 START H) oI &Y 999 BT AMRY | 1
Water should be saved using .............. irrigation and ............. irrigation methods.
s q
Section-B
12. YRd § TRY SHEET gfg & IS IR SR faRay | 12x4=2
Write any Four reasons for growth of urban population in India.
13. QIS ST @ e fhaTderdl & wHSISY | YVox4=2
Explain economic activities of Bushman tribe?
14. TS QAT | 37T T GASA § ? 2
What do you understand by Tertiary occupation?
15. ST UgEYT & 90T 8 IR SUN Fasy | 15x4=2

Write any four measures to control water pollution.

Yus 9
Section-C
16. UYEARY & FAAEAT B | 3
3T
IRd § SeEl @ R & forg =15 9 gema dRm | 1+1+1=3
Critically explain the livestock rearing.
or
Give any three suggestions/measures for the development of industries in India.
17. Mg 9 YUl AfamH H $Ig A R IS8T | 1+1+1=3
e r
9 sifeErl &1 e yegd difog | 3

State any three differences between dense and scattered habitats.
or



Discuss the classification of human habitats.

18. ARd H S gfg @ P & & 99 Su™ gesy | 1+1+1=3
34T
Rd § Rl <% 9¢M & forg 313 A goia A | 1+1+1=3
Suggest any three measures to control population growth in India.
or

Give any three suggestions to increase literacy rate in India.

19. RA ¥ Gl I T & RAFMIHRYT B TAIAT B Tl PIs A RN BT JoiA

HIFTY | 3ferar 1+1+1=3
D URTET DI ARAT BT | 3
Describe any three reasons affecting the localization of cotton textile industry in India.

or

Explain Road Transport.

s q
Section-D

20. fa¢ Y favg & @1 9Afes d Aifda de—swa STed Il @ ifba PRN—1xd=4

(@) Ihel @) de (@) 9R (@) 3T
3Ydr
faw ¢ fawg & Y@ qFfRkE § eifed g SAeEr arel 33 @ gUEy | 1x4=4
(@) B4 @) sum (@) SRl eI () sivaRw
On the given outline map of the world Mark the location of the following Iron-Steel Producing
areas.
(A) Buffalo (B) Santos (C) Saar (D) Osaka
or

Mark the location of the following densely populated countries on the given outline map of the

world.
(A) China (B) Japan (C) South Korea (D) Bangladesh

21. (@) Ry ¢ R & Y@ AARE # FrEifea g oo ST Sl @ sifd
DIFTI— ax4=2
(@) ToPle (@) AR (@) =R () rerarsT
I
iy 77 wRa & Y@ AmfE | FEitha ua ienfe TR @ Raftr qeEy
(@) frleTe (@) IR (@) =€ (@) AR
On the the given outline map of India Mark the location of the following Cotton Textile Industries.
(A) Rajkot (B) Madurai (C) Beawar (D) Bhilwara
or
On the given outline map of India Mark the location of the following major industrial cities.
(A) Chittorgarh (B) Jaipur (C) Chennai (D) Srinagar

(8) T TT ORI @ AT AR § Freifed Rret @7 sifbd BT — Voxa=2
@) PR (@) dEarer (@) Fer (@) R



erar
feu v IoReE & Yar gERE § e e o sifea A —

(®) wRAPR (@) SR (@) o (1) R
Mark the location of the following districts on the given outline map of Rajasthan.
(A) Bikaner (B) Banswara  (C) Karauli (D) Nagaur

or

Mark the location of the following districts on the given outline map of Rajasthan.
(A) Bharatpur (B) Jaisalmer  (C) Ajmer (D) Sirohi

Yug g
Section-E

22. fagg & ST g9 P gaIfaa e arel e dReT P AR P | 4
Frerar

ST fAaReT A Y R §Hsa © 7 AEfoiRad dR® @ IR R favg § S faawor

@I STERVI Afed FHISY |

() sraferfa (i) Sorarg (i) eRTAe 1x4=4
Frerar

ST B ARG WREET R o foRkay |

Describe the economic factors that affect the population density in the world.
or
What do you mean by population distribution? On the basis of the following factors explain the
population distribution in the world.
(i) location  (ii) Climate (iii) Relief
or
Write an essay on the Professional structure of the population.

23. YO ¥ SW ST & fIBrT 3 31U goa g | 4
I
IorerE ¥ RiaE & gidwmel & e 3q o gema dfg |
I
IR § SEEE i B RAvemuneTs s Hifg |
Suggest the measures for development of Rajasthan dairy industry.
or
Suggest the measures for development of irrigation in Rajasthan.
or
Analyze the population growth in Rajasthan.
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MATHEMATICS

q9Y: 3Y4 °US QUi 80

Wenfeia & forw M= fAady —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Weeft GdggH U9 939 95 W AMiP i o |

Candidate mast write first his/her Roll No. on the question paper
compulsorily.

2. Ot ye B aifard B
All the questions are compulsory.

3. UAP U F SR 41 T8 SR gRABT 7 & ford |
Write the answer to each question in the given answer book only.

4. f5 yeAl # aaR® @ve § 89 9 & STR o AR & ford |
For questions having more than one part the answers to those parts are
to be written together in continuity.

5. 9% 93 B 3 W 30SN wumwer § fFN ueR % R/ R/ R 39 W
o= 9T B YT B GE T |

If there is any error/difference/contradiction in Hindi & English version
of the question paper, the question of the Hindi version should be treated
valid.

6. ¥ & IR for@m 9 44 W¥H & s Irawd ford |
Write down the serial number of the question before attempting it.

7. U1 BT PR AR B
Weightage of marks for the question is as follows.

@'U_S—GT(A) 1(itox), 2 to11=20 20 1
gvs—d(B) 8 16 2
gue—4(C) 4 16 4
gus—g(D) 2 10 5
Gurs—A(E) 3 18 6




7. U G¥=AT 20 9§ 28 ¥ afRe fdwey A T &1

Y s — 3
Section- A
1. (i) cot(tana+cot™ ) @7 A ¥ |
(a1) 1 @) (@) o () 379 9 BIS &
cot(tan™ az+cot™ ) is
(A) 1 (B) o ©)o (D) None of above

(i) afe aregs A=(au)2X4 B AT A H qudl Bl FRAT BT ?—
(&) 6 (@) 8 (3) 2 () T & BIx Tl

Number of element in a matrix A= (aij )2 . is

(A) 6 (B) 8 ©)2 (D) None of above
(iii) afx w=Pm ‘; 48‘=4 o T K T A 2R
(a1) 4 @) s (@) 6 (@) 74 & I T
‘K 8‘ :
If =4 then the value of K is
2 4

(A) 4 (B)5 (©) 6 (D) None of above

(iv) Mg A AU IRE HEal & afd
@) [A=0 @ [A=1 @) [A=-1 (@ s 3 3¢ =&l
Matrix A is called Non-Singular if

(A) [A=0 (B)|Al=1  (C)|A|=-1 (D) None of above



(V) By =cos(v/x) @1 x & et sraeer B

Si;j; @) _Sizng @) —2dxsindx @) 2Jx.sinv/x

The Differentiation of y:cos(\/;) w.r.to x will be

)

(A) Siznﬁ (B) —¥ ©€) —2dxsindx (D) 24X.sinx
X X

(Vi) g y=x"—x, g x=2 R Wl ¥@1 &I yavrar arf?
(1) 6 @) 9 &) 11 () 13
The gradient of atangent x=2 tothe curve y=x*>—x will be
(A) 6 (B)9 (©) 11 (D) 13

(vii) [logx dx &xTeR & —
@) xlog(xe)+c (&) xlogx+c (%) xlog(gjw ) Iog[gjm
Ilogx dx is equal to -

(A) xlog(xe)+c (B) xlogx+c (C) xlog(g}rc (D) Iog(§j+c

2

(viii) sradmar FHIHRT [%j +(d—yj:0 @ DI TAT &1 HA: BHT?

NG dx

2
The order and degree of differential equation [Mj +[;—yj =0 will be

dx? X
1,2 (B)2,2 (C)2,1 (D) 1,1
(iX) wfeer a=i+j+k @1 afemr |a| wr
(@) V3 @3 (#) 1 (@) 74 & I T

Magnitude ‘5‘ of a vector 5:?+j+k is

(A) 3 (B) 3 ©) 1 (D) None of above



(X) Ife A 3R B wd= wea] € o8l P(A)=0.3, P(B)=0.6 @@ P(ANB) s
BIT?

(@) % (@) 2 (@) 18 (&) 048

If Aand B are independent eventsand P(A)=0.3, P(B)=0.6 then P(ANB)
equal to

(A) % (B) 2 ()18 (D) 0.18

N

. U® 4Ax4 PHH BT 3HTs Mg folRay |

Write down the unit matrix of order 4x4 .

5 20
3 -1

w

W\ffﬁ?ﬁ‘ ‘ﬁmsww&ﬁﬁ%@m

Write the Minors of element 5 in the determinant

5 20
I
I g A(x, —2), B(5,2), C(8,8) | &l aI &I x A oIy |
If points A(x, —2), B(5, 2), C(8, 8) are collinear, then find the value of x .

N

: d
5. Bl y=sinx" &I x & HAUE JqPheld R WX d_y BT A IRy |

X
Differentiate y =sinx® w. r. of x and find the value of %
X
6. jﬂ. dx &1 A1 frRag |
1+cos2x
Evaluate : IM.
1+cos2x

7.9d X’ +y’=a’ & &bl [y |
Find the area enclosed by circle x*+y*=a” .
8. (2?—3j+4k).(3i+4j—4k) &7 A1 foRa |

Find the value : (2i—3j+4k).(3i+4j—4k)

9. IT U ¥&T & Ad U 2, —1, —2 B AT 3ADI [QAH PISATY o BRI?

If Direction Ratio of a line 2, -1, -2 . Then what will the Direction cosine ............ )



dy

10. 3AH THIHROT d—=sinx—x P EA BRA TR Y=o, BITT? 1
X
Find the value of y=......... if differential equation ;—y=sinx—x is given.
X
11 j S +c BNTT? 1
(a2+x2)
J -
@)
gre — 9
| Section - B |
12. 2tan(tan‘1x+tan‘1 x3) BT A A HITT | 2

Find the value of 2tan (tan‘1 X+tan* x3)

13. e SyE A:E _ﬂ ot B:[O1 ﬂ g dl 3A°—2B &1 A ST BRI | 2

2 -1 0 4]
If A:{3 2} and B:[ then find the value of 3A*-2B .

-1 7]
1 -3 2
14. IfT IRFB A=[4 —1 2| B A1 Y2H W™ & IqIdl I STIARMOG Ud TeEvs
3 5 2
IRAY | 2
1 -3 2
Evaluate the determinant A=|4 -1 2| and write the minors and cofactors of
3 5 2
elements of first column.
15.  Bad f(X)=x—[x] @I x=3 TR AT BT I DI | 2
Examine the continuity of f (x)=x—[x] at x=3 .
16. Icos3 X.dx ST HITY | 2

Evaluate J'cosg‘ XX .

17.  IFadel FHERV (1+x7 )dy = (1+y? )dx BT & BT | 2



Solve the differential equation (1+x*)dy = (1+y*)dx

18. fa=g (5, 2, —4) X S dTel T WY 3i+2j—8k & AHNIR X1 BT Al
FHIDHROT ST DI | 2

Find the vector equation of the line passing through the point (5, 2, -4) and parallel to
the vector 3f+2j -8k .

19. 3R P(A)=1—61, P(B)=1—51 SN P(AuB)=£ EESIEISEEAINI

(i) P(AnB) (ii) p(gj 2

It P(A)=>. P(B)=r> and P(AUB)=- then find

(i) P(ANB) (ii) P(gj

Yls — 9

| Section-C |

20. = Poofady THeRer & g By —
sintx+sintax=2 4
3
ar
afg tan*1x+tan’1y+tan’lz:% g ar

g oITT fh xy+yz+zx=1

Solve the following equation :
sinx+sint2x="2
3
or

If tan"x+tan'y+tanz :% , then prove that xy +yz+zx =1



21.

22

23.

qg Sf=RTel ST BT, RAd ®er f(x)=2x° —3x* —36x+7
(i) aefom € (i) BT 2 |

g7

b Yy =x>—2X+7 DI W IGT BT FHIBHRT ST DI ST W@ 2X—y+9=0 &
AR 2 |

Find the intervals in which the function f (x)= 2x3 —3x? —36x+7
(i) Increasing (ii) Decreasing
or

Find the equation of the tangent to curve y=x*>—-2x+7 . Which is parallel to the
line 2x—y+9=0.

Al 4i— j+3k T —2i+ j—2k @ oIad 9 SIS URA Al | o
BHITY | 4

qr7

fa=gati P(f+2j—k) 3R Q(—f+j+k) BT AT arell @1 BT 2 © 1 @ U H
3 faITSTd &)1 arel fd=g R &1 Regfad dfewr sma sifoig |
Find the vector with magnitude 9 units which is perpendicular to the vector
4i—j+3k and —2i+j—2k .

or
Find the position vector of a point R which divides the line joining two points P and
Q whose position vectors are P(i+2j—k) and Q(—?+j+k) respectively in the
ratio 2 : 1 internally.

RGN 2x+y =4, x—31&T Tq ®Ifeql x=0Yd x=3 9 ftR & &1 &% o
DY | 4

afe yz\/logx+\jlogx+\/’logx+ .......... co B Al d—yglﬁaﬁﬁﬂl

Find the area bounded by line 2x+y =4, x— axis and ordinates x=0 and x=3.
or

Find 3. .
dx



V=Jng+ngx+ngx+ .......... o0

Y lsg — g

Section-D

24,  3TYE Rigld &1 YA aR A=falad WRae AHHR Hdbra @ 8l I |

3X+y+z=3
2X-y—-7=2
-X+y+z=1

qr7

e 3egE A= 12 ﬂ g d g ®INY 6 A2 —4A+1=0

) 0 0] ) 10
GI%TOz{O 0 Tq |=[0 Ja@ﬂﬂ-ﬁﬁﬁaﬁﬁm

Solve the following system of equations using the matrix method.

3X+y+z=3
2X-y—-7=2
—X+y+z=1

or

2 3
HanxAzL %lmmpmwﬂth—4A+I:O

25. U fA9IY HET &I A 3R B gRT W&o W@(E?rrcbwa%wmcmwmwzéa

%%ﬂaf%a#ﬁwﬁwﬁwwﬁwwﬁmmwﬁ%aﬁmﬁwaﬁw

f
(i) 99RIT &1 81 Il & |



(ii) ST & TTd: DI TH FHAT A I oIl ¢ | 5
qr

TS 9@ P 39 YR AMEd fhar a1 2 & Rige w® R em & F9raer ue
3T I UL T4 AT © | Ife Ryah BT a1 IR IVTAl SIT 81 Al Uel bl FAT & oy
gIiehdT g = HIfY |
Probability of solving specific problem independently by A and B are% and %

respectively. If both try to solve the problem independently. Find the probability that
(i) The problem is solved
(if) Exactly one the them solves the problem.

or

A coin is biased, so that the head is 3 times as likely to occur as tail. If the coin is
tosses twice, find the probability distribution of number of tails.

gusg — g

| Section - E

zl4

26. g Iy — I log, (1+ tan x)dx=%logez 6
0

ar
Ilog[x+x/x2+aﬂdx BT A4 ST DI |

g1

g ®IfTT fdh W y=sin® 8.cos" @ &1 A1 tanez\/g R 3Ifeas 2|

zl4

Prove that : _[ log, (1+tan x)dx :%Ioge 2
0

or
Evaluate : jlog[xh/xz +a’ }dx .

or



Prove that function y=sin® #.cos” & has maximum value at tan 0 = P

q
dy 2
27. & DINY &:(4x+y+l) 6
1
gl BT ﬂ=l+tan(ij
dx x X
a1

2
Ay y—secx+tanx, 99 Rig A B y __cosx
dx®  (1-sinx)

d 2
Solve : d—i=(4x+y+1)
or
Solve : ﬂzlﬂan(lj
dx x X
or
d’y COS X

If y=secx+tanx, then prove that - = —
dx®  (1-sinx)

28,  YwTeit F:(i+2j+k)+,1(i—j+k) SN F:(zi—j—k)+y(2i+j+2k) & 7T A
_ATH X I DI | 6

g1

Rig AIRTT B Y@ x14:y23:z;r1 . x;lzyglzzglo e

&l B | 5o Ui fdg & Mewne W S1d IR |

a1

fag (1, 2, 3) & @ X;S:yjzz_; TR STel Y oI P THTS S DI |

Find the shortest distance between the lines whose vector equations are
F:(?+2j +k)+/1(?— ] +k) and F:<2f— j —k)+y<2i+ j +2k) :
or
X—4 _ y+3: z+1 and x—lz y+1: z+10
—4 7 2 -3
other. Find the Co-ordinates of their intersecting points.
or

Prove that the lines intersect each




Find the length of perpendicular drawn from point the (1, 2, 3) on the line
X-6 y-7 z-7
3 2 -2
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fyg—fe=dar

T9: 3Y4 HOS qOlie 24

e & forw 9= fAdyr —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Teelt GdueM 39q U U3 R AP Sifvaria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. Tt ge B Sifard B

All the questions are compulsory.
3. UA® U &1 SR 41 T8 SR gRaer § & ford |
Write the answer to each question in the given answer book only.
4. f5=1 yeAl # omaR® @ve & ST W & TR TS ART B ford |
For questions having more than one part the answers to those parts are to be written
together in continuity.
5. 9% T3 & =il W 3ol HumRyr # & yoR o IR/ o=/ fReme g9 ) fR=<h
HIYT B U BT FE 91 |
If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.
6. T AT 16 ¥ 21 ¥ aR® fawew 2|
There are Internal Choice in Q. No. 16 to 21.
7. U W1 22 —23 H IM<IRS fddeq 2 B
There are two Internal Choice in Q. No. 22 & 23.

8. U & SR for@m & qd weH & e ey ford |
Write down the serial number of the question before attempting it.

9. WEI BT PR F=TaR B |

Weightage of marks for the question is as follows.

QU (31) | 1 dgfdbed] U 1—8 Y 2
2—-8 1 3%
— 1
9—11 v, L
2
gug (d) | 12—15 1 4




gug () | 16—21 2L 9
2
gvs (|) | 22—23 2 4
yusg A
Section - A

1- 7 o T 9gfdsmedl ued & el by &1 o9 PR SR GRS F for

Write the answer to the given multiple choice question in the answer book.

(i) ‘areH®S 0T Ao B fe el § gar ?

'Adamkad' depiction was done in the Keys style of Rajasthan?
(A) Kishangarh (B) Bikaner (C) Jaipur (D) Mewar
(i) ‘goi—oo oR &1 fbd Aeft &1 o & ?
(&) SRR (@) fperTTe (@) AERT  (]) PreT
'Bani-thani' is a picture of which style of Rajasthan?
(A) Jaipur (B) Kishangarh (C) Nathdwara (D) Kota

(iii) " RTEET foF e el b B denrer | fata fear ?

(37) == AT SR (d) TRed (W) SMIE HAR 8eaR () Ifdws AT IR

Which Bengal style artist painted " Bharamata"?

(A) Avanindra Nath Tagore (B) Nandlal (C) Aasid Kumar Haldar (D) Ravindra Nath Tagore

(iv) omar eRATS &1 S P8l g3l ?

(an) R @) TN (o) (W) ik () seeh

Where was Amrita Shergill born?

(A) Paris (B) Hungary ( Budapast) (C) France (D) Italy

N

I

R

R



(v) 1 @ oSS’ AMe R 59 e HerdR gRT a9/-™T T o ?
(31) STTErET WHERE (@) U A {) DB, TER (]) WA T ATITA

The painting named 'Murgo Ki Ladai' was made by which modern artist?

(A) Jagdish Swaminathan (B) A. Ramachandran (C) K.K. Hebbar (The) Bhavesh Chandra Sanyal

NN



(vi) vATEI= &1 5= fom $iFar g 2

(31) el 9 grell Rl (@) BiTsT & I (F) Brell Yol (3) HH RN
What is the main picture of N.S. Bendre?

(A) Women selling fruits (B) Woman of Kangra (C) Kali Puja (D) Kamal Sarovar

(vii) &<TeT ORI B 7 ?

@ fEaR (@) Hor GHes (1) fvqar  (§) Feus
Who is Satish Gujral?

(A) painter (B) art teacher (C) actor (D) director

(viii) emIfe Aftwer &1 Se B9 Her ST g 2
@) RIS Wd (@) R TR (@) IWfdaR 99 (]) v ARy

Who is called the father of modern sculpture?
(A) Dhanraj Bhagat (B) Himmat Shah (C) Ramkinkar Badge (D) Shankho Chaudhary

9. 2 SEMR & REeR Agd 899 B fbd Surle 4 fayfa fear o ?
By which title was Abul Hasan Honored by Jahangir ?

9. 3 'S¢ B Wla W IO B {h el | =—For garm |
What Style of Rajasthan was decided on fur of Camel ?

Y. 4 qREFNT T 9 1 aead ® 7
What is the meaning of Barahmasa Painting ?

Y. 5 A 1A BT S Hd g Hel gl ?
When and Where was Yamini Rai Born ?

. 6 AlcIdblci ‘el qfifed fhd o1g & a1 7 ?
In which Metal is chola's time Natraj Sculpture made of ?

9. 7 #eEegRy Rerd Rreq * iy & o=y fbl =l 9 A1 S & 2
The Tirtham Sculpture located in Mahabalipuram is known by which other name?

9. 8 SHTGIT WA &1 giaal o faeramsi uR wHer fewolt forfay

Write a Short Note on the Characteristic of Jagdish Sawaminathan's Painting.

9. 9 dfg qras! &1 Wi I BRI o |
Chand Bawadi was Built by king ...........cccccuue. .
9. 10 Terarer OiF AFGR o # Rerd 2|

Jain Temple of Dilwara is located in ..................... .

9. 11 7 g RIS B8 |

"Vanraj" Murti Shilp is by ............... .
yug q

RN

NN

N



Section -B
g. 12 ‘I F oMY T HHSA © P
What do you Understand by ' Shabih' ?
U. 13 'SERIR HIel qedbia dl faRvdry forfeay |

write the Characteristics of Jahangir's Period.

U. 14 BITST ol &1 Aferd gR=ry SN U S9d fhdl U =5 &7 9ui HIfoTg |

Give a brief introduction of Kangda style and describe one of its pictures.
9. 15 IfA=TT BTGR B IFder & aR | Heg H ey |

Write briefly about the painting of Rabindranath Thakur.

Yrs 9
Section -C

U. 16 UgTS! o 2rell @ fagvary forfaw |

Write the characteristics of Pahari picture style.

SR
UgrS! el # fAfFa Alenit & IR # daq | faRay |
Write is short about the Nayikas Painted in pahari style.

U. 17 ST WA 6T 9Red SIT 3R S9d dhelldd WX 39+ faar forRau |

AT

HADIT Bl T g & Ig9d Td f[IH &I garsy |

Introduce Jagdish Swami Nathan and write your thoughts on his work.
OR

Describe the origin and development of Calcutta Art Group.

U. 18 VUfeThel &) ol & IR # faar | faRau |

AT
TART # g fha o] § vad fra—faa o | wwafa g 2
Write in detail about the art of aliphanta.
OR
How many caves are there in Ellora and related to which religion?

U. 19 UTGYR & JATMSATT AR & WM TR YT ST |

arerar
fewofl forRay 1. fhvTg 2. aT=Tel 3. it

Please throw light on the architecture of Adinath Temple of Ranakpur.
OR
Write a comment 1. Kiradu 2. Badoli 3. Oceans

U. 20 T4 U9TE I AR @ g Ried & R H Y 1 |§ES © 2

N |-

N

N R



SR
Mg Hcldpetr &1 uRey ARTY | 3T &1 gfte H FiieR fFa—Tb -1 A
# Hfifren @1 i e Faar g ?
What do you understand about the idol sculptures of Devi Prasad Rai Chaudhary?
OR
Introduce modern sculpture. According to you, in which new medium can the sculptor make sculpture?

g. 21 R T ol G S IaWd Ud [IHN ®I 9d-y ? 1

3fqdr
IR Mfcee Ju R HiErad IHHRI QI |
Explain the origin and development of Shilpi Chakra art group?
OR
Give a brief information on the Progressive Artist Group.

N

Yus §
Section -D-

Y. 22 39 A7 SR BT YR Bl § |7 IRTEE AT ? T BT | 2
3reqdT
TR 99 BT M ARAT FHell & [AHT § a1 ANRE g 2 (9 o forfReay |
37eydT
T el B fbg RIEeR T Mus! Aaifts yaifdd fhar g war ?

What was Avanindra Nath Tagore's contribution to Indian art?
OR
What is Nand Lal Vasu's contribution to the development of modern Indian art? Write your thoughts

OR
Which Bengal-style painter influenced you the most and why?
4. 23 e el &I faRegd @R SIS | 2
GG
RIGRTT el &1 fIga e Sy |
R

Hare el & geF foEt @ faemarett @1 avie Sy |
Explain the Kishangarh style in detail.
Or
Explain Rajasthani style in detail.
Or
Describe the characteristics of the main pictures of the Mewar style.






S qreafie geT died 9393 2021
SENIOR SECONDARY EXAMINATION, MODEL QUESTION PAPER-2021

g fasm=

HOME SCIENCE
q9Y: 3Y4 °Ue qUlie 56

el & forg wm= fAder —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. TETRll FaYeM N U UF R AP IfHaria: ford |

Candidate must write first his/her Roll No. on the question paper
compulsorily.
2. T T R Sifard R
All the questions are compulasory.
3. UAP U FI SR 41 T8 SR GRADT 7 & fored |
Write the answer to each question in the given answer book only.
4. f51 yeAl # aaR® v § 89 9 @ STR e AR & ford |
For questions having more than one part, the answers to those parts are to

be written together in continuity.
5. U9 03 & <A 9 3ol HU=R # &) yeR @t e/ R/ fRem B9 W) fF=h
AT B U P FE A |

If there is any error/difference/contradiction in Hindi & English version of

the question paper, the question of the Hindi version should be treated valid.
6. T BT IR @™ 9 74 ve & s aaed ford |

Write down the serial number of the question before attempting it.

7. YTl BT FHIR AR B |
Weightage of marks for the question is as follows.

wus—a(A) 1(itox), 2 toll 20 1 20
wug—4(B) 12to 15 4 2 8
Tus—(C) 16 to 19 4 3 12
gus—<(D) 20to 21 2 4 8
Wvs—3(E) 22to 23 2 4 8

7 U BHIP 16 | 23 § AAR® RAped g
There are internal choices in Question Nos. 16 to 23




3

yvs 3

Section -A

=T gfaded UeAl & Al [Adhey Ia wx IR gRaeT | faRkad |
Write the answer of the following given multiple choice questions in the answer book.

() freiRmazen # gfg 9 Re™ < daaq gl 81 390 ®ed &

(o) = gf& (@) 3f& v

() orfde gfg (3) SWIad § A BIg e

During adolescence the rate of growth and development is maximum. This is called-
(A) Growth development (B) Growth Spurt

(C) Maximum growth (D) None of the above

(ii) foremRra=en &1 oMy HEd &

(31) I=ITa Td W bl (@) Aherar Bl

(|) sraAwHeAdl Bl (®) fa@wrd @1
Adolescence is also known as the age of

(A) Stress and storm (B) Success

(C) Un success (D) Development

(iii) freiR AemTeTe e @t sraven # amd 2|

SO ERINE @) s dhpareT
(W) qd Hfharsra (%) HIST TS IraRAT
Adolescence come in the stage of cognative development

(A) Concrete operational stage (B) Formal operational stage
(C) Pre operational stage (D) Sensory motor stage

(iv) STER IS BT ARy

(31) aBTR® (@) erdrel

(W) fafderar gaa (@) SWRIad T4

Diet plan should be

(A) Practical (B) Flexible

(C) Should have variety (D) All of the above

(v) &0 TRR A @l ufd Ao g@TE AT

(e1) 50 U= @) 200 U=

(|) 100 U™ () 150 W™
The reference unit of green leafy vegetables is

(A) 50 gram (B) 200 gram
(C) 100 gram (D) 150 gram

(vi) =1 Rig &1 o1 ¥R I &

@) 2.2 fharm @) 3.2 fretrum™
) 4.2 fHarm () 2.3 frarm
The weight of healthy infant is



(A) 2.2 kilogram (B) 3.2 kilogram
(C) 4.2 kilogram (D) 2.3 kilogram

(vii) 6 a¥ & THR fHIRTGRRT YRS B TF dTeid 39 T8 ¥ A 2 |

(37) Srerarawer (@) gd areTa=en

(H) IR qrerased (@) foremRrazen

The children from 6 years of age up to commencement of adolescence come in this group
(A) Infancy (B) Prechildhood

(C) Later childhood (D) Adolescence

(viii) ot d USSR # fAetmae @1 o 8-

@1 Jrerrsa @ (@) HaTaEe &

(@) #era Iar (®) 3iRTTSA

Red chilly powder is adulterated with

(A) Rodamine B (B) Malachite green
(C) Metainil yellow (D) Oramine

(ix) == @1 fgfos arf 8-

(&7) wE=m (@) e
@) IRIR® (@) Tb T
Secondary function of clothes is

(A) Identity (B) Safety
(C) Physical (D) Cover

(x) 7 g # T BV AR

(@1) THD T B @) g fore s &

() BT T B (3) SWIad ¥ 4 PIg el
Clothes during summer season should be of

(A) Bright clothes (B) Cotton and linen
(C) Black clothes (D) None of the above

777 ge] & SaVE gidad § GV gleasr § o/

Give the answer of the following Question in one line in answer Book

fopeTRTaRer &1 3ref forRau |

Write the meaning of adolescence.

A SEART & URudd 8 B Ugell ad w1 87

What the first indicator of maturing of female ganilalia?

AT 419 & W9 W B drell & HIRAT & T Ry |

Write the name of two diseases which occur due to the consumption of contaminated food.
Ui SR I & DIy a1 eTor folfay |

Write any two symptoms of "Epidemic Dropsy" disease

TId T B?



10

11

12

13

14

15

16

What is saving ?

I BT AURY Rl TG B2
Why is storage of clothes essential?

T8 faer e o1 <1 Araware S faRkay |

Write two vocational importance of Home science

R =l @ gfd & oav gleaar 4 feifay |

Fill in the blank space and write in answer book.

AT F GIRDT F L= AR T BT B |

Over nutrition in adulthood resultin ..............ccoeeveee... and ...

Ig Jolc ORI I I BT FA 6T & I8 TOIC o HEATT B |
The budget in which income and expenditure is in balance is called as .............................

gvs —q

Section -B
freTRTaTRT # 3 | &I Yfte vd e & oy o & ?
What will you do to encourage and satisfy emotions during adolescence.

TR G BT ATcled A &FRT TIR HIRT |

Prepare weekly household expenditure record diagramalically.

T 9§ e gad gedl BT 3T HH SR |
How will you remove greasy stains from clothes.

WTe U g9 H WRIGHTR & 7dR forfRau |

Write the employment opportunities in food and nutrition.

T ug Al
Section -C

fHreTRTaReT BT TRl &7 Bl Fi ded & ?
aferar
A [dTd # ararerer gd Ardr fUar @ @ e gl © 2

Why adolescence is called a “Period of problems”.



17

18

19

20

21

or
What is the roll of environment and mother and father in cognitive development.

AR H B ¥ THaU b HRYT AR | 3
aferar
g A T SMER AR B A 3T fha—{h fd=gaii oI &g 7 2 ?

Write down the reasons for lack of milk secretion during lactation?
or
What points will you consider while planning meal for an old person?

39 3MBR RS B FHI fha—fb1 fd=gall &1 et xeiiy ? 3
3T
fpeTRTeaReT @7 UIyoT Heell AARISI & FaReT gq 3MY 3MER AN dd F9g fha—fd=
favgai &1 ear & ?
What points will you keep in mind while meal planning?
or
What points will you keep in mind while planning meal for adolescence to overcome their dietary
problems ?

d% @1 aRMId ST | 9% § @Tar @i & o foRau |
Jrerdm 3
SYATET fhd Hed & | SIS &I dls IR TIIN A9 |

Define Bank. Write the advantages of opening an account in the Bank
or
Who is a consumer. Explain any four problems of a consumers ?

gug —3

Section -D

RIcTS & &8 3 dTel fhel IR SUBRU & AMifebd e a9187 |
Jrerar 4

T THAT IR FHY AT Bl & b dedl DI IUIART BT i goiF Bifoy |

Draw labelled diagram of any four instruments used for stiching.
or

Which elements of art will you use while making a pattern? Write details with diagram

Mgl S B N A A R W A9ssy |

S REIHE 4



22

23

fAemae @1 aRvIfia IR vd fAerae foaa deR &1 2l 87 affaxor faRag?
Explain in detail the nutritional problems of a pregnant woman.
or

Define adulteration? What are the different kind of adulteration give classification?

grs —g
Section -E
frenRTaRen &1 fagryaret &1 R 9 auie SR |
3reraT
AaIR™ H FIHd ARRAT Bl 8 39 B &1 giie dIfoy |
3reraT
forenRTaRen # A9 yRadHr &1 aufF @I |

Explain the characteristics of adolescence period in detail.
or

Give justification to the statement that there is emotional instability in puberty period.
or

Explain sextual changes during adolescence.

IRAR @ M gig § W B IAHT W DI |
31T
RAferd SUHTadT & T[0T Ud Big & AMRBRI BT au BT |

AT

oldel Ud A% e fAdasiial Whicer! § 9g™d g I HIfy |

Explain your role in enhancing family income.
or

Explain the qualities of an educated consumer and any two rights of a consumer.
or

Explain that label and standard mark are helpful in wise purchasing.




S qAAe KT died Y93 2020—21
SENIOR SECONDARY EXAMINATION, MODEL QUESTION PAPER-2021

PSYCHOLOGY
g 3Y, g QUi 56

Wenfeia & forw M= fAady —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. el GdgeM o9 U3 95 W AMiP Afari: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. G UT H SifNErt 2|

All the questions are compulsory.
3. UAP U $ SN 41 T8 SR gRadr 7 & ford |
Write the answer to each question in the given answer- book only.
4. f5 yeAl # IR @ue § 89 9l & SR e A & ford |
For questions having more than one part, the answer to those parts are to be written
together in continuity.
5. 9% U3 & <l W Sl SumRyr # 5 geRr ot FRe /MR / foReme g ) R=d
AT & Y99 DI &) A |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.
6. ¥ &1 IR for@m 9 7 ve & s araed ford |

Write down the serial number of the question before attempting it.
7. AT BT ABIR FF=TIAR 7 |

Weightage of marks for the question is as follows.

D | TAD
T | e
Tug—3i(A) 1(itox), 2toll 20 1 20
Tug—d(B) 12 to 15 4 2 8
ueg—4d(C) 16to 19 4 3 12
wue—z(D) 20to 21 2 4 8
Tug—3(E) 22 to 23 2 4 8

7. U3 F. 16 I 21 ¥ T IM<IRd fddbed 2 |
Question No 16 to 21 have internal choice.

U3 . 22 W 23 ¥ T 3R fdbeq 2 |

Question No 16 to 23 have two internal choice.




oS 3
Section A

fAm faRaa uel @& SR 7 9 |8 Rded &1 997 ) SRyRae 4 fafag —

Choose the correct answer and Write it in your answer book.

(i)

(i)

(i)

(iv)

(v)

(vi)

(vii)

JfeE® 7 3 & e YHR Tamg & ?

(1) 2 @ 3 () 4 () 6 1
How many types of intelligence all these according to Thorndike ?

(A) 2 (B)3 (C)4 (D)6

ST (DAT) ¥ It 199 BT § ?
@) afda @) 9f& @) sfvwfa (]) srfersar 1

What is measured by DAT ?
(A) Personality (B) Intelligence (C) Interest (D) Aptitude

frfoRad #§ @ o aafdda amhas B 980 deiie e 8 7
(@1) 16 Nuw. (@) A (7) At WS g WeTor () qred gif weror 1

Which of the following is not a projective technique of personality
assessment. ?
(A)16 P.F. (B) TAT (C) Rarschack Ink. blot Test (D) Sentence Completion Test

fr=fafad § | 9T <919 $ SR BN 1T FiAS 9 7 ?
(@7) fofa emar @) ST (@) g@u™ (]) d@om wifad 1

Which of the following is an emotional effect of stress ?
(A)Decision Power (B) Sadness (C) Smoking (D) reasoning

frafaied # & s va giEar el &1 yer 78 & ?

(@) Hif (@) FruRa—areaar (@) siasEmET /IRT (]) $Ied [Jer 1
Which of the following is not a type of anxiety disorder ?

(A)Phopias (B) obesessive compulsive (C) Panic attack (D) Somatic disorder

BeR® T &1 Heay fr=ifoiRad § & foa Rifdcr AT | 3 ?

(37) HEMTH® FAER () Ao (1) S (]) TIER 1
Freiderick Perls is related to which of the following theraphy ?
(A)Cognitive Behaviour (B) Gestalt (C) Cognitive (D) Behaviour

HeMTHS fag=fedr &1 fRigra defta 8 ?
(@1) wfearfear @) sfverrar (@) gl aRads  (]) v ivie =raeR 1

The theory of logitive dissonaree is related to ?
(A) Stereotype (B) Aptitude (C) Attitude Change (D) Pro-social behaviour



(viii) f=faRed # @ S Ry denfe e 9 S99t T8 8 ?
(@1 frfemar () xgfrsar (@) Fregarsrear (]) favaseirar 1

Which of the following charactaristic is not related to scientific observation?
(A) Differentiation (B) Objectivity (C) Precision (D) Reliability

(ix) WA e 3§ safade @t fever Rg=a & ?
(37) 9TrHY SUTTH (@) @ SUTH
@) PR AR d@ SUFH () AEIfTe SUNH 1

Trigunas theory of personality in Indian perspective is a ?
(A) Type approach (B) Trait approach
(C) Type and Trait approach (D) Social approach

(X) =9 9T SR B abId § Ffed gqrayel gRRRIRET a1 faweryor axar 7 8k
TuT R & forg Swa faf=r uell &) Awsmar & ?
@) T e (q) IR dfad (@) T dfud (Q) TRER dfad 1

In this coping technique, the person analyses the stressful situation
understand its Various aspects eradicate the problem ?

(A) Emotion Focused (B) Person Focused

(C) Problem Focused (D) avoidance Focused

goT Gegr 2 @ 8 dd JI & 9TV v gigg d dfory -

Q.No.2-8 Answer the following questions in one line:

2. gfgatfer &1 g fafay ? 1
Write the Formula of intelligence quotient ?

3. W B U 9eaqol U8 BH-$IF A © ? 1
What are the three important aspects of the self ?

4. 9 & YBRI @ AW fafeag ? 1
Write the types of stress ?

5. NATAL. BT R 9 FT 8 ? 1
What is the full form of P.T.S.D.?

6. FARTa@! fafdear fam yRarfaa a1 ? 1

Who proposed the psychodynamic therapy ?

7. AMGRT & "Dl & 9 fofay ?

Name the components of attitude?

8. FAId® Harell & fog d—aw fafdre @iee 8 =1fay ? 1

What specific skills should be required for psychological services ?



e : ye =1 9 9 11 & SR, SRYRAST # SR |

Note : Write answers of questions no. 9 to 11 in answer book.

9.

10

75| A 117 A HEATN 8 ?

Fear of height is called ...........ccceunnnee.. ?

. IS B W@ AT R o T8 TP oo g 7?

The book on dream analysis written by the Freud is ........ccccceeeevieeeeiieee e, ?

11. FfAsTH @ 98 IEr e gl o SUAT AFg B GERRel & GHE

fRAT ST B, T8 oo HEAT & 7

12

13

14

15

16

17

18.

19

A branch of psychology whose principles are used for solving problems of human, is called

Yus ¢
Section-B
. FrewIE &1 §fg &1 Tgere Rgra |1 8 ?
What is the multifactor theory of intelligence of Guilford ?
. Ifdaa 91 g yeR uRaia fHar < aear 8 ?
How personality can be defined ?

. IR B ST ®T B § ?

What are the aims of counselling ?

. TUTRYYT T} ?
What is attribution ?
gue |
Section-C
. AT BT 999 DY fHIT o Ghar g ?
3reraT
gfg @1 yamfa @1 fafag ?

How aptitude can be measured ?
or
Write the nature of intelligence?
. WM T4 WAGHT & R P ISR §RT WAy ?
G
Ifdaa N TIRT TR T PRSP PIF— DI 8 ? WL HIVTY

Explain the difference between self-esteem and self-regulation with examples?
or
What are the factors affecting personality ? Explain.
WA @ UG B fdEer Hifg |
AT
FaeR fafecar @t faf=r aoie & IR # fafeag |

Discuss about the nature of counseling.
or
Write about the different techniques of behaviour therapy.

. R s TR RRi B 8 ?

@ fog



SIS
oIS FaeR F4l HEEyYl 8 ?
How the attitude developed?
or
Why is pro-social behavior important?

Yls
Section-D

20. 3% Sfiga 9 faff=1 qa@ TRRIRET iR 39 ST Td WReT WR UgA arel WHTal &
ARl §9157 | 4
3edr
919 3 A= el o1 arviieg P ik gaa F9Ifad sRUT B Ht W PR |
Make a table of different type of stress situations of daily life and its effect on functioning and
health.
or
Prepare a table of different symptoms of stress and explain its possible causes.

21. (P &fqd & I 3R MY FIER P IRl B GRY SS9 fal¥re @ger @1
SJEIERYT 24 §Y AR PIfY | 4
Frerar
faf= yerR & il @1 Sww HeRa fatre dRRfT & wrr vo arv IR AR |

Prepare a table of differences between the behavior of normal and abnormal person along with the
specific example of that behavior.

or
Make a table of different phobias along with its particular situations.

Yrs J
Section-E

22. gD T &I 1 3ef & ? A=e gNfasm B e PR | 4
3T
AMeNfrep Td FAro-ATHS gfasH @ IR # foRay |
3T

A 7N &1 e fokag |

What is the meaning of applied psychology? Explain the clinical psychology.
or

Write about the Industrial and organizational psychology.
or

Describe military psychology.

23. feqor A @ sl &1 qui PR 4
3rerar
TP Tl HAIASS 999 @ foIY Bi—a19 0T a8 © ?



e
ETER Ay 1 tRaIg HIRT | FETpR @ 9T 3 W< P |

Describe the steps of observational method.
or
What are the essential qualities to become an effective psychologist?

or
Define Interview method. Explain the format of interview.



SENIOR SECONDARY EXAMINATION, MODEL QUESTION PAPER-2021
English Literature

Time - 32 Hours Max. Marks — 80

General Instruction To The Examinees

1. Candidate must write his/her roll no. on the question paper.
2. All the questions are compulsory.
3. For questions having more than one part the answer to
those parts are to be written together in continuity.
4. Write answers of all the questions in your answer book only.
5. Write down the serial number of the question before attempting it.

6.Weightage of marks for the question is as follows.

Section Number of Questions | Marks of each | Total Marks
question
Section (A) 1(itox), 2to1l =20 1 20
Section (B) 12to19 =8 2 16
Section (C) 20to23 =4 4 16
Section (D) 24t025 =2 5 10
Section (E) 26t028=3 6 18
SECTION A

Q.No.1(i-x) Choose the correct alternative and write in your answer book.



(i) Captain Hagberd had come to settle in (Tomorrow)
(a) Calculate (b) California (c) Bensbrook (d) Colebrook

(ii) Who of the following went to Melbourne. (Eveline)
(a) Frank (b) Ernest (c) The Priest (d) Eveline

(iii) The cost of that little enamel box was (A cup of tea)
(a) Eight guineas (b) Twenty eight guineas (c) Twenty guineas
(d) None of the above

(iv) On hearing about the attack of the government, the work men —
(The cow of Barricades)
(a) Erected a barricade (b) Secured houses and hoarded valuables
(b) Collected arms (d) All of the above

(v) “Stand still and | will read to thee.......... “Whom does “I” refer to?
(A Lecture upon the shadow)

(a) The poet himself (b) Lover/beloved (c) God (d) None of these

(vi) What guided human souls towards divinity?  (On Time)
(a) Bad habits (b) Peace, Love and humanity
(b) (c) evils of heart (d) Selfishness

(vii) Precise means — (Time and time again)

(a) different ways  (b) inaccurate (c) clumsy (d) exact
(viii) “Faith makes one ........ " (Does culture matter)
(a) Kind (b) Neutral  (c) Indifferent  (d) Unkind

(ix) What does the metaphor ‘the bottle of wine ‘represent?
(Why the Novel matters)
(a) Body (b)Spirit (c) Soul (d) Body and Soul

(x) In which language does Manjula write? (Broken Images)
(a) Kannada (b)Hindi (c) Tamil (d) Malyalam

Q. No. 2 - 6 : Transform the following sentences into indirect speech:

2. The Teacher said, “Work hard Raman.”

3. Punit said to me, “Do you play Cricket?”

4. The Hermit said, “Man is moral.”

5. Reena said to Aloka, “l went to the market yesterday.”

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
[1]
[1]
[1]



6. | said to Kamal , “ Please give me your book”. [1]

Q. No. 7 - 11 : The following sentences have not been edited. There in an error
in each sentence. Identify the error and write it correctly in your
answer book :

Example :
Incorrect Correct
A apple a day keeps the doctor away. eg. A An
7. He is far to young to drive a car. [1]
8. | went for a walk every day. [1]
9. Poonam is more beautiful then Pooja. [1]
10. The man which is honest always succeeds. [1]
11. Slow and Steady win the race. [1]

SECTION B- READING

Q 12-16 Read the following passage and answer the questions that follow:

Optimism is not a deep, complicated philosophy or a school of
thought. It is more a matter of our general attitude of life, of always taking a
positive and bright view of life. In some persons it is a born trait. They are born
that way by nature and temperament. But in most cases it is an acquired or a
carefully cultivated habit. So we find that some people always look at the bright
side of things while there are some others who always see the bad, dark side of
things. To an optimist, every cloud has a silver lining, A pessimist, on the other
hand, misses the silver lining and sees only the cloud. Fredrick Langbridge sums it
up “Two men look out through the same bars: one sees the mud, and one the
stars."

One Sunday morning, when William Dean Howells and Mark Twain
came out of the church, it started raining heavily, “Do You think it will stop? asked
Howells. “It always has," replied Twain. An optimist hopes for the best. Optimism
nurtures most,: hope and cheerfulness . Alexander regarded hope as the greatest
possession of mankind. He held that if you destroy 'hope’, you destroy "future'.
Hope strengthens our will to survive calamities, so that we never give way to
despair. It helps us count our blessings , and hope persistently goads us 'to go on'.
It is rightly said that an optimist sees on opportunity in every calamity, a pessimist
sees a calamity in every opportunity.

A person who is optimistic , cheerful and full of hope gains easy
acceptance everywhere in society and succeeds in maintaining meaningful and
lasting relation with others. Most people feel dejected , even down and out, when
they do not succeed in achieving their aim. They allow themselves to reach a state
of hopelessness. Some even suffer sudden loss of energy and the will to persist.



They become victims of a host of negative feelings and thoughts. The loss of self-
esteem can be so powerful in the case of some , they might even take the
extreme step of ending their lives.

An optimist reacts to situations differently. He thinks and acts in a
positive manner. Optimism aids his patience, increases his energy and steels his
will to see his objective. Optimism is, in fact, an unending source of positive
energy. There is nothing negative about it. Unlike the pessimist who gives up
when he finds one door locked, the optimist believes in looking for other doors
which are wide open. Instead of giving way to despair, he tries to find alternatives
— Asar Ducknacr, a well- known poet wrote — when | do not succeed in achieving
my aim, | think of attaining it through a different approach and so | try again.

A pessimist is a perpetual loser, an optimist is a winner despite an
occasional failure. Unlike the pessimist, an optimist does not allow himself or
herself to sink into a state of morbidity or depression because of a positive frame
of mind, an optimist is never without solace and never suffers from poverty of

spirit.

Q12. What do you understand by ‘Optimism’? [2]

Q13. Which two things does optimism nurture ? [2]

Q14. Why is a pessimist a perpetual loser? Give two reasons. [2]

Q15. How does an optimist react to failure ? [2]

Q16. Find words from the passage which mean the same as: [2]
(i)disaster (ii) peace

Q17-19. Read the following poem and answer the questions that follow :
Break, break, break
On thy cold grey stones, O Sea !
And | would that my tongue could
utter the thoughts that arise in me.
O for the fisherman's boy,
That he shouts with his sister at play!
O well for the sailor lad,
That he sings in his boat on the bay !
And the stately ships go on
To their haven under the hill;
But O for the touch of a vanish' d hand,
And the sound of a voice that is still !
Break, break, break
At the foot of thy crags, O sea !
But the tender grace of a day
That is dead will never come back to me.

Q17.'And | would......... in me’, What wish does the poet express? [2]
Q18. Which activities in the second stanza are in contrast with the poet's
mood? [2]



Q19. Find the words from the poem which mean the same as:
(i) disappeared (ii) majestic [2]

SECTION C-TEXT

Q 20-23 Answer the following questions in 50 words each.

Q.20. ‘Captain Hagberd was an eccentric person’, Elaborate. (Tomorrow) [4]
OR
Write the central idea of the Poem ‘On Time’ (On Time)

Q. 21. The essay ‘Why the Novel matters’ establishes the superiority of the
Novel. Discuss [4]
OR
‘Rosemary is different from others.” How? (A cup of tea)

Q. 22.Why does the poet say that triumph and disaster are two imposters?
(If) [4]
OR
Describe the happiest days of Manjula in the play ‘Broken Images’.
(Broken Images)
Q. 23. According to the poet what is the nature of true love?
(A Lecture upon the Shadow) [4]

OR
Discuss the topic of debate between Arjun and Krishna in the
Bhagwad Gita. (The Argumentative Indian)

SECTION D- (Writing)

Q. 24. Write an essay in about 150-200 words on any one of the following
topics: [5]
India —a Land of fairs and festivals
OR
Truth and Non- Violence — Need of the Hour

Q. 25. You are Vivek/Vinesh, student of class XIl write a report in about 150-200
words on Career Day Celebration in your school. [5]
OR
You are Sachin/Sunita student of class XIl write a speech in about 150-
200 words to be delivered in your school prayer assembly on ‘The
Importance of Books.’
SECTION-E

(Fiction and Literary Terms)




Q. 26 & 27 (100 words each)
Q.26. Write a note on ‘Pari.’ How does she come to Jeevan — Niwas ? [6]

(Inside the Haveli)
OR
Describe the personality and manners of Kanwarani sa

(Inside the Haveli)
OR
The Novel ‘Inside the Haveli’ revolves around Geeta. Comment on the
three phases of Geeta’s life — as a daughter, as a daughter in law and as a

Mother. (Inside the Haveli)

Q.27. Comment upon the theme of the Novel ‘Inside the Haveli’
(Inside the Haveli) [6]
OR
Critically analyze the Haveli as a symbol. (Inside the Haveli)

OR
Discuss ‘Inside the Haveli’ as a modern classic.

Q.28. Write notes on any two of the following literary terms in about 50 words

each : [2x3=6]
(i) Metaphysical poetry

(ii)  Anglo- Indian Literature
(iii)  Interior Monologue
(iv)  Impressionism
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Hus 3
Section A

1. fo=1 forRaa et @ SR falRae —

Write the answer to the Following questions.

(i)

(i)

(iii)

(iv)

(v)

“PIEE, FATH YUS AfFqUer” geas fhee fordy 3 2
(@7) AfFH ARFe @) e RIR @) R dvE (@) show. g (1)

Who wrote the book 'Caste, Class and Occupation ?
(A) Mckim Marriott (B) Milton Singer (C) B.R. Chauhan (D) G.S. Ghurye

qUSe SIRANT 3ehe] P o ?

(@) diRiE @) A wvsa (@) W TeRA ]) Sua H BE A& (1)

Who was the chairman of Mandal Commission ?
(B) V.P.Singh (B) V.P. Mandal (C) Prof. Gadgil (D) None of these

qiRaR® a=T &1 f6a TerT & ?
(&) TR (3) SeifeRer (@) 9 Y @) s | P (1)

What is the cause of increasing family tension ?
(A) Urbanisation (B) Industrialisation (C) Both (D) None of these

UReIBROT BT 99T Siae @ fba &85 W) gsT ?
(@7) wigpfo® &= @) oo &3 (@) aifie a3 (]) Suda it (1)

Influence of Westernization was in which field of Life ?
(A)Cultural field (B) Political field (C) Religious field (D) Above all

TSI H UarIe) RToT avey fhdy Wk Y & 7
(&) v @ (@) <= (®) @R (1)

How many tiers are there in Panchayatiraj System in Rajasthan ?
(A)One (B) Two (C) Three (D) Four



(vi) w1 |9 3 e fea 98 #§ g8 ?
(31) 1828 @) 1820 (a) 1819 () 1825

When was Brahimo Samaj established ?
(A)1828 (B) 1820 (C) 1819 (D) 1825

(Vi) TR # WA ATRIAT BT Hox baf o ?
@) cere @ WTe (W) Woreer  (3) RSiferr

Which was the centre of Bhagat Movement in Rajasthan ?
(A) Tatgarh (B) Mangarh (C) Khejadly (D) Bijoliya)

(viii) RS T w”ERT § offaq &1 ifaE qen wdea ey g HET A ?

(o1) & @) @™ (a) e (@) ok

(1)

(1)

What is considered to be the last and highest goal of life in India tradition ?

(A) Dharma (B) Kaam (C) Mauksha (D) Artha

(ix) < SreuiEnd ImAT fha af # sffafda fasar @ ?
(31) 1992 (@) 1986 (9) 1984 (<) 1989

When was the National Minority Commission Act Passed ?
(A) 1992 (B) 1986 (C) 1984 (D) 1989

(X) M H IR B G TS AMRIET DI § P
@) Rt @) Pro@@r (@) IR =€ (]) a8

Which is the biggest Megacity of India at the moment ?
(A) Delhi (B) Kolkata (C) Greater Mumbai (D) Chennai

2. faare v& wrf wwEiar €, f5 o9 @1 A § ?

Marriage is a "Permanent agreement" recognized by which religion ?
3. WO # fhae SFomdy g e R ?

How many Scheduled tribe groups reside in Rajasthan ?

4. RT ¥ TG SERT BT YRS $H9 §oml ?
When did tea industry start in India ?

. A Sl BRe 349 S TWE & dEd dF § ?
Who is the auther of "History of caste in India" ?
. B Y oo gl @ AW faRag ?
Write the names of two national Political Parties ?
7. TSR At femed 3t e faam 3 o ?
Who established "Rajasthan Mahila Vidhyalaya" ?

8. faciiferar frar sl ®a UR™T gorm ?

When the Bijoliya Movement begin ?

[$))

»

(1)

(1)



frfofed w1 4 Rea st & gfid sifoig —

Fill in the Blanks following questions -

9. THND o AMNAD TH B oo fear 21 1
Technology has ......ccccevevieveinnneen. the geographical distance .
10. AR TR BTV TP oo Td B 1
Indian National Congressis a .........ccceeeeuneee. Party.
11. 911 fqarE® a0 WA (RS THR) oo # aiiRa gerr 1
The Child marriage Act (Sharda Act) was passed in .......cccceveeeevcieescieeenns
yug q
Section-B
12. AT SaIer &1 3ief forfg | 2
Write the meaning of social Movement .
13. M YaId @1 YA fafay | 2
Write the role of gram panchayat .
14. G=I P IR R IRIR & YHR ARy | 2
Write the types of family on the basis of Relationships .
15. MR Afaue o {5 gl ¥ sreusiem®! &1 faavor foar mar 8 ? 2
Which articles of Indian Constitution describe minorities ?
16. MRUIT AT $H fHa TR & 8 2| 2
How many kinds of Karmas are there is Indian Society ?
17. AR aferafirar = 2 ? 2
What is the Manchester competitions ?
18. ART H URFHIHRYT BT F91T Sfigd & b1 &3 W Ter ? 2
Which field of life is influenced by westernisation in India ?
19. PRGT TIC 1948 T § ? 2
What is the Factory Act 1948 ?
gvs |
Section-C

20. fUos o &1 fAuRY 9 a1 Ifd & MR WR 7 PR I HRUIT A BdT & TE BT |

34T
IRa ¥ aifie fafdear w fewof fofag | 4
Explain that determination of backward classes is not based on birth or caste rather on something
else?
or

Write a note on religious diversities in India ?

21, TR & ARIF@BIHROT B 9 FRyag forRag |
34T
IS gl &1 fAdvarl TSy | 4
Give any three Characteristics of Modernization by Lerner ?
or
Write Characteristics of Political Parties ?



22. f-eramel @1 \faur yew Al &1 @&g § g9 Hifeg |

e r
SR DGR T & ?
What are the policies of the government for the care of differently abled persons ?
or

What is Post modernity ?

23. TRGHIADROT BT AT fageryor fofag |

24,

25.

26.

Frerar
“fIF=TT # THdT B MR FHTST BT 9R 27 TR B |

Write a Critical analysis of Sanskritisation.
or

Unity in Diversity is the essence of Indian Society clearify ?

s q
Section-D

RART AR AMYFHAT & AT R G_=T § ? AT fHig |
3Ferar
fasitferar sm<te &1 wra fafag |

What is the relation between tradition and modernity ? Discuss ?

or
Write the Impact of Bijoliya peasant Movement ?

GARR IS FaRRT WX UF o iy |
3T
A RIITaD Sl @1 gAfadl ga g fafag |
Write an artical on Panchayati Raj System ?
or
Write the challenges and their solution faced by present political parties ?

s g

Section-E

o ¥ qiferaT frm @ g s -aF @ Ao @ ? fwR 9 fafag |
3Udr
IoRe ¥ Afdeeit o IR # GuR & g fRe Ty vt @ ==t ST ?
AT
aRa # sirefieve w® fewr faRed ?
What are the scheme for girl education is Rajasthan ? Write in detail ?
or
Discuss the efforts made for the improvement of status of women in Rajasthan ?
or

Write an essay on Industrialisation in India ?



27. R WA & AIEpidd Uge] B AT DI |
AT
GETIT IS AWMt §IRT YT |l # g¢ IRad R o forfag |
AT
RTSTRIE & YATaRYT STl & IR H forfag |
Explain the cultural aspect of Indian Society.
or
Write an essay on the change in rural society brought by panchayatiraj Institutions.
or
Mention the Environmental Movement of Rajasthan .

28. MRT H T STl B FHbrei RAfa 1 Te B |
3Ydr
A & HRYT 4 GUWTEl BT =l Hifor |
3Ydr
WoTSel! RIAT & TTHAT BT qUiF HIOY ? SHH T HQwl Fe? GAsmgy |
Explain the current situation of Scheduled caste in India .
or
Discuss the reasons of child labour and its ill effects.
or
Describe the incident of Khejadly Movement what was the message of it ? Explain .
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3 1 (itox)
2-8
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q 2224
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o OB~ N -

SREIHE
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26
27
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o O BN -

Section Q. Nos. Marks per question
A 1 (itox)
2-8
9-15
16-18
19
20-21
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26
27
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OUTRANPFPOOOGRRNE P

Or
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25

26
27
28

OO N -

8. U9 AT 21 T 22 (GUs—3f) TAT Y W1 28 (vs—d) H ITIRP fdhed B |

There are internal choices in Q.No. 21 and 22. (Section-A) and Q.No. 28 (Section-B).

Section : A




1. ¥gddicud U (Multiple Choice Questions) 1X10=10
(i) S=eR) Hel @ 3 d | —

(@) UsTr wR =1et faar SRRm (b) 3MMERT W AT TSl [HAT STRATT
(c) ga= fear SR (d) @t ¥ fewar fear s
In absence of partnership deed:
(@) Interest on capital is given (b) Interest on drawing is charged
(c) Salary is given (d) Provided share in profits 1
(ii) 3MEROT R & BH & AT =
() oma (b) =13
() 3ma @ =g I (d) 379 & B3 T2
Interest on Drawings is ---------- for firm:
(@) Income (b) Expenses
(c) Income and Expense both (d) none of these 1

(iii) A 9 B R} & ARKGR 2 foear TS s 93 16000 9 ®9I 12000 21 C %
Y & oIy Uder o_am 8 9 ®UY 15000 Yo & oTdl & | @ BH &I @Y &7 Jod 8T |

(a) % 60,000 (b) ¥11200
(c) ¥ 17000 (d) ¥ 43000

A and b are equal partners with the capital of ¥ 16000 and < 12000. C a new partner comes
in for ¥4 share and brings capital ¥ 15000. Find the value of the firm's goodwill?

(a) T 60,000 (b) T11200
(c) ¥ 17000 (d) T 43000 1

(iV) XTY BH # 32 & orJuid § WERR g1 d Z & '/, R & folg yawr < &

SAPT AN AGUId eIl —

(@) 2:3 (b) 3:2
(c)2:1 (d) 1:1

X and Y are partners sharing profits in ratio of 3:2 . They admit Z for 1/3 share in profits.
The sacrifice ratio of X and Y is:

(@) 2:3 (b) 3:2
(c)2:1 (d)1:1 1



(V) AB 3 C 221 & oM dlcd gV WIBIGR & | B & 3[@dhrel Y80 &Rl W TN &l

HTH WU 30000 TR fHar e 2 @ B @ afagfd & fog A 9 C 3fere™ &3t
(a) ¥ 20,0009 10,000 (b) 8,000 9 4,000
(c) ®IS IS Tl B (d) 15,0009 ¥ 15,000

A, B and C are partners sharing profits in the ratio of 2:2:1. On retirement of B, goodwill

was valued at ¥ 30,000. Find the contribution of A and C to compensate B:

(a) ¥ 20,000 and T 10,000 (b) 8,000 and ¥ 4,000

(c) No contribution (d) ¥ 15,000 and % 15,000 1
(vi) g & |\ar vd R & 9RT @) got IR # affafera Bt 2

(a) T o (b) Feffaa ot

(c) wfer oM (d) g Tom
Total amount of Equity and Liabilities part includes the followings :

(a) Authorized Capital (b) Issued Capital

(c) Subscribed Capital (d) Paid up Capital 1

(vii) o=t & wEaiiRde ufenifa @ wu # et @ Rafa # aft gfafie @ omch & o
5 @ & 9 fHd ST |

(CVEUICIN]] OEREEEEIS!

OERAREEERREIS] (d) §& @rar

In case of issue of debentures given as collateral security, if on entry is passed, which
account will be debited :

(a) Loan Account (b) Debentures Account

(c) Debenture Suspense Account (d) Bank Account 1

(Viil) Y& |EE & ATUIRS WHY BT A9 & —

(a) ARG AT (b) FTEHRT AR

(c) AfdTTT BT FHE (d) THTDd! AR
What is the name of trade structure of Joint-Venture-

(a) Partnership (b) Co-operative society

(c) Group of people (d) Sole trader 1
(ix) Fe—aredl g1 U< fddt 9 9§ g WR & S arel 92 I A4 fdHar Sien 8 —

(a) 92 @Ta H (b) HgFT AEE @l H

(c) d% @Ta # (d) FTe—aE & @ H



On discounting bill from the Bank by Co-Venturer discount is debited to-

(a) Discount A/c (b) Joint Venture Alc
(c) Bank Alc (d) Co-Venturer Alc

(X) IfE e &1 URMH e T 5,000, 31fF<TH WIH T 3,000, 9 & SR I
qhe TWIG! X, 20000 T AR Pl UMK T YIdH @RI H fhd THR Q@ |

(2) T et | ¥ 22,000

(b) s7aT uer | ¥ 20,000
(d) SWRIFd & & PIg &I
Opening stock of stationary at the beginning is ¥ 5,000. at the end ¥ 3,000. Stationary

purchased for cash during the year for ¥ 20,000. How this transcation will be dealt with
in Receipts and Payments Account?

(C) YA UeT H % 28,000

(@) Payment side ¥ 22,000 (b) Payment side ¥ 20,000

(c) Payment side ¥ 28,000 (d) None of the above

U AT 2 9§ 6 OP U B SN U I /TS Ufdd H VT i— 1X5=5
2.XM w9 9 HIET 4:32 & MU H o Mo &R B | M S1aETeT T80 Rl © |

M g A & AT o fI9IS IguTd 211 | BTIQ BT U S N |

Ram, Shyam and Mohan are partners in a firm sharing profits in the ratio of 4:3:2. Ram
retires and new profit sharing ratio of Shyam and Mohan will be 2:1. Calculate Gain ratio.

1

3. 3G T fhd O & Bls g b Iadrsd ?

State any two modes of retirement?

4, B AR 2013 & AT T T BT U I g2 R AT B Thal § 2

Under the Companies Act, 2013, can a company issue its shares at discount? 1

5. dfad goll & @7 ey ® ?

What is meant by Reserve Capital?

6. TRUM] WY ABH Wl Bl Ypid 5T YR &I Bl & ?

What is the nature of Memorandum Joint VVenture Account?

Rea w1 & gfd sifsig — yea d=m 7 9 8 1X2=2



7. FGRT e BT FITTT oo Il & |

When dissolution of joint venture ................ happens? 1
8. U T AT WA H oo 7o fawrg ol B |
In Receipts and Payments Account---------------- items are shown. 1

9. 31fre @ it @ TSI Yol e FUJ 60000 T HIA 50000 B | HHS Bl i #
% 1 & foy S9d 50000 Yol T ¥ | I @Y TOMT BIRTT |

Adjusted capital of Anil and Sunil is ¥ 60,000 and ¥ 50,000 respectively. Kamlesh brings in
< 50,000 as capital for ¥4 share of profits in the firm. Calculate value of goodwill. 2

10. X Y 9 Z 9EIGR & 3R <Ml &I 3:2:11 & AU ¥ dIed 2 10 3 2019 B X B I
Bl AT 99 2018 &I BT T oM A9 T 2,00,000 I T 20000 & 1.1 2019 I 10.04.2019 ddH

&I 3T ¥ 1,20,000 1| X & o™ &7 fZA1 910 HINY Taq STHa gfdfte ST |

X, Y and Z are partners sharing profits in the ratio 3:2:1. X died on 10-4-2019. The sales and
profits for 2018 were ¥ 2,00,000 and ¥ 20,000 respectively, sales from 1-1-19 to 10-4-19
was < 120000. Find the share of X’s profit and given journal entry . 1+1=2

11. A for. =1 % 500000 @1 /A BT H WRIAT | 50% A b gRT fbar 1ar g
AT IR & Iy ST 1 FHAT 32 T 10 Tt 20% WTHTH WR PRI fHy | SuRrad
FIERI $I JHd o1, & el § smaedsd o+a faftedt i |

Sumit Ltd. Purchased a machine of * 5,00,000 from Harish. 50% of the payment was made by
cheque and for the remaining the company issued equity shares of ~ 10 each at a premium of
20%. Give necessary journal entries in the books of Sumit Ltd. for the above transactions.

2

12. 519 Hgad AIEE &I JUGH—YIS YR @ Sl 8 A Db A @I @il 9§ 2

A sy |

When separate books of Joint Venture are kept, which types of accounts are opened? Give
Names. 2

13. fAifdre gEeTmell | = @1 JIRT 31.3 2019 B I9RI S dTel I—d  @Tar 9 g
# fra R fearir?




Receipts Amount Payments Amount

Advance Subscription
2017-18 15,000
20186-19 2,00,000

2019-20 10,000 2,25,000

T3 # 1,800 W & g8 T 150 d1f¥ep =<1 forar Irdr 21 31 AT 2018 I GhT
=T T 21,000 AT |

Following information related to subscription. Show how it will be shown is Income and
Expenditure Account for the year ended 31st March, 2019 and Balance sheet on that date

Receipts Amount Payments Amount

Advance Subscription

2017-18 15,000
2018-19 2,00,000
2019-20 10,000 2,25,000

There are 1800 members of the institution from which 150 annual subscription per member
is taken outstanding subscription for the year ended 31st March, 2018 was ¥ 21,000. 2

14. BeiTeR BT YIIP Hed 01.04.2019 BT T 1,00,000 B 3T BAMAR URBD &P oI A
20% BT UR 30.09.2019 DI 99 T&AT iR W 10% AMbF T oI B ST STl

21 31.03.2020 BT I S dlel JT—FF ST Ud S o & g § Saad acl of o
UhR fegrar SR ?

Book-value of furniture on 1-4-19 is ¥ 1,00,000. Half of the furniture is sold at a loss of 20%
on opening book value on 30-09-19. Furniture is depreciated @ 10% p.a. How above items

will be shown in Income and Expenditure Account and in Balance Sheet on that date 31-03-
2020 ? 1+1=2

15. fe=ifdhe aemetl | WISy Ud 9T @rar 3197€ 2019 DI A &I dlel ay bl
IS |

4
URMRTH Jhs I 5,000
T T fdar 25,000
] g foar 50,000



fasTelt foet &1 oram fdar 10,000
BRI %65, 500 AIRYD 99 & SR 11 HIE BT YA fHAT

S TS H I fhar 25,000
BIECUIGURIE] 9,500

Prepare Receipts and Payments Account for the year ending 31st March, 2019 from
the following information.

3
Cash-in-hand opening 5,000
Donation received 25,000
Subscription received 50,000
Paid for electricity bill 10,000
Rent ¥ 500 p.m., actually paid for 11 month during the year
Purchase of computer in cash 25,000
Honorarium paid 9,500 2

16. 91 R TAT AR T HH H AR © | 31 A9 2019 Bl I9d Yoil WA HHIA: I 90000
T 45000 T 45000 o | WISGR! Held & FaITIAR (1) AR, BT T 9000 Ul 99 UTRs1f#HdH
fear ST o (2) Ui w5 gfaerd Ui ay @l &R | TSl Qa1 S oar | (3) ol B 2:2:1
@ AU H Il ST o7 | S A&l WR &I 7 <d gY 31.03.2019 I AT B+ dTel
9y & forl X 54000 & Y& @™ DI Al WIRIGRT H FAM ®Y ¥ qic fQar 11| agfg &
IR B VP FARNRG ufafe Bifmg | srivfia fewol gufsy |

P, Q and R are partners in a firm. Their capital accounts stood at ¥ 90,000, ¥ 45,000 and X
45,000 respectively on 31st March, 2019. 1. R was to be allowed a remuneration of ¥ 9000
p.a.. 2. Interest at 5% p.a. was to be provided on capitals 3. Profits were to be divided in the
ratio of 2 : 2 : 1. Ignoring the above items, net profit of < 54000 for the year ended
31.03.2019. It was divided among the three partners equally. Make journal entry for
rectification and show workings. 4

17. AB @ CHREIER 9| B @ §RT 31 A/ 2016 Pl DI TS I R I AHARIGTH
@ e Yol W &1 HIST Y I 50000 faGmar a7 | I8 q9 g2l b 10 wfcrerd arfde &)
UR % 12000 Gfcray SfiawoRT @iyl <1 S | O aif¥el & YIdE @ gy d1q B @
7g B ol 2 | B &1 a1ffat @rar a1y |

A, B and C were partner in a firm. B retires on 31-03-2016 and his capital account shows a
credit balance of ¥ 50,000 after all adjustments. It is decide that the life annuity of ¥ 12,000
per annum with 10% interest p.a. assuming that the annuitant passes away immediately after
payment of the second annuity. 4



18. ATUTRS FRATAT Yd IR—ATUIRE HLI31 H IR d By 4 95 sy |

Write any four difference between commercial organizations and non commercial
organizations. 4

19. ISR @ A 3R 3RT & B F0STg & C Bl UNUT TR 100 S Sd] FIHR SAIRIH TR
9T & U U gad |red # WA 8Id € | 9 dAM—8IN aRIeR dred @ oY |ewd sid
21 A T % 60000 & H&I @ 50 TS ol T T 1200 faff=1 @=f & g&HRI| B =1 T 56000
g Bl 50 TS Woll dor T 1000 fAfder @ gl | 99 TS T8I W AvENTS ugd AT |

5 TS R H WRIG 8 M| 9T B g9 19 & % 5000 ST BT H aRIA BR bl | C
9 2y S T 130000 H 99 7| IHA AP W 5 GfRrd A 9 = @Al b I 1500

PICHR AY R R A BT 96 o1 | WROM FYad Aed @Il g15d o1 A B gl H
B @I dem B &1 GRadl H A &7 Q@I 973 |

A of Ajmer and B of Agra entered into a Joint Venture to consign 100 bales to C at
Chandigarh to be sold at their joint risk. They agree to share profit or loss equally. ‘A’ sent
50 bales valued ¥ 60, 000 and paid ¥1200 for sundry expenses. ‘B’ sent 50 bales valued at
< 56,000 and paid ¥ 1,000 sundry expenses.

All the bales reached Chandigarh in time. However 5 bales were found damaged and ‘B’

could recover ¥ 5,000 from insurance company for its claim. ‘C’ sold remaining bales for
< 1,30,000. He remitted the balance amount to ‘A’ after deducting 5% commission on sale
and X 1,500 for other expenses. Prepare A’s account in the books of B and B’s account in
the books of A and Memorandum Joint Venture Account. 5

20. ¥ U9 FE 5:3 B IIUTT H T dicd gY Uh BH H ARKER & 31 fAHaR 2018 @
I faear 1 geR o1—

Liabilities Amount Assets Amount
3 3

Creditors 22,000 Cash 9,000
Provision for Doubtful Debts 1,000 Debtors 12,000
Bills Payable 18,000 Stock 25,000
Investment Fluctuation Reserve 2,000 Investments 10,000
General Reserve 16,000 Land & Buildings 55,000
Capitals Goodwill 8,000

Surendra 35,000

Mahendra 25,000 60,000

1,19,000 1,19,000

1 STaRT 2019 DI B Pl WISIGR IR TAT| T8 Yoil & wd ¥ T 20,000 AT | 77T
3IUTd 3:3:2 BT | U AEIGR & a9l W =1 ol ford M« 1. &4 &1 w=a1fa 3 ofaR



&1 T % 10,000 T fbam AT | g8 A1 B AR The AT | 2. GIws F |l faf g
¥8,000 H o fol | 3. AEIGRI W Sad Ud A 0 & o amdie < 2,000 BT a7
SIC | A AT 9T BT FedichT < 85,000 WX fhaT MY | 4. ¥l BT i T 20,000 TR
fpar AT 21 5. @FeRl 9 % 4,000 & 1 DI Bl fAAT| 6. T WIRIERT B Yol BT
FARIGE T A 39T 3rguTd H Adhe 9 fHa1 STRAT | YA @Tdl, AEERl &
ISl @rd derm fIeer a8y |

Surendra and Mahendra are partners in a firm sharing profits in the ratio of 5:3. Their
Balance Sheet on 31st December, 2018 was as follows :

Liabilities Amount Assets Amount
3 ]

Creditors 22,000 Cash 9,000
Provision for Doubtful Debts 1,000 Debtors 12,000
Bills Payable 18,000 Stock 25,000
Investment Fluctuation Reserve 2,000 Investments 10,000
General Reserve 16,000 Land & Buildings 55,000
Capitals Goodwill 8,000

Surendra 35,000

Mahendra 25,000 60,000

1,19,000 1,19,000

On 1st January, 2019 Ankur was admitted as partner. He brought ¥ 20,000 as capital. New
Ratio will be 3:3:2. On admission of new partner, following decisions were taken : (i)
Ankur’s share in firm’s goodwill was decided as I 10,000. He brought, the amount of
goodwill in cash. (ii) Surendra took all investments for ¥ 8,000 (iii) A provision for Bad &
Doubtful debts of ¥ 2,000 is to be made on Debtors and Land & Buildings is to be valued at
< 85,000 (iv) Stock is valued at ¥ 20,000 (v) Creditors have given up claim of ¥ 4,000. (vi)
Adjustment of all partners’ capital is to be done out of cash in new profit sharing ratio.
Prepare Revaluation Account and Capital Account and Balance Sheet of the new firm. 6

OR

, @1 g i ffaRed Fwfodl | 1 U 2019 W FMUR T I A | BRI 18,000,
HeM % 72,000, TH& X 10,000, 7GR ¥ 20,000 | I ARGNI B 2R 53:2 o7 | IAD!
Goil T 41 T8 SuTa o7 | 30 fAdaR 2019 &I 1 &1 §&7 & WK 2| 9@ g 7 fuar &l
HH H 2T w9 qem 9u g f 1. I\l SHidSh S S9d 5 @ fod o), ag < @
SY | 2. IFHT Goll TR 5 UTerd ufaay &1 &% | 1ol A1 S | 3. S99 UfcHs & R
H 600 B TR I IMERY [HAT §| THB Y8 IMERV WD M b @R b fou v faar
Y| 4. IAS TSRO R 6 URIerd ufcay & 9T | 19 R | 5. AT BT HoIh
®H & AT o™, Sl b 21,000 &, BT GIYAT BT SR | 1 BT I @il 18 |

A, B and C were carrying on business with the following assets with effect from 1-4-2019.
Furniture ¥ 18,000, Machine ¥ 72,000, Cash ¥ 10,000, Debtors ¥ 20,000. Their profit sharing
ratio was 5:3:2. Capital is also shared in the same ratio. B died on 30-9-2019. His son claimed
his father’s interest in the firm.

10



The following was the settlement : (i) Allow his capital to his credit on the date death. (ii)
Give 5% p.a. interest on his capital. (iii) He had been drawings @ I 600 per month, which
he withdrew at the beginning of each month. He is allowed to retain these drawings as a part
his share of profit. (iv) Interest @ 6% p.a. be charged on his drawings. (v) Goodwill was
valued twice the average profit, which were X 21,000. Prepare B’s personal Account. 6

21. 31U o1, <7 T 10 @Tel 20,000 FHAT S ST DI MG B UG (b [T I
1 IR T AT IS UF WR T 3, ATded W T 4 dAT YUH UG IifIH HAT UR 3| 41,000
el & foy fdes U= Urwl gu, 3fded =R fhar T— 3,000 379 & Sfdcdi Bl
PIS 3MMac Hal dAT 10,000 37N & 3MMAGDH] DI I UL, 12,000 (TN & 3MAGH] B 50
TfeTd AT 16,000 3T & STASHI Bl 25 UL | MMded TR U MR A BT SUIRT
ged qT J0T I b FHA™SE # fhar Tar| 59 3idedT B Bl 9 dfed T8 fhy T
IAD! e T dler & A5 | Wl IRRn FEiRa 9w W oagd 8 | Al @
gD H el gfaftedt QR |

Agrasen Ltd. offered 20,000 equity shares of I 10 each to public for subscription. On these,
amount was payable as follows: ¥ 3 on Application, I 4 on Allotment and ¥ 3 on First and
Final call. Applications were received for 41, 000 shares and allotment was made as follows:

Applicants of 3000 shares were allotted No shares; Applicants of 10, 000 shares were
allotted 100 percent shares; Applicants of 12, 000 shares were allotted 50 percent shares; and
Applicants of 16, 000 shares were allotted 25 percent shares.

Excess money received on application was adjusted on allotment and call. The
applicants to whom No shares were allotted, application money was refunded. All money was
received in time. Give journal entries in the books of the company. 6

OR

e for. =7 ¥6,00,000 @ 8 Ufcrerd ForgAl &7 A 71 gaR fa— 1. % 3,00,000 &
8 Wferd UIAT Bl 20 Ufderd WM W Fdhe & fofg| 2. 3Fa fol. | T 1,25000 &7
HFYIR TSI, Ufdhel @Ry IFHT T 1,50,000 3ifhd Hed & 8 uferd wogs RiHAd
far | 3. 99 ¥ T 1,00,000 HT K0T o1 | 6 & U FHUIRGD U & w9 | T 1,50,000
@ 8 UfRId RUYS ST BRI | FA {1 @1 gl d e ufaftear e wd freer
IR B |

Satish Ltd. issued 8% Debentures of ¥ 6,00,000 as follows:

(i) 8% Debentures of ¥ 3,00,000 at 20% Premium for cash.

(it) A computer of ¥ 1,25,000 purchased from Arnav Ltd. for the consideration of it,
issued 8% debentures with a nominal value of ¥ 1,50,000.

(iii) Taken a loan of ¥ 1,00,000 from bank. Deposited to the bank 8% Debentures of ¥
1,50,000 as collateral security. Give journal entries in the books of Satish Ltd. and prepare
Balance Sheet. 6

Section : B

22. g g | oMu T WHeId © 2

What is meant by Comparative Balance Sheet? 1

11



23. Th¢ ITad UM BT G A8y |
Write formula of stock/inventory turnover ratio. 1

Rea v & gfd & —

24. 9% TP SN BT GRATAT U 78: © I SHST IRATAT AT AU oo BT |

If operating ratio of a company is 78%, then operating profit ratio .......... will be. 1

25.9. 4 91 gamell | aaids fhamell | oy @l g ufrera Sd & | ad
2014—2015 & 3R HIY

EL 2014-15 2015-16 2016-17 2017-18 2018-19
g 9 el ) 4 20 25 28 35 40

Calculate trend percentage of revenue from operations from the following information,
assume 2014-15 as base

Year 2014-15  2015-16 2016-17 2017-18 2018-19
Net Sales in Laksh (%) 20 25 28 35 40
2

26. f=ferRae uRRefadl # =ime] SIguTal Ud dRel SIgUTdi b1 UReber BIfolY |

(a) Current Liabilities ¥ 48,000 ; Inventory I 78,000; working capital ¥ 96,000

(b) Working Capital ¥ 40,000 ; Liquid Assets I 35,000; Stock ¥ 25,000; & Prepaid
expenses ¥ 10,000

Calculate Current Ratio and Liquid Ratio in following conditions :

(a) Current Liabilities ¥ 48,000 ; Inventory I 78,000; working capital ¥ 96,000

(b) Working Capital I 40,000 ; Liquid Assets I 35,000; Stock ¥ 25,000; & Prepaid
expenses ¥ 10,000 4

27. fe=ifepd geeTiall | oA fRIeal TR difsii—

Particulars Note No. 31 March 2018 | 31 March 2019

l. EQUITY AND LIABILITIES

1. Shareholders’ Funds

(a) Share Capital 10,00,000 1,50,000

(b) Reserves and Surplus 5,00,000 6,00,000
2. Non-Current Liabilities

(&) Long-term Borrowings 2,00,000 2,25,000
3. Current Liabilities

(a) Trade Payables 3,00,000 4,00,000

12




Total 20,00,000 27,25,000

Il. ASSETS

1. Non-Current Assets
(a) Fixed Assets (Tangible) 15,00,000 20,00,000
(b) Intangible Assets 1,00,000 3,00,000

2. Current Assets
(@) Investment 2,00,000 4,00,000
(b) Cash and Cash Equivalents 2,00,000 25,000
Total 20,00,000 27,25,000

From the following Balance Sheet prepare Comparative Balance Sheet.

Particulars Note No. 31 March 2018 | 31 March 2019
I EQUITY AND LIABILITIES
1. Shareholders’ Funds
(a) Share Capital 10,00,000 1,50,000
(b) Reserves and Surplus 5,00,000 6,00,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2,00,000 2,25,000
3. Current Liabilities
(a) Trade Payables 3,00,000 4,00,000
Total 20,00,000 27,25,000
Il. ASSETS
1. Non-Current Assets
(a) Fixed Assets (Tangible) 15,00,000 20,00,000
(b) Intangible Assets 1,00,000 3,00,000
2. Current Assets
(@) Investment 2,00,000 4,00,000
(b) Cash and Cash Equivalents 2,00,000 25,000
Total 20,00,000 27,25,000

5)
28. fe=iforad gamell 9 Yo &¥- & 31 ATE 2019 P AT & dlel ay & foly vl
T JTFUTd, U= o9 SJUTd Td g Y9 U b1 TRl HIFTU |
URfe Yefaar T 1,20,000 , 3ifaH vEfrm ¥ 2,00,000 , FF T 840,000 , Holge ¥ 56,000
3Taeh ST TSl % 16,000 , U~ &4 % 96,000 , fd®d wd fadvor =g %1,12,000 , 7L
& g ¥ a4 T 1,12,000 , IR gR=TE =g T 30,000 , AFSHR I 50,000 , FaTel fHamei
W 3T %16,40,000 , HaTe el & JMMTH ara=dl ¥ 40,000 |

From the following information of a company calculate Gross profit ratio, operating profit
ratio and net profit ratio for the year ended 31st March, 2019.

Opening Inventory ¥ 1,20,000; Closing Inventory X 2,00,000; Purchase X 8,40,000; Wages X
56,000; Carriage Inward ¥ 16,000; Administrative Expenses I 96,000; Selling & Distribution
expenses ¥ 1,12,000; Profit on sale of machine I 1,12,000; Non-Operating expenses I
30,000; Income Tax I 50,000; Revenue from operations ¥ 16,40,000; Revenue from
operations Return ¥ 40,000. 6

13



OR

RS IICR G GRS
1. 9T FHAT IUTd
2. @A AU &
3. T &l U Bl VAT BITY:
qTeeTele 20T % 50,000 , QeI S I 75,000 , dre] & T 37,500
iR =re] |wgfaar ¥ 2,70,000 , =1e] F¥foAm % 67,500 |
From the following information, calculate
Q) Debt-Equity Ratio
(i) Proprietary Ratio
(iii)  Solvency Ratio
Long Term Borrowing ¥ 50,000; Long Term Provisions ¥ 75,000; Current Liabilities

< 37,500; Non-Current Assets X 2,70,000; Current Assets X 67,500 6
OR
Section : B

22. Bl 1 7 ?

What is spread Sheet? 1
23. 9 U& I {5 HEd B 2

What is a Cell and Row? 1
Raa = & gfd & —
24. RSN BT TOET A & oIy B B H forar SR |

Which functionisused ....................... to calculate depreciation. 1
25. HFgeR & fAfi=1 e & 9™ forRay |

Describe different parts of the computer system. 2

26. BIsec & Y@ faRivyams H 4 &1 guiF By |

Write any four characteristics of spreadsheet

27. AT G YOIl Ud el ofdl Yomell H IR W Bifoy |

Explain differences between manual accounting system and computerized accounting
system. 5

14



28. Jreefic &1 oEidh= § TN &1 19 fafera aaensy |
Write any three application for spreadsheet in accounting .

OR

TA.0H TRId BISYe & 98 U4 TN & HIFY |
Write importance and uses of MS Excel Spreadsheet.

15
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SENIOR SECONDARY EXAMINATION,
MODEL QUESTION PAPER-2021

gy IgIq
PET— 12

AT 3: 15

et & T g Al
GENERAL INSTRUCTIONS TO THE EXAMINEES:

1.

wdiameff FdvYA IS ved TH W HUAT A AfAaEa:
Candidates must write his/her Roll Number on the question paper.
sl wea IfAary §1

All the questions are compulsory.

YA YO FI Scal & M 3ok qReaw # &

Write the answer of each question in the answer sheet only.

ST weat & waR® @2 &, 37 g & 3cav tH 9y & [/

. 80

For question having more than one part, the answers to those parts are to be written together

in continuity.
WA FT 3o faEa & qF woT 1 FAw a7

Write down the serial number of the question before attempting it.

wooT 9F & R 7 3 TR & Rl gER A e/ v/ RAdummw @ o s &

g F & TE AW

If there is any kind of error/ difference/contradiction in the Hindi and English versions of the

guestion paper, the question of Hindi version should be treated valid.

Tl BT IFIR AR 2 |

Weightage of marks for the question is as follows.
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U2
Hues—37(A) 1(itox), 2 tol11=20 1 20
Tus—d(B) 12to 19 =8 2 16
Tus—H(C) 20to 23 =4 4 16
Tug—<g(D) 24to025 =2 5 10
ue—(E) 26t028=3 6 18




gus (3)
Section (A)

& Y gl & SR &1 G fdhey o999 o StR—gRaar d fafay

1. 9gdieud U (Multiple Choice Questions)

iv

TS B 9T WR R 33 YeUd AT ¥ T o 8

(@1) faE )

(@) e 9 96T )

(A) Planning

(C) Planning & organization

9 Ud HeuE & —
(37) TH TR D [b
() FHTe®

Leadership & management are -

(A) Feather Flock

(C) Similar to each other

S SRaH Ped & —
@1 fAf¥aadr &1
() SETIe rffRaadr &

Entrepreneurial risk is -
(A) Certainty

(C) Business uncertainty
TS 3BT -dT BT a1y —

(67) gaei
() M fagard

(@) FIred W)

1X10=10

() Swiad # W P W T

Managers sitting at higher levels of the organizations spend more time in.

(B) Organization

(D) None of these

(@) v TR ¥ fa
(3) Tb AR B Ul

(B) Different from each other

(D) Competitors of each other

(@) fRa=ar &1
(<) ST e

(B) Continuity

(D) All of these



Vi

vii

viii

A good leader must be -

(A) Visionary (B) Principled

(C) self confident (D) All of these

ST Ao HrEimA eyl USRI § —

(31) faT waer &t (@) IR udY &1

() #1a FarE e & (@) Swad H ¥ BIs A8l
Entrepreneurship Development programme is an important equipment of -
(A) Finance management (B) Material Management

(C) Human resource development (D) none of these

&y B 9 Rigd @ SHerr § ?

(&) Sfde (@) T S, ToR
(@) s BT () T & @I =T
Father of general principal of management is -

(A) Urvick (B) F.w. Tailor

(C) HenriFeyal (D) none of these
EOE P SRS d@ & —

(31) Suertel (@) AT U qH
(@) fawra (2) Swam wT

The Motivating elements of Hajburg are

(A) Achievement (B) Recogniton and honor
(C) Development (D) Al of these

IS wFgut fave frde A & (evd 9 WiHR &l 8 ?
(31) feofa= @) Sefiar




() FEHIRAT (3) S H | BIs A8l

Whose importance is accepted by the whole world today

(A) Decision (B) Entrepreneurship

(C) Cooperatives (D) None of these

X Sl Hqfera sl faer &1 arf yerd &dr & 98 YA § —

(&) e S @) o T3
() RawA () ®1E e
Entrepreneurs rave the way for balance Economic development
(A) Yale Bejin (B) Pro. Nark Se
(C) Ribsom (D) None of these

X A & g 92w § —

(31) A I8P T C)REEIRCEIEI

() SATET oI HHTAT (@) Sugaa |+
The main purpose of advertising is-
(A) Create new customers (B) Boost sales

(C) Make more profit (D) All of these

U3 T 2 § 8 TP U @ SR U@ Ufed § ifvTe ¢

Q. 2-8 Answer the following questions in one line :

(N

2. JSITf=1h US~e BT ST by hal odl & 2 1X7=7

Who is the Father of Scientific Management ?
3 91T 3MfAHal A MY FIT HHSTA § ?
What do you mean by Insurance agent ?

4 A ST BT AT |

Explain crop Insurance .

5 JIFATURYT Bl U db~ilh bl A9 ddTsU |



Name a technique of Motivation.

6 *IJ<d BT 37 argy |

Explain the meaning of Leadership .

7 SIRIA W 7 M © P

What do you mean by Risk ?

8. AT od=T & T I 8 7

What does Social Consciousness mean ?

Racd w9 &1 gfd Rd g SR ol T3 IR gRADT H IRy | 1X3=3
9. ~IJd &FAT ST ofdll ©, fJaiId Bl 8 QT 39 UT fhal ST |§ahdl © I8 oA

................................................... BT T |

‘Leadership takes birth, develops and it can be attained is said by

10. 9 fasmu= S R = | fuiRa e w [fed e & sfa sua § .

.......................................................... HEA B |
Advertisements which are printed under a fixed headline at a designated place in news papers are
called
11. EDP BT e =
E.D.P Means ----==-==msmmeemmmmme oo

Section (B)

ST ST 12 9 19 YD U 2 (b BT 2|
12 "Y§ AT B I BHIfoTu ?

“Management is Universal” Explain



13 TP UIdR Y&eIdh &I gf faereand forar ?

Write two features of a professional manager ?

14 IR I 9 @7 9N © °?

What do you mean by Surrogate Advertisement ?
15 “dIFT 9 T8l 8 97 AT 39 BT 9 Feqd © ?
"Insurance is not a donation” Do you agree with the Statement ?

16 T JMTHT NI H ST U IR & FASNSY ?

Do you opine that entrepreneurship is a Practice ? Explain

17 " 4T AT GRETT U Rl & 7 &l 37U §9 Hfd A Wedd &7 adie

“Insurance Provides Social Security” Do you agree with the statements? why ?

18 3MYd AR o HY IUWAT TR dATI B Ufhar 2 ? e HITy

In your opinion how entrepreneurship in the process of finding opportunity ? Clarify

19 " Iqq¥T B AR R Ay Hag Al & a9 9y ?

Mention the name of sale promotion methods on the basis of objectives.

Section (C)

U9 G&IT 20 W 23 db YAl b I - 4X4=16

20. TN Bald g1 Ufaurfed ydy & 4 Rigra & 9+emsy |
(31) & @1 faWTeTA
(@) 3MfIPR Td IR IR
31T
(31) =a¥er &1 g
(@) 3rgem @1 g

Explain the principles given by Hanery Feyol.
A. Division of Work
B. Rights and Responsibilities



OR
A. Principle of order
B. Principle of discipline

21. S & IR TP Bl DI T DY |
Jrerdr
Se¥l §RT Uee H AR Bl 89 dTel AR ATl BT duiF DIy |

Explain any four subsidiary functions of management.
OR
Describe four advantages of organization in management by objectives.

22. TAUUTH Use & Bls IR BRI T BT |
Jrerdr

fasmue & fe=s! IR A" &1 9o B |

Explain any four functions of marketing management.
OR
Describe any four mediums of advertisement.

23. JYFATUROT BT AR FIaRIERT &) bl g7 AdI JMaIIHATSN Hl W
HIFTY |
3rerdT

b Fhal -Idl & 77 0N Dl W HIFY |
(1) IH @Ry

(@) BT g

Explain any two human needs of Maslow’s theory of motivation.
OR
Explain the following qualities of a successful leader.
A. Sound health
B. Sharp intelligence.

Qg — ©
SECTION - D
U9 GEIT 24 W 25 db YA b SR SIS : 2X5=10

24, 94T o 39 U AT 2 fIshl 9™ & ford =muiRal &1 e iid &3 2q
MY BN fAfdy Sro=miT? gema Ty |

31eqdT
Ud Ay ydad & $9 # 3MY fawl 9™ B fA=ms & dia—a | ArgH
IO AR |

Assume you are a manufacturer Which of the sales promotion methods would you adopt to



25.

attract the traders Give suggestios.
OR

As a sales manager which of the medium of advertisement would you like to use to
increase the sales?

IR SRIH AMAT @ AR Yae & AP ISIRGIIE Bl AT & [dbrd
b Wl DI AHSEY |

RG]
UH UdeIh & BT H AMEINTG SciRaled bl Fdi- [aeROT & YIH g Wkl

BT AHST |

Explain the levels of development of the spirit of social reasonability of management
according to R. Josef Monson

OR
As a manager, explain first two levels of the new concept of social responsibility
grg — J
Section - E
TYT HEAT 26 | 28 TP Y @ STR NI 150 Isal H R
IBECINCRES] 3X6=18
26. Y& I 3MY RIT FHSIA 2 7 sHP! B fAQwamen &1 9ui= Sy |
34T
Il gRT Y&y @1 fhes! © : ARl &1 avi| SIfog |
3T

JAFUROT DI YR B U §HD HE DI Ui BHISTY |

What do you man by managemetn ? Explain any six characteristics of management.

OR

Describe any six limitation of management by objectives.
OR

Define motivation and describe its importance.

27. BT IARFIH 2013 B dd AR AMTe SakeRd & forw fdu 7w
UTaer=l &1 fademr Hifvrg |

AT

o O w7 Iy § 9T T & aiioTe Scvglcd bl AHESU |
JreydT

MRS SR IR dI A9 TR DI JHSST |

Discuses the provisions made for corporate social responsibility under the companies

Act 2013
OR

Explain the new concept of social responsibility.
OR
What is means by the corporation and understand the social responsibility of the

corporation



o

28. f =1 &7 IH=ISU —

(1) Sfre= <
(@) R I
(|) AHISTS T
T
I & & DI [ARga fAa=aHr Bifog |
312rar

AR & FHINS IRk &l &1 f[9egd faa=mm sifsg ?

Explain the Following.

(A) Life Insurance
(B) Fire Insurance
(C) Social Insurance
OR
Discuss the Insurance sector in detail ?

OR
Describe the social responsibility of the business in detail.
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AGRICULTURAL BIOLOGY
| 3Y4 HUe qUId 56

ghETefa’ & fore wrEr=r AT —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Rl Tdged g9 U 93 W AMiP Afari: ford |

Candidate mast write first his/her Roll No. on the question paper
compulsorily.

2. T g PR Sifard R
All the questions are compulasory.

3. U Ue B SR 41 T8 SR gRaa 3 & fod |
Write the answer to each question in the given answer book only.

4. f5 yeAl # oaR® @ue § B9 9 3 SR o A & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

5. U9 U3 B 3=l 9 iUl ST # f6f yeR @ Fe/ orar/ ks a9 R 2=
AT P U BT F& A |

If there is any error/difference/contradiction in Hindi & English version of the

question paper, the question of the Hindi version should be treated valid.
6. U¥ &1 SR for@ | qd U &7 HHIS a9y ford |

Write down the serial number of the question before attempting it.

7. U BT IR AR 2 |
Weightage of marks for the question is as follows.

D | UAD

a9 | U
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wus—(E) 22 to 23 2 4 8







S g fasm
(@vs 3)

SECTION-A
g1 97 4 79 qgagaIE 5o & Fww gav gliaer 4 fare—

Write the the answer to the given multiple choice questions in the answer book.

1 (i) SIGIMOTA BT YHR FSRT [OREET &7 F@& 2n-1 81 O 2|
() Tep=IRLAAT (@) fermgpare
(‘T)@ﬂ@?ﬁﬂ (=) feerfergr

Type of Aneuploidy in which chromosome no is 2n-1.

(A) Monosomy (B) Nullisomy
(C) Trisomy (D) Tetrasomy
1 (i) IRT H UIGY S S ARV &g BT AW § ?
(%) ICAR (@) IBPGR
(f1) NBPGR (=) IARI
Name of plant Germplasm conservation Centre in India is.
(A) ICAR (B IBPGR
(C) NBPGR (D) IARI
1 (i) <\ 5 07 &7 A © 7
(@) Smeifeey (@) BIfersieT
WRSIESIEA (&) ST
Termite is member of which order.
(A) Arthoptera (B) Coleoptera
(C) Lepidoptera (D) Isoptera

1 (iv) TTH—UTE! (G+ve) STATY] BT SISV &l & —

(@) Ferdidaes (@) MR
WASERIL RIS (&) R
Not a Example of Gram Positive (G+ve) Bacteria.
(A) Clavibacter (B) Streptomyces
(C) Xanthomonas (D) Bacillus
§ () T BT A0 AT e BRI BN & 7
(@) PaP (@) Sfrarg
() WTgEIATSHT (CIRERIL
Smut disease of wheat is caused by-
(A) Fungus (B) Bacteria
(C) Phytoplasma (D) Virus
1 (vi) 1 % & “f mE ®°
(@) wuiRa (z) Teget
(7T) FBIART (@) credrsHt
Which fungus among these is called “Mitra fungus”
(A) Fusarium (B) Albugo

(C) Cercospora (D Tricoderma



1 (vii) BTell A AW F ST S aTell ASell 8 —
(®) Fearyg (@) e
() #ETiR (|1) e
Whick one of these is known by ‘Black Rohu’
(A) Calbasu (B) Mrigala
(C) Mahseer (D Catla
1 (vm) chrn TG @) IRl bl 4T AW foar T 8 ?
(@) e (@) 39d wIf
() b mﬁf (@) gRa it
Increase in fish Production is known as.
(A) Blue Revolution (B) White Revolution
(C) Yellow Revolution (D Green Revolution
1 (|x) FATSSH BT B § ?
() drgor (@) Prag frator
(M) Fves CIEESIER]
Function of Clitellum is .
(A) Nutrition (B) Cocoon Formation
(C) Fertilization (D excretion
1 (x) Sl BT IR de7 8Iar © ?
() 36 Tosl # (@) 24 oS} H
() 33 woel # (@) 35 Toel #
Body of leech is divided into -
(A) 36 Segments (B) 24 Segments
(C) 33 Segments (D 35 Segments

9T G702 W 08 TF P IOV VP IK,/VE YT F &/

Write the answer from the Questions 2 to 8 in one word/one line.

¥, 2 &% B! B TIfad B drel Bl U P &1 9 falRey ?
Write the name of any inseet which affect the kharif crop ?

9. 3 UBIY U1 B STAN fbg dle & = § derae 2| (bl vh =)
Light trap is used for which Insect control ? (Name any one)

g. 4 o9 =0T &1 aR¥ia fooi |

Define the term Biological Control ?

7. 5 fIU] & IS QAART BT T FEd & 7
Write down the name of Protein covering of the virus ?

Y. 6 DIPA &I TRT MM 18V 7
Write down the full form of DIPA ?

Y. 7 THhoRIGRT ITAHIT e dad gRT 9ok | 89 dTel 4T 6T A9 9d130 |
Write the name of disease caused by sclerospora graminicula in Bajra.

9. 8 dTGIR BT JGRIMAS MR & TS T A forReay

Causal agent of Downy mildew of bajra ?




o7 G&gT 09 W 11 G @ 79 T RFT w7 &7 S¥ gleadr 7 1/

Write the answer from the Questions 9 to 11 Fill in the blanks in the given answer book.

T. 9 eSS BT IRR oo I # 9T BT 2| 1
Grasshoppe body is divided in ...........cceunnens segments .
9. 10 URHRE T T AT Bl oo BT WROIET 2 | 1
Ascaris is maing found in .........cccceeue. of human as parasite.
U. 11 98l & oo 7 e geR ATAT H BT 7 | 1

SECTION-B

9. 12 UIQY UG @ Bl & Il bl FH8Y | 1+1=2
Explain any two objectives of plant breeding.

. 13 IO Ul UTl &1 & folg Uie & g 9WT &7 Haeld foar SIram & | &7 SaTexor SR |

1+1=2

Give two example of plant part from which culture haploid plant is obtain.

U. 14 BRI §RT Bl Bl Fa(Sh JHAr (b kg H BIAT & ? BRI DI VS 8WI dexdler”
FI Fed § ? 2
In which reason, the maximum loss to the crops by red hairy caterpillar is occurred ? Why
so is it called red hairy Caterpillar ?

9. 15 dic FF0T gq ®Is oI Hifae el &1 |9ssy | 2

Explain any two physical methods of insect control .

(@vs 9§)

SECTION-C

U. 16 Fha oIc bl IBAM & AYfId Ul Bl o DI | 3
Describe the management and control of white grub.
3AdT
BHIART DI AHAH & TG IR BT g0 HIFY |

Describe the management and control of red hairy Caterpillar.

. 17 STATY] BIRIGT &1 Aifdhd f&rF a98d | 39 oI o7 forRay | 3

Draw a labelled Diagram of Bacteria cell write its two characteristics.
3AdT
furoy @1 AMEifha fRrE a8y | $we &1 o7 forfau |

Draw a labelled Diagram of Virus. write its two characteristics.

Y. 18 AYHAFE! B Y H He<d [olfEy | 3
Write Importance of Honey bee in Agriculture.
3A4dT
®YY B B § Hewd oIy |

Write Importance of Earthworm in Agriculture.



. 19 XIg, Aol BT ALl M fIRay | s Arr=g SeToll $l HHeisy | 3
rerdr
BT HOAT BT ISP AT I8V | SHD ATHRI F&I0N Bl AHSY |

(Fvs T)

SECTION-D

g. 20 fege & Sfiad g% &1 A 9oi= STy | 1+3=4

Describe life cycle of Grasshopper with diagram.
31T
fees & =l 9 J@mil &1 |fE aui| Sifog |

Describe any three mouth parts of Grasshopper with diagram.

g. 21 HIRTGT Fae= @1 fafy &1 Afers F9ssy | 1+3=4

Explain Procedure of cell culture with diagram.
AT
IRIT Hael= &1 [ &1 | |9ssy |

Explain Procedure of pollen culture with diagram.

(@vs 3)

SECTION-E

¥. 22 SAREIT g IARIoT ®f IRIIT ST | SR & UHRI BT 9o DI |
1+1+1+1=4
Define mutation and mutagens. Describe the types of mulation.
3T
BT B IRATYT Td 32 forRay | HHROT & USRI BT quid HIfoTg |
Write defination and objectives of bridization. Describe the types of hybrdization.
3AdT
SHAG RV DI YRATNT DY | T FReA0 HI Al &1 F91sy |

Define germ-plasm conservation. Describe different methods of germ-plasm consercation.

9. 23 "5 P T AT 907 fhe IMT" & AU, IS Ud Y= BT quie DIy |
1%2+1+12=4
Describe the symptoms, pathogen and management of "Brown or leaf Rust of Wheat"
3T
"I B DB [T’ B AT, IFTSTD Yd UG BT qUI DI |
Describe the symptoms, pathogen and management of "Citrus Canker"
3A4dT
“§R BT BISAT AT’ & AT, IS Td U= BT quiF HIFTY |

Describe the symptoms, pathogen and management of "Powdery Mildew of Ber"
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el @ forg M fAde —

GENERAL INSTRUCTION TO THE EXAMINEES:

1. Wemeft FdgH U9 939 99 W) TMie Afaria: o |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. G UT H SifNErt 2|

All the questions are compulasory.

3. T Ue P SR &) T8 SR gRasr § & fored |

Write the answer to each question in the given answer- book only.

4. f5F weAi # 3aRe wve & 39 9t © SR U 9T &) ford |

For questions having more than one part, the answer to those parts are to be written
together in continuity.

5. 9% U3 & 3=l W Sl wumRyr # 5 geRr @t FRe /MR / foReme g ) R=d
ST B W BT FE 7 |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.

6. U¥ & SR for@y | qd U &7 AP aey ford |
Write down the serial number of the question before attempting it.

7. Uel &1 JFIR FFETTER B
Weightage of marks for the question is as follows.

LELS] o T 3P AP YT | ol Jdh YR
Tug—31(A) 1(itox), 2 to11=20 1 20
wus—d(B) 12to 15=4 2 8
gue—(C) 16 to 19 =4 3 12
gug—<(D) 20to 21=2 4 8
wue—Y(E) 22to 23=2 4 8




Hus 3
Section A

1. T A T Ul § SR o7 98 A a9 R Sk R ¥ forfeyg |
Write the answer of the following given multiple choice questions in the answer
book.

(i) argAvsd (RTET®) 3 w9 AP gfcreraar skt § —
@) Fsgod (@) Prae SERifdass (|) Saary  (]) sifeie (1)

Which of the following has highest percentage in atmosphere (quantitative)-
(A) Nitrogen (B) Carbondioxide (C) Watervapours (D) Oxygen

(i) 9a1 9 Share veRf & 999 &9 § —
(37) B U (§) I Td o=y () DA o g (]) T W BIg TSI (1)

What is the main source of organic matter in soil ?
(A) Only Plants (B) Plants and Animals (C) Only animals (D) None of these

(iii) pH Td poH &1 AT |9 BT & —
@) 10 @) 14 (a) s ) 12 (1)

Sum of pH and poH is always -
(A)10 (B) 14 (C)8 (D) 12

(iv) i et &1 pH o9 g & —
@) 79 P9 (@) 85 (W) 85 ¥ 10 (]) SWIaT # | DIy &l (1)

pH Value of acidic soil is -
(A)Lessthan 7 (B) 8.5 (C) 8.5t010.00 (D) None of these

(V)  ciferer O Too P 59 U § ST &R § -
(@) NH; @) N, (@) Nvos () No; (1)

Which form of nitrogen is absorbed by most of the plants -
(A) NH, (B) N, (C) no; (D) NO,

(vi) <ifeTw Agge SRS &1 JaT W 919 gsal & —
@) e @) st (@) SN () BIE el (1)

Effect of Sodium nitrate fertilizer on the soil is -
(A) Alkaline (B) Acidie (C) Neutral (D) None

(vii) =1 ¥ ¥ P Neiovgs T8 § —
(@1) verd @) TS HIoH @) TR (]) degdret (1)

Which of the following is not a Polysaccharide -



(A) Starch  (B) Glycogen (C) Maltose (D) Cellulose

(Viii) TSI BT ST B A B F DA & —
(@) g @) i @) W (Q) uH

For which crop Azolla is used -
(A) Wheat (B)Barleg (C)Maize (D) Paddy

(iX) T &1 9Bg T 59 SR AT 8 —
@) dfeamm @) A (@) FORE  (]) A

Reason for the white colour of the milk is -
(A) Calcium (B) Carotene (C) Phosphorous (D) Caesin

(X)  su H SuRerd o¥T & <YAaH AT BT Ui § —
(@) 5.0 @) 25 (a) 3.0 () 8.0

The percentage of minimum quantity of fat persent in the milk is -
(A)5.0 (B) 2.5 (©)3.0 (D) 8.0

U G&T 2 9 8 P YAl b SR U Ufdad & A —

Q.No.2-8 Answer the following questions in one line:

2. 9&1 # 319 YRl &I I o= gar & ?
What is the volume of soild substances in soil ?
3. TS BT IERAE G flag |
Write chemical formula of glucose ?
4. pH v o far ?
Who founded word PH ?
5. S o 77 ® ?
What is buffering ?
6. Ul § BBHRY B HH BT Ud aavr faRay ?
Write one symptoms of phosphorus deficiency in plants ?
7. RivTer YR e SRS &1 TS g7 fofayg ?
Write the chemical formula of single super phosphote ?
8. PIETEgSCH B uR9RT FIRTY ?
Define Carbohydrates.
ge 9 9§ 11 d Raa wFl & gid o) Scr—gfaar # fafag -

Fill in the Blanks of questions No. 9 to 11 in the given answer book.

9. e & AT ST oo D 3 |
What is the required ........ccccceeevvveeeiiviieenens temperature for decomposition .

10. ST Y T A G H o AT & ST B
Rice is affected by ......cccvvveeeeeennn. disease due to zinc deficiency .

11. SAILA. SRD H oo 191 Fs 4 1< N ATSEISTT AT oo IS BRBRE T
ST B |

(1)

(1)

DAP fertilizer has .................... percentage nitrogen and ..................... percentage phosphorus.



Yus q

Section-B

12. 9a1 UR=BfReT &1 THifea fE s15d | 2
Draw a Labelled diagram of soil profile .

13. Bl § YT & HH & DIy IR A& fafay | 2
Write any four symptoms of potassium deficiency in crops.

14. IAFTH Hebe SRS o gaT A AfAferar fafag | 2
Write reaction of ammonium sulphate fertilizer in the soil.

15. 9t faerg faerfm o fdra feweht foRag | 2

Werite short notes on water soluble vitamin .

Tos |
Section-C

16. STEIeT TSR BT Ha&T J[OTET Tl Savdl IR Y1 HT G0 HIFTG | 3
AT
?Tgﬁﬁﬁfﬂ(Symbiosis)W%?mmﬁ”ﬂTWﬁWﬁﬁQﬂm%?
Explain effect of organic matter on quality and fertility of soil.
or
What is symbiosis ? How Symbiotic bacteria fix nitrogen in soil ?
17. 9&T &I 1.g9. DI TAIAd B 9Tl {68 9 SR S1 T BT | 3
AT
7a1 affsear a1 aRvia HIfTg | sHeT Y (W) F w1 78 B ?
Describe any three factors which affect PH of soil.
or
Define soil reaction . what is its importance in Agriculture (farming) ?

18. Wfha orern wd faffeg arrar & fadis @I | ol H&T 71 @ @I IR SR
ferfag | 3
aferar
T 4 FPR=R gRAT SRS & STANT § T Y919 ISl 2 | 9 TPR & I3l T oA
T YT GUIRS &1 M ey e aiievil gRT S9sisy |

Distinguish between active acidity and exchange acidity. Write any four causes of formation of
acidic soil.
or
What is the effect of continuous use of Urea fertilizer in soil. write the name of amendment used
for reclaim such type of soils and explain it by chemical reactions.
19. NT-SRF R T & <5 SUaR 31 Ay fakag | 3
S
FHierRe M B A B T |

Write the method of seed treatment of green gram by bio-fertilizer.
or
Explain the method of preparation of vermicompost.



Trs q
Section-D

20. AT H&T T BRA B ? P H&T 11 & 9T DR 8 ? DT D GIRT off
|HaT 87 4
AT
UTSNIZSH 7 § ? I8 &R gamell & GuR § $Y WSS © 7
What is acidic soil ? what is the cause of the formation of acidic soil ? How can be, reclamed or
recycled ?

or
What is Pyrites ? How is helpful in reclaming sodic soils ?

21. @R & ifds o &1 9o HIRvTY | e T daeMier SR @ fF a1sd | 4
ferar
Ridfed g 9 el (FE) gU A IR W HIfog | waiferd feee (F9) Td dfe iR
&1 R T8 |

Describe physical properties of colostrum. Draw a diagram of Lactometer and Lactometer Jar.

or
Differentiate between synthetic milk and pure milk. Draw a diagram of automatic measure and
Lock stopper.

s g

Section-E

22. ToTgH § MU T GEE ¥ ? UongAl @ U oM, R R w9 Sumfar @ quiH
PIfoTg? 4
AT
fafis & My w1 e ® ? 3o Tfiexr U9 Gifde wrEl @1 avie AR |
What do you mean by enzymes ? Describe properties, mechanism and utility of enzymes.
or
What do you mean by Lipids ? Describe its classification and biological functions.

23. Sifd® @E U4 SRl A @5 IR 3 faRay | 4
3T
SO U9 Tollcidder Sid Savdl d Pl IR IR fIRay |
Write any four differences between organic manures and fertilizers.

or
Write any four differences between Rhizobium and Azotobector biofertilizers.
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qAfos fasme

PHYSICS
H9L: 3% U quIie 56

el & forg 9= fader —

GENERAL INSTRUCTION TO THE EXAMINEES:
1. Temeft gduerm U9 Y 9o W AHih Sifvaria: ford |

Candidate must write first his/her Roll No. on the question paper
compulsorily.
2. 941 ge o erfard ® |
All the questions are compulasory.
3. 9 Ul BT IR 41 TS IR GRADT H B ford |
Write the answer to all questions in the given answer book only.
4. T3 el # T<IR® WUS & I F9 & IR Y AT & ford |
For questions having more than one part, the answers to those parts are to
be written together in continuity.
5. U UF & fa=l 9 3ol ®uR # fdl UeR &1 Ffe/ ok / fRemT g9 &R 2=
AYT & U DI el A |
If there is any error/difference/contradiction in Hindi & English version of
the question paper, the question of the Hindi version should be treated valid.
6. U T IR fola ¥ Ud U &1 HHId a ford |
Write down the serial number of the question before attempting it.
7. YTl BT FHIR AR B |
Weightage of marks for the question is as follows.

gus—3i(A) 1(itox), 2 toll 20 1 20
gus—d(B) 12 to 15 4 2 8
ue—(C) 16 to 19 4 3 12
gueg—<g(D) 20to 21 2 4 8
gus—4(E) 22to 23 2 4 8

7. U HHP 16 W 23 H AAR® ey g/
There are internal choices in Question Nos. 16 to 23




yug U
Section -A
1.(i)-(x) IBfIHe el & FEI fdded B TI9 PR IR &l T Ik gRAadT 4 oty |

Choose the Correct answer from multiple choice and write in given answer book.

(i) 3TIeT BT AT B

(1) getta (@) dree

(%) v () =g

Unit of charge is 1
(A) Coulomb (B) Volt

(C) Ampere (D) Newton

(i) form # T BT UfeREIa &1 A 22X1050 + 5% © | GRS & A Ioid &l 71

" —eOMP—
o 1 & e
(3F) drem (8) Pret
(%) T () et
In given diagram, value of carbon resistor is 22X10°Q + 5%. color of second ring of resistor will be
1
—<))))) —
AAEX
Red ? Green Golden

(A) Yellow (B) Black
(C) White (D) Red
(iii) FeverM faega qen gridad @ 7ed WY Bl {69 d9e o udr Smr?
(31) o=t @) IRES
@) =T () smgc
First of all, which scientist find out the relation between electric and magnetism is? 1
(A) Lorentz (B) Orested
(C) Newton (D) Einstein
(iv) 9ot & gHESHIT gal R ART BT ST AF BT 2 |
(a1) 90° ({) 60°
(@) 0° (z) 180°
Value of dip angle at earth's magnetic pole is . 1
(A) 90° (B) 60°

(C) 0° (D) 180°



(v) 3rgTer Rerfar # dleedr T ORT H FHATR@ &1 A BT 2 |
(a7) 90° @) 0°

(w) 180° (3) 45°

In resonance position, the phase angle between voltage and current is

(A) 90° (B) 0°

(C) 180° (D) 45°

(vi) g @1 wIfdd (P) @ wivd g (f) H |y 8

(a1) P=1/f (@) P=1/2f

(\) P=f (@) P=1/3f
Relation between power of lens (P) and focal length (f) is
(A) P=1/f (B) P=1/2f
(C) p=f (D) P=1/3f
(vii) TSI BT gabrer g FHiamRoT 2 |

(@) hv = 2mV2 max + 0, @) E =my?
@) F = ma @) hv = %sz max — Qg

Photo electric equation of Einstein is

(A) hv= %mV2 max + @, (B) E = %mv2

(C) F=ma (D) hv = %sz max — @,

(viii) oA A | gfg B R AE 9 Gt s il aRafia 7@ el 2
(o1) wemr (8) s

() derolt (@) g

On increasing the mass number which of the nuclear properties is not changed
(A) Mass (B) Volume

(C) Binding energy (D) Density

(i) TRAT 19 WR A9 g dTeaid 8Id 8

(1) srforarer® (@) weiaras

(¥) BaTe® (@) =D

At absolute zero temperature, intrinsic semiconductor is
(A) Superconductor (B) Semiconductor
(C) Insulator (D) Conductor

(x) =1 % | IR fafesRor @ a9 Qe =gEa Bl ®
(e1) X~ (@) B—fenvor
Y=

fapvor
() y—fabeoi @) a —faof



10

11

Which radiation has least wavelength 1
(A) X-rays (B) p -rays

(C) y-rays (D) «a -rays

=7 go=t & OV P Glea § § — (997 BB 02 W 08 TP)

Give the answer of the following Question in one line (Q. No. 02 to 08)

fa=g eraer & forg faga &= Y] iR |

Draw the electric field lines for positive point charge. 1
fox@i®m a1 fgda g fofeay |

Write the Kirchhoff's second law. 1
1T Aae & | foRkag |

Write the Biot-Savart's law. 1
FEHd D o1y TS &1 e falay |

Write the Gauss's law for magnetism. 1
TG & faac | My Far FHSd 27

What do you understand by diffraction of light? 1
Jeelt Smghy BT ARWIRAT R |

Define the threshold frequency. 1

OR ER &I Iga AR g0

Make truth table of OR gate. 1

A3 - g7 T 9 & 11 & Fr%, gawyleadr 4 e/

Note : Write answers of questions no. 9 to 11 in answer book.

IR &3 &1 e FHAa I8 & T B Il © |

The direction of electric field isalways ...............cooviiiiint. on equipotential surface. 1
R 9 B ATAR AJGREDHI U&TA B GBI YGRT TRH AT B o BTl © |
According to curie's law, magnetic susceptibility of paramagnetic material is.............................
absolute temperature. 1
R graaii et & WoRor F R 89 T8 GE 85 T QIR D SN
In propagation of electromagnetic waves, electric field and magnetic fieldare .............................

each other. 1

Yvs— §



12

13

14

15

16

17

Section - B

Udh JITac RT 9RUeT § dieedl V=50 Sin(314t + @) dlee & o ST X

N Vims
(i) gl dieedn &I gl

The voltege in an ac circuit is V=50 Sin(314t + &) volt then find out.
(i) Vims
(i) Frequency of ac voltage

1+1=2
10000 V & faaraR & <IRd Soide™ I Feg g avilaed Siid HIfY |
Find out the wavelength of an electron accelerated by a potential difference of 10000 V. 2
AR ) B e R ST |
Draw labelled diagram of Nuclear reactor. 2

T AT ATl ORI # SIS I 10V TAT <[ATH MM 2V 7 Al Hige Jadih
ST Y|

The maximum and minimum amplitude for an amplitude modulated wave are 10V and 2V respectively.
Calculate the modulation index. 2

Ygvs— 9

Section -C

favaaTdl &1 \erar ¥ & urafie ddl & fIg[d argd 9al & g & Aol U DI |
ATIegD gRYY 2 g18U |

31erar
faqaard &) Teradr 9 fad) waffe I &1 aRe UfaRIY Sd BT BT Aoid UTd
PINTY | MaeTH TRUY e g9137 |

Derive a expression for obtaining comparison of emf of two primary cell's with the help of

potentiometer. Draw necessary circuit diagram. 2+1=3
or

Derive expression for obtaining internal resistance of a primary cell with the help of potentiometer.

Draw necessary circuit diagram. 2+1=3

fFreffad Hosel aRF f6d HEd € ? sH@ Aifed o a9y | g @i & armmd
@ {oscll H Yaled gRT HUsell H I~ [d& & AU sl & |

AT
gcH Blocol BUSierl By ®ad 2?7 oawdd o 9918y | g IR & 2 Blecsl FHosel
H U< U AN RO 8 B A TS HUSHl §RT 5D D U I~ GBI &5 Pl
1432 T[T BT B |
What is suspended coil galvanometer? Draw labelled diagram of it. Prove that current flowing in the coil
of galvanometer is directly proportional to the deflection in the coil. 1+1+1=3




18

19

or

What is Helmholtz coil ? Draw necessary diagram. Also prove that the value of a uniform magnetic field

obtained in the Helmholtz coil is 1.432 times the magnetic field generated by each coil at its centre.
1+1+1=3

T Bl SMGRT B T TN B AR 2:1 AU H © | ARTBROT &3 § HAI & Fe<H d <A

JATATAT AT AT BT IATUT S DI |

SREIHE

el fcranvor AT | | dorr 41 AEareli & &1 Al BT SuANT fhar w2 S fdgell
AT AT BIRTY, STBI W AR HRAT g5 QN AT & Hed HAKR & —

@) < @

2

For two waves of same frequency the ratio of amplitude is 2:1. Find out maximum and minimum ratio of
amplitude and intensities of vibrations within interfering region. 1-+1-=3

or
In an experiment for interference two sources of intensities | and 41 are used. Find out the intensities at
those point where the phase difference between the waves from two sources interfering each other is

A

1 1 _
(A) Zero (B) > 1-+1-=3

TSSO WRATY &I IR AT BT TA W@ & [Ty AT BT 719 4861 A° & T 39 801 &l
Arefl NET & aRITeEd DI ITOHET B |

SR

A TSSO WRATY] & WagH H drsad 2ol &1 UM @l &1 diTeed 1215 A° & aT R
goft &) fgdig Y@ &) a)reed sa SR |

For hydrogen atom the wave length for second line in Balmer series is 4861 A°. Find out the wave length
of 4™ line in this series. 3

or

If in the spectrum of hydrogen atom the wave length of first line in Lyman series is 1215A°. Find out the
wave length of second line of Balmer series. 3



Yus—q

Section -D
20 SWIfsS YR fa=ard # WA it NPN TifSTRer & S1f¥reTetfore 9 9t o+ & forw
U gaven &7 uRuey s 9915y | fHaeh e1ficrerfore I a9Tey STd! AT HIfTT |

AT

P-N Sf& SRt & 310 AT Uz AT ARIATEANE ash U B o MMaeddh Ui
AR HT GRYT oA g8 | AT OTd Ish I9ThR SHD] AT HIfTY |

Draw the circuit diagram of practical arrangement for obtain characteristic curve for a NPN transistor in
common base configuration. Draw and explain its input characteristic curve. 1+1+2=4

or

Draw the circuit diagram of practical arrangement for obtain characteristic curve for forward and reverse
biased P-N junction diode. Draw and explain its characteristic curve. 1+1+2=4

21 |ERY GGG &F H oA Rl 97 B ve H URT fAgd a18® g1 BT @oid oy |

TS ford I918U |

SRl

TH  L-R 9RUY BT V = V, Sinwt JTE! ST A ST TAT 8 | BoR IR ] el o
UfTamen &7 &oid foTRaU | 3Masd BHolR 3R g1V

Write an expression for induced emf in a conductor rod rotating in a uniform magnetic field. Draw
necessary diagram. 24+2=4

or

A L-R circuit is connected to an AC source V = V;, Sinwt Write an expression for impedance using
phasor diagram. Draw necessary phasor diagram. 2+2=4

@'UG§

Section -E

22 fa=pa feya &1 uRaiiva @iy |
g faga & aRU S9a srf Y@ R Red @ fag w aRomd faga &= @ daar @
STh T BT |

IS o I8y |

3rerat
Rer fagfaer & forg vifsw &1 M forfRed |

™Y AR ARMAT At ufcedl & BRI [T &= &1 dar &1 sl G~ DIy |
raegs o 918y |

3rerar
TR fhd Ped B |
FHRR USe HLTRF & gTRaAT BT @i Gaaw1 Iy |
MaeTH ford a1 |




Define electric dipole.

Derive an expression for intensity of electric field at an axial point of an electric dipole.

Draw necessary diagram. 1+2+1=4
or

Write gauss's law in electrostatics.

Derive an expression for electric field intensity due to an infinite uniformly charged infinite conducting

plate.

Draw necessary diagram. 1+2+1=4
or

What is a capacitor ?

Derive an expression of capacitance of the parallel plate capacitor.

Draw necessary diagram. 1+2+1=4

ML eTHdT BT IRITNT HIFY |

R WP %:(n—l)(Ri—Ri) e~ BT |
1 2
AMaTTdH forF 918U |
Jrerdr

BT TR & BT DI GRFIRT BIRTT |
AT fhel UfcRed I @’ & foly 377 fgRele 9T &1 = 99131 |
i< fiball @ forg b dies @ &S @l ART BT |
3AdT
BT B fAegor w1 aR9IRT SR |
TRl YHTer fhRoT & B & USH 9§ ok W 3ad Bl T arefl fhvor o 918y |
fUSH BIoT oI gAaH fdae™ DIV & Ul § A & AUaciicd Pl dold Sd bIfoTy

Define magnifying power.

Derive lens maker formula % =(n-1) (Ri — Ri)
1 2

Draw necessary diagram. 1+2+1=4
or

Define interference of light waves.

Draw a diagram of young's double slit experiment to produce interference fringe pattern.

Derive an expression of fringe width for bright fringes. 1+2+1=4
or

Define dispersion of light.

Draw a ray diagram for a monochromatic ray refracting from a glass prism.

Derive the expression for refractive index of glass in terms of prism angle and angle of minimum
deviation. 1+2+1=4
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CHEMISTRY
g 3Y, g QUi 56
el & faw 9= Ay —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. qeArell AU SO U UF WR AMHIG Afaria: ford |
Candidate mast write first his/her Roll No. on the question paper compulsorily.

2. T UeT PR Irfard B
All the questions are compulsory.

3. U U Pl IR ol Ts IR GRHT H & ford |
Write the answer to each question in the given answer book only.

4. Ryl # raRes @ve g 99 9l & SR Ud A1 & ford |
For questions having more than one part the answers to those parts are to be written together
in continuity.

5. 9% U3 & Rl W S wurRer # fH yaR @ Fe/ R/ R g9 w2

AT & U9 DI Fel A |

If there is any error/difference/contradiction in Hindi & English version of the question paper,
the question of the Hindi version should be treated valid.

6. U BT IR foRg= ¥ gd U &I HAID A9 ford |
Write down the serial number of the question before attempting it.

7. U9l BT IR TR 7 |
Weightage of marks for the question is as follows.

Gug EREISTC] gedl Bl | 3dh GADh | fHl b IR
Rt EESl
Tus—3i(A) 1(itox) 2toll 20 1 20
wus—4(B) 12 to 15 4 2 8
gus—(C) 16to 19 4 3 12
wus—<(D) 20to0 21 2 4 8
gus—I(E) 22 t0 23 2 4 8

7. U3 F. 16 ¥ 23 T AARP Aoy 2 |

Question No 16 to 23 have internal choice




T —1 i uel 3§ A T |98 e a1 999 o) SayRaer § fafey —

Write the answer of following multiple choice questions in the given answer book.

() 99 ge™ ¥ ¥l €9 BT I q9 —

(1) ear g1 (@) WeT 93T B |
(&) a9 R R T8 FRar B (@) a9 wR if¥re fR
The Vapour pressure of a liquid on increasing the temperature
(A) Decrease (B) regular increase
(c) not depend on temperature (D) partially depend on temperature
(i) ST =T 1 fRysror @ —
(31) FeO ©d Fe (OH)3 (@) FeO wd Fe (OH),
(d) FepO3 td Fe (OH)3 (%) Fe304 Td Fe (OH)3
Rust is a mixture of
(A) FeO and Fe (OH)3 (B) FeO and Fe (OH),
(C) FepO3 and Fe (OH)3 (D) Fe304 and Fe (OH)3
(iii) T v Pife IfAfhar &) ord 3N 69.3 s B, DT T ReR(® & —
@) 1072 1 @) 1074 s1
@) 1073 1 @) 1072 51
Half life of a first order reation is 69.3 s. It's rate constant is
(A) 1072 1 (B) 1074 51
(€) 1073 s1 (D) 1072 51
(v) 1 & 9 fraa! e d&am =gAad 8l § —
(@1 frercE @) 3fs o TeIH
() T Rfe® (@) wrd
Which of the following has minimum gold number
(A) Geletin (B) Albumin of egg
(C) gum arabic (D) starch
V) e & 3 feaaT s o) |diftie Bl & —
@) P @) N
(|) AS () Sb
Which of the following has maximum ionisation ethalpy -
(A) P (B) N
(c) AS (D) Sb
(vi) FeATgS Avft BT U AaR ST +4 SiTRAIBRT SraRerr gwfar € —
(@) Ce @) Lu
(9) Eu () Pm
Which element shows +4 oxidation state in lanthanoide series -
(A) Ce (B) Lu
(C) Eu (D) Pm
(vii) T8 — 15 § | YUUST H | Al H 9 S a1 I@ 7§ —
@) N @) As
@) P (?) Sb
In group -15 which element is most abundant in earth crust
(A) N (B) As
(N (D) Sb

(viii) ford o # |t Soragla gfva oraven & € —



(a1) Crt2 @) cut?

(@) cutl () Ni+2
In which ion all electrons are paired -
(A) Crt2 (B) cut2
©) cutl (D) Ni +2
(ix) for=Tifrd & 9 Swaed forite 8 —
(31) NOy~ @) C2042‘
(&) NHy" (@) CoHgN
Which of the following is embidentate ligand
(A) NOy~ (B) C2042'
(©) NHyp" (D) CoHgN

(x) CgH5 OH+ X+3KOH ——» CgHg (OH) CHO +3 Hy0 U&Tf X T AF & —

(31) w (@) FARIBIH
SIEIERCHEEINES SIORIRETINES
CgHsg OH + X+3KOH — CgHy (OH) CHO + 3 H»0 , name of Substance X' is -
(A) Methanal (B) Chloroform
(C) Carbon tetra chloride (D) ethanoyl Chloride

g7 2 @ 8 & TV TP Glag § forg —

Q. 2-8 Answer the following questions in one line :

. 2 Jferr a@ fhd Fed 2|
What is Superheavy elements.

. 3 fd @ & SifaaIse & SUANT §U & Il & forg Wi ol 991 =g fhar i 2 |
Which elements oxide is used to prepare coloured lense in sunglasses.

U 4 FARIEOIT A Sehiad U d) drell 3ifAfshar o1 A forlRau |

Write name of reaction from which the diphenyl obtained from chlorobenzene.

9. 5 39 U1 & AW 9agd Sl <hefed A GI & UBeT # fhar axa 9iTd FARIgS <l © |
Name the compound which react with toulene in sunlight and give benzyl chloride.

U. 6 p- fshdaTel BT IUPAC ATH foIlRaU |
Write IUPAC Name of p - cresol.

9. 7 AT T BIAT FARISS U ATRIBT A YT IUTE BT A foffey |
Write the name of product obtained from oxidation of phenol by chromil chloride.

.8 1,2 — SSFRdH & fhg SUfAA IHEId BT Toi-id g dai-id 3Afeih Bdr 8 |

Which geometrical isomer of 1,2 — dichloroethene have more melting and boiling point.

Vel

e : e 9 9 ¥ 1 & SR, STRYRaHr H R |

Note : Write answers of questions no. 9 to 11 in answer book.

. 9 fifed e SR § Rad e &1 gfid sifg |




CeHg OH+Zn ., +7Zn0

Fill in the blank in following chemical equation

CeHg OH+Zn — 3 +Zn0
U. 10 QAT 9 SR BT FHSI0T oo AH ¥ USTd & RIF IR ST fhAr ST

The mixture of ethanol & ether is named as .................. , it used in place of petrol.

9. 11 QIHISH 3Fd &1 foIforad Tgfifm gEsiss gRT STUadT 9 ... 9T B |

Weget ...cccevveeeeeennn. when ethanoic acid reduced by lithium aluminium hydride

Yvs — 9
U. 12 NapS04 ® fely Am @1 IUMT BT | Ayat=50.1 Scm2 moll TAT Agng? =160 S cm?
mol'l &
Calculate the Am for NaySOy4. The value of ANzt =50.1 Scm2 mol'l T2MAgns2 =160 S cm?2

mol-1-

9. 13 298 K WX 0.10 M KcI e @1 fafdre arae 00129 s cml € @1 AR ATaddl @l
AT HISTY |
The specific conductivity of 0.10 M KCl is 0.0129 S cm-1 at 298 K. calculate its molar

conductivity.

g. 14 (i) fifeed aHieRor | Afe X H 989 dR IUPAC &1 A fIfRag |
CH3 -Cl + AgCN— X+ AgCl

(i) CH3 -Cl @1 Petd R F1sd |
(i) 1dentify compound X in following chemical equation and give it's IUPAC name
CH3 -Cl + AgCN ——» X+ AgCl
(ii) Draw orbital diagram of CH3 -Cl
. 15 frafl gd gRel wu # R faIRag |
Write difference between threo and erythro form
gis — 9
U. 16 (i) SIH UfARrcd &l a9 &R g8 91d B &l g Ry |
(i) 3mreef faerad & a1 Serevr R |
37qdr
(i) STIAT UfTRIAar &I aR¥IRT &R 9 S & BT g3 forfey |




(i) 3FTeel faer s @ |1 Sarevvr €Iy |
(i) Define the mass percentage and write formula to determine the mass percentage.
(ii) Give two example's of ideal solution.
OR
(i) Define the volume percentage and write formula to determine the volume percentage.

(i) Give two example's of non ideal solution.

9. 17 (i) debio g BT HHI geldgie gy |
THH d9 P A6 3 fIRay |
(i) =1 Srarafees SRl @1 qut ST |

8 NH3+3Clhp— 5 Froere
NH3+3Clp — Foree
3T

(i) TS FHE & AHY Soidgla = ey | srilarse Ifeel &1 /s
g3 fafay |
(if) 1 AT TR0 BT guT DIy

3 Cu+8HNO3 (@) P e e

CU+4HNO3 (W) — P ceereeresreeeeeens Foitiiiiriiiraeae,

(i) Write the general electronic configuration of chalcogen group. Write the chemical formula of

epsom salt.
(i) complete the following chemical equation

8NH3+ 3Ch F o
NH3+ 3C|2 O o

(i) Write the general electrinic configuration of halogen group. Write the chemical fromula of

cryolite mineral.

(ii) Complete the following chemical equation

3Cu+ 8HNO3 (D) ——p woorrvvvrnon Frrrrrreeeessssseneeesssssnnns
Cu+ 4HNO3 (Conc) —— wrvvevrvees P
9. 18 (i) ferifdhd Hegel 1 IUPAC ATH forfRay —
(i) Feg[FeClgl3 (i) [Co(NH3)]6Cly

(i) [ CoFg] 3- Rl M @1 ST T feorsy gy |
3rerar
(i) fr=ifrd et &1 IUPAC = forRay |
(i) [Co(CO)g] (i) [Cu(Gly),]

(ii) [NiClg)2- %t o ol Safafe 1 fors aey |



(i) Write IUPAC name of following complexes
(i) FeglFeClglz (ii) [Co(NH3)]gCly
(ii) Draw the geometrical diagram of complex [CoFg]3-

OR

(i) Write IUPAC name of following complexes

(i) [ Co (CO)g] (ii) [ Cu (Gly)]

(ii) Draw the geometrical diagram of complex [ NiCI4]2‘

. 19 (i) IS AHIGROT | X9 Y UGT] Bl Uga dR IS g3 g A oy |
+H,0
CaCN + H5S04 . X Y

Ll

(ii) TSEII=I & HeT SR JTd S aTell SATG] AREHY I8¢

HAAT

(i) ST FHIBROT H X Y uerel @) yger o) R g3 9 7 I |

KMnOyg4 H+/H20
CH3-CHy -NHy —» X —» Y

(i) Tl @ Ml G URT FQRIiI U4Td G2 aTell TGl ARaHY 918y |
(i) Identify 'X" and 'Y' in given chemical eauation & give their formula and name.

+H20
CaCN + H»SOy4 » X > Y

(ii) Draw resonating structures of nitrobenzene which shows m- directing effect.
OR
(i) Identify 'X"' and 'Y' in given chemical equation & give their formula and name.
KMnO4  H'/H,0
CH3-CHp -NHy —» X —» Y
(ii) Draw resonating structures of aniline which shows ortho & para directing effect.
grs —3I
9. 20 (i) BT Divad G U BIRGHT § Gl HUl & Al foRay |
(i) DT Bi-ad THR GAAT H Aol Geral Sd DIy |

(iii) PTT Bf~ad T91T Thd BINSHT Bl 59 fhied STadd IRa-T 9137 |

arerar
(i) TR B Uoheh BISdT H Rt U Bl G=T foffey |
(i) ORe EFII Uheh BISdhT H Hehol qeal Sd ity |

(iii) TR BT Ubdh BISHT B 9d fehedd STl GRaT |

(i) Write total number of particles in body centered cubic unit cell.

(ii) Find out packing efficiency of body centered cubic unit cell.



(iii) Draw Brave's crystal lattice structure of body centered cubic unit cell.
OR

(i) Write total number of particles in simple cubic unit cell.

(ii) Find out packing efficiency of simple cubic unit cell.

(iii) Draw Brave's crystal lattice structure of simple cubic unit cell.

T. 21 (i) 59 T PIAgS BT URART B |
(ii) SISO g 3TeNyor § & ey forlkay |
(iii) I J(UTET BT AR = 18T |
arerar

(i) &9 fRIE drarss &1 aR¥INT Iy |
(ii)faera e IaTss # 31 R forRau |

(iii) fevsa yvrg &1 AHifeha fom 998U |

(i) Define the lyophillic colloids.
(ii) Write two differences between adsorption and absorption
(iii) Draw labelled diagram of electrical dialysis
OR
(i) Define the lyophobic colloids.
(ii) Write two differences between solution and colloide.

(iii) Draw labelled diagram of Tyndal effect.

gvs — %
9. 22 (i) M Bife &I AMfhar & forg a1 ReRies 3 S Iy |

(i) T g Bife 3ifAfshar & foTu a7 ReRid k&1 919 0.693 x10-14 s 1-gray 71 2 | 39
JAAhAT BT el MY BTt ST DI |

3feraT
(i) I PIfe AMATHAT & forg 7 ReRrids F o ST |

(i) T I BIfC IMWATHAT & o1y o1l Mg dIel AT BRI, STd g9 AMTHAT BT T
ReRi® k=3.7 X104 911 off -1 -1 81 Ud 3if¥pRe & URMRIS Aregdr 0.074 AT oiiey "1 8l

arerar
(i) U2 B SIMATHAT & I FHIBRUT W TG =T B DT G Fed~1 Doy |
(i) 92T DI AMAfHaT BT 3Ty HIaT 10 HHvS & | g9 997 ReRi®d @1 70T IR |

(i) Derive the formula of rate constant for first order reaction.

(ii) Calculate the half life of the first order reaction whose rate constant k is 0.693X10 -1451-



OR

(i) Derive the rate constant formula for zero order reaction.

(ii) Calculate the half life of zero order reaction whose rate constant k is 3.7 X10 “4molL'1s1-

and initial concentration of reactant is 0.074 mol L-1
OR
(i) Drive the half life period formula from rate equation for first order reaction

(i) Half life period for first order reaction is 10 sec. calculate the rate constant for the reaction.

9.23 (i) Aifa Srfafhar § xa v &1 1uPACHTH forRRau |

NaOH NaOH
CH3-CHO+Clp ——» X ———>» Y +HCOONa

(if) FRITDH 3T BT IUPAC AT TRy |
(i) TRIST® ot & fgatd &1 for 99180 |

rerar
(i) F=ifpa erfafdsar & xa v &1 1uPAC T foIfRaT |

H3N
CH3 MgBr+COp—p» X — 3 Y +COp+Ny

(ii) UfSfU® et &1 1UPAC ATH forRau |

(iii) PTATTST T DI AFATE] WA T8¢ |

37erdT
(i) fr=ifra srfafshar % xa v @71 IUPAC AT foTRauy |

Zn-Hg +HCl
CH3 CHCl, +2KOH > X > Y

(i) THAICfesgTSS BT IUPAC T fAIfRaT |
(iii) PTETTRACIC ORI @ 3TATGl WA I15Y |

(i) Write IUPAC name fo X and Y in following reaction

NaOH NaOH
CH3-CHO+Cly — X ——— Y +HCOONa

(ii) Write IUPAC name of succinic acid

(iii) Draw diagram of dimer of acetic acid



OR
(i) Write IUPAC name of X and Y in following reaction

H3N
CH3 MgBr+COp——» X ——3p Y+ CO2+Ny
(i) Write IUPAC name of adipic acid.

(iii) Draw resonance structures of carbonyl group
OR
(i) Write IUPAC name of X and Y in following reaction

Zn-Hg +HCl
CH3 CHCl, +2KOH > X > Y

(ii) write IUPAC name of acetaldehyde.

(iii) Draw resonance structures of carboxylate anion
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eial & forw 9= Ay —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. Tl FdueMm 199 U U UR Ak ifardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge o erfeard ® |

All the questions are compulsory.
3. U U BT IR &l g IR JRAdT 4§ &1 ford |
Write the answer to each question in the given answer book only.
4. F Ul H IR @ue 8 I I & IR Udh A1 o ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

5. 9% UF & 2=l WR UGl wurRl H fBAl bR o1 i /3R / fRem g wR Rl
AT & U Bl FEl AT |

If there is any error/difference/contradiction in Hindi & English version of the

guestion paper, the question of the Hindi version should be treated valid.

6. U9 B IR folka | Yd U9 &1 HHid 3aeg ford |
Write down the serial number of the question before attempting it.

7. UeHl &1 IR TR 7 |

Weightage of marks for the question is as follows.

=T
Tue—3(A) 1(itox), 2toll 20 1 20
wue—d(B) 12to 15 4 2 8
Tus—a(C) 16 to 19 4 3 12
gus—3(D) 20to 21 2 4 8
wug—(E) 22t0 23 2 4 8




Yue—3
SECTION-A

R T g & S B 9L Reed 799 & Sw-—gRaae § faw |
Write the answer of the following given multiple choice questions in the answer
book.

1. 9gddfodd UeT (Multiple Choice Questions) 1X10=10
(i) =1 % &1 fsr urey d uRrdl gRT H11Ad Jae= glar § 7
(&) v (a) TR =T
(@) XA GRIEE
Which of the following shows vegetative propogation by leaves -
(A) Asparagus (B) Bryophyllum
(C) Agave (D) Mint

(ii)wmmﬁﬁ:ra%@agé,ag%—

(o) Sfffa= (@) fTeaxfer

() germsfer SRIESEIERE]
The first plant hormone discoverd -

(A) Auxin (B) Gibberlin

(C) Ethylene (D) Cytokinin

(iii) a8® S TAT. B

(o) wTRoRS (@) c-DNA

(@) eI DNA () SR A
Vector DNA is -

(A) Plasmid (B) c-DNA

(C) Synthesized DNA (D) ALL of the above
(iv) 3wefi ey § —

(a1) 3TeTem (@) AdT=IT
GIRESIE (&) SWRIad T
Medicinal plant is-

(A) Ashvagandha (B) Sarpgandha
(C) Giloy (D) All of the above

(v) R BIRBY Herd & —
(ar) SrTET | (@) ©IST 3nd #



CESEINE

Kupffer cells are found in-
(A) Pancreas

(C) Large intestine

(vi) ITfhae gfewy wel urll Sl 2 2

(&) AT @ ARRISS H

@) &N & S H

Where Graafian follicles are found -
(A) In thyroid of Human

(C) In Ovary of Female

(B) Small intestine
(D) Liver

(@A & URee H
(z) g9 & guoT H

(B) In prostate of Human
(D) In Testes of Male

(vii) =R g # o3t @ A Bkl § —

(&r) 44 (@) 45

(W) 46 () 47

The number of chromosomes in turner syndrome is -

(A) 44 (B) 45

(C) 46 (D) 47

(viii) PTAT—IISTR T IU~ BT & —

(e1)uuesTIET fRecTaTgicd | (@) <fredfrr |
(@) feu=ram | () wioAISTH ¥

Kala Azar disease is caused by-
(A) Entamoeba histolytico

(C) Trypanosoma

(B) Leismania
(D) Plasmodium

(ix) S N TSI SIS AT F YT H wRIel @ ARIH ¥ MR 8l 8§ —

(&) 19 G @) g A
@) IgE (@) IgM
Which antibody is transferred from mother to embryo through placenta -
(A)1gG (B) lg A
C)IgE (D) IGM

(x) TS H Td YT USRIt ¥ fdhd- JAUST] a+d & —

()T
(w) 33

@)ar

(@ =R

How many ova are produced from one primary oocyte in oogenesis-

(A) One

(B) Two



(C) Eight
(D) Four



U G&IT 2 9 8 dP YAl b SR U Ufdd & ST — 1X7=7

Q.No.2-8 Answer the following questions in one line:

Q.2-

Q. 3-

Q.5-

Q.6-

Q.7-

Q.8-

uredl H fdgeTg & a1 98 HRY foiay —

Write two main causes of guttation in plants

7= # U guiel &1 sl w3 # urn ST AMa & R 9T BT AeTor 27

The Presence of high quantity of bile pigment in urine is a symptom of which disease
of Urine

Ife Heh & <SUI | &I ATSRIss UM g &) &1 9y df 39 Sild-
I Bl D9 A febar garfag grf ?

Which process of its life cycle will be affected if thyroid gland of frog's tadploe is
damaged ?

aredl H fgfoves o @i fead &1 o ?

Who discovered double fertilization in plants ?

S dom el & Rigra &1 9 fafRau |

Name of principle of Dixon and Jolly.

QST oIguT ST W 31T RIT THSA & 2

What do you understand by mineral salt absorption ?

JduH fhd T=IsH &1 Wil & g oY ?

Which enzyme was first to be discovered ?

e : ye F= 9 9 11 B SR, STRYRAWHT § AR

Note : Write answers of questions no. 9 to 11 in answer book.

Q.9-

Q. 10-

Q. 11-

Q. 12-

Q.13-

AT & G W BIARSH GRT TGS R BT oo yfcRell Ut il 2 |
New born baby received .................... antibody from colostrum of mother's milk.
THTT FLTTOT Bl SIS & |

................ unit of photosynthesis.

IAT DT TTTT OB oo =l
Respiratony Quotient of fats is .........ccccccveenene

Yus — ¢
SECTION-B

gl ¥ Ol WY & RISIRE 91 g G 997 § & J9Ed0 dTsy | 2

Write two similarities between symplast pathway and vacuolar pathway of entrance
of water in plants.

- dT BRT # IR sfaR forfRau | 2

Write four differences between artery and vein




Q. 14-

Q. 15-

Q. 16-

Q. 17-

Q. 18-

Q. 19-

YEPIY] & FHIURY TRE D bl MEHT B o TR = o b W fhar
g BT ? 2

Which activity of fertilization will be affected when proximal centriole of sperm is
inactivated. Explain with reason.

qwyl ¥ 5 M [AHR & BROT TURGAT B FEAT 44 + XXXY = 48 &
ST 87 S99 39 f[ABR & BROT fA@RY <1 gret A9 o1 forfay |

2
By which abnormal deformation the number of chromosomes becomes 44 + XXXY

=48 in man. Mention theree symptoms observed in them due to this deformation.
2

s — ¥
SECTION -C

DHIRTHTT YO &1 HAT BT AfIH i Iy | 1+2=3
AT
UTafUd dIoUs BT GIAT BT Fierd goie BTy |

Describe the structure of cellular endosperm with diagram.
OR
Describe the structure of the typical ovvle.

Afha AR I RIFRY RIga & IER uredl § 1 Tfa @ fhan
fafey FTHSIEY | Gl T &1 AHIGA forF 99187 | 3
SAdT
Tlgd fshaeR et o @1 fobar fafer wHsmey | woirgs @1 fobar fafer
&1 AT = 9918y |
Explain the mechanism of stomatal movements in plants by active potassium ion
transport theory. Draw a labelled diagram of open stomata.
OR
Explain the mode of formation of enxyme substrate complex. Draw a labelled
diagram of enxyme action.

AT argd @1 8 ? GAINTSl SLUA.Y. Welfrar | om aret fafr=r st

BT i guie BT | 3
3RAdT

ST TATHTIRUT &l ATghl g~o1d2= fafer &l JHssy |

What are cloning vetor ? Describe briefly the various vectors which are used in
recombinent DNA technology.

OR
Expalin the method of micro injection in gene transfer.

JIFDBIY] DI FREAT DT HfAH GU B | 3
ST

qId THIfT IR T 2 ? SADT fhd bR STAR {har ordr g |

Describe the structure of nephron
OR

What is emphysema? How it is treated?



Q. 20-

Q.21-

Q. 22-

Q. 23-

s — q

SECTION - D
A & AR S a1 B AMifhd & §918Y | 9T B GREA FHSSY a
TRl PIRBIRA b IR BRI fIRay | 1+3=4
J7qdT

Ry U1 &7 AMifhd =/ g9 g3 RISSUIBIRRTE §R1 SA1dd MM ®
ST ey |

Draw a labelled diagram of male reproductive system of human. Explain structute of
testes and write four functions of sertoli cells.

OR
Draw a labelled diagram of pituitary gland and write the functions of hormon
secreted by neurohypophysis.

JHABGITS Bl A TaReITel & R H Hfera faeror fafag |
3rerar
3fca =g feRor A |

Write brief about three phases of gametogenesis.
OR

[E=N

Describe the menstrual cycle.

s g
SECTION - E

foiT—dere deTfa & 3N o FHsTd & ? gunerar ud fRefferar I/ &
ed # 30 HHSEy | 4
3rerar
HUSA F U VAR H AR & b gaftis dAerol &I IRy & 1edg=
foparT, THEmEy |
3rerar

Avsd & fAfa= el & fovaR 9 99s8T |

What do you understand by sexlinked inheritance? Explain it with reference of
colourblindness and haemophilla.

OR
Which genetical characters of inheritence of pea were studied by mendel in his
experiments?

OR

Explain differents mendel's laws in details.

gfeReT a1 &1 gRareT foieay | s9a A= UaRI & Ay | 4
AT

IABTHD INT DId—hT T BId & 2 < N1 BT fOaR I gl ST |
3T

T T AT &7 el I HhTHD I BT IGTERUT THR §IhT guid BT |
Define the immune system. Explain its different types.
OR
Which are non-infectious disease ? Describe any two diseases in detail.
OR
What are in featious disease ? Explain any two infectious diseases by giving their



examples.
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el @ fow wmeg fade —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. TRIETST AduYM 3199 UIH UF WR Aid Afardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge o erfard 7|

All the questions are compulsory.
3. URUP U BT SR &l g IR JRA@T 4§ &1 ford |

Write the answer to each question in the given answer book only.
4. F Ul H aIR® @ue 8 I I & IR U A1 &1 ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
5 U UF & 2l UR UG WURT H il bR &1 FJfS /R / R 8le iR B
AT & U9 P FEI A |
If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.
6. U B IR folkad | Yd U & HHIh 37ay ford |
Write down the serial number of the question before attempting it.
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(CES] geq &l gl Bl | b YA | Rl D IR
A= g
Tus—3i(A) | 1(itox), 2toll 20 1 20
wue—d4(B) 12 t0 15 4 2 8
wue—4(C) 16 to 19 4 3 12
wus—5(D) 2010 21 2 4
wue—Y(E) 22 10 23 2 4




U U4
favg—gateror fagm
DET—12
Yurs—u
SECTION-A
1. fA M Fgdfous UeAl & SR &1 W8l Rdcd 997 IR SIR—YRaaar 7 forlRed —

Write the answer of following multiple choice questions in the given answer book. 1 X 10 =10
(i) argAYSS BT HaH A BT TR DIAAT © —

() STATRBIIR (b) SRR
() TR (d) grarsRR
Which is the lowest level of Atmosphere -

(@) lonosphere (b) Mesosphere
(c) Stratosphere (d) Troposphere
(ii) verafebRoll b fafeheor B gabrs & —

(a) SRt (b) ot

(c) = @) ¥

Unit of X rays radiation is -

(A) Decible (B) Roentgen
(C) Curie (D) Rad

(iii) =1 % & sFdiaxoia wefas darE g —

(a) @frot geref (b) =

(c) @ (d) STt
Which of the following is a Non-renewable Natural resourse.
(a) Minerals (b) Wind

(c) Forest (d)water

(iv) a=g Sitq (Exeron) e &g ] fhar Tar —

(@) 1972 (b) 1974

(c) 1980 (d) 2000

The wild life (Protection) Act was Implemented on

(@) 1972 (b) 1974

(c) 1980 (d) 2000

(V) gataRor (SReron) MfSfm &f fd=i aRmet & fawrfSra fear = 2
(a) 24 (b) 25

(c) 26 d) 27

The Environment (Protection)Act is divided into how many Sections.
(2) 24 (b) 25

(c) 26 (d) 27



(vi) ST SUFRCT &1 IO A 7 {579 199 &1 SUANT fbar SI7am & 98 © —

(@) TS
(c) TSI

OEESISS
(d) FIRE

Gas which is used in Disinfection method of water treatment

(a) oxygen
(c) Nitrogen

(b) Hydrogen
(d) Chlorine

(vii) TeroepT STraTerd &1 gReard b foTel 9 88 2

(b) <&
(d) A=are

In which district Chipko Movement was Started

(a) Haridwar
(c) Chamoli

(viii) ATTaSTT 3MUST BT SETERV T8l ©

(a) wrgwyoT
(c) Ty fawple

Not an example of man made disaster
(@) Pullution

(c) Nuclear Explosion

(ix) DIFTAT ST AATEIH BT SETERT 8 2

(a) 7T

(c) =g

Which is the example of biotic resource
(a) Soil

(c) Rock

(b) Deharadun
(d) Nanital

(b) Earth Quake
(d) Arson

(b) drer
(d) @f s

(b) Plants
(d) Minerals

(x) eftenfire Tfafafern & Sca= warT f= & 9 foas aftafera fear smar 8 —

(a) rraTei

() TRt

Wasre by Industrial activities included in
(a) Residential

(¢) Municipal

(b) AT
(d) sfrenfirara

(b) Institutional
(d) Industrial



U T 2 W 8 Oh Yl B SR S Ufed A DR —

Write the answer of following questions in one line. 1X7=7

Q.2 f=gl <1 8RT T8 i & Iarexer Ry ? —

Give any two examples of green house gases.

Q.3 Ugfd o & 89 arel &7 I & 9 faay —

Write two disease which are caused due to polluted water.

Q.4 T srefagaven &I gRIfg fhoiiv —

Define Green Economy.

Q.5 NAPCC &1 GRT =¥ ferigu—
Write full Form of NAPCC.

Q.6 AfGem # srgeee 48-A fha™y wafdd & ?

Article 48-A of constitution is related with.

Q.7 HfGET & TIeeT 51-A D T8 9RA @ ARG BT U ol DI THSSY

Explain Fundamental duty of citizen of India under Article 51-A of constitution

Q.8 I STeT TRETUT & U fafy &1 A7 forRay

Write one method of Rain water conservation

Ue W& 9 ¥ 11 # Raa WM & gif axa g StR—yRaar § fafey |

Fill in the Blanks of questions No. 9 to 11 in the given answer book.

1x3=3

Q.9 ARAVSA H DA oo THHE T U8 & o WR Silas 999 © |

................... is the only planet in solar system where life is possible.
Q.10 T FURST T UGS HTEMS IRD T ST e CRIGES

Vermi composting is a natural organic fertilizer which is made by ................... :
Q.11 g I B PHAM RS @ dra BT 2 |

P" value of the water is between -------- {0 ------------

gos — 4l
SECTION-B

Q. 12- Sl RN B MR WA dTel &1 S forlRay —

Write two measures which is adopt for energy conservation

Q.13- 9 (AReqon) Tfrfe @1 <1 faRyan aHensy |

Explain two specialty of forest (conservation) Act

Q. 14- Sg el 9 arog Fefiavolig dar & S—3l IS0 ST |

Give two examples each biodegradable and Non biodegradable wastes.

Q. 15- q1e = & <1 S forfy | 2



Q.16

Q.17

Q.18

Q.19

Q. 20-

Q.21-

Write two measures which is used for flood control

gus — ¥l
SECTION-C
A Yguor Bl gRINT HIRY $89@ &1 g9 T8y | 1+2=3
arerar
e gquul Bl URMINT FHASISY SHS QI U9 HASISY |

Define thermal pollution explain its two effects.

OR

Define noise pollution explain its two effects.

UTepicieh HATIAT @1 SAfOrIT Bl IGTER0T b FHSMZY 3
3T

A R's HeheuwT Bl FHEY |

Explain category of natural resources with example
OR

Explain concept of three R's

TR § WRERET ®©9 9 JURNE 5d SUARY & fhwl &9 ufharn «of

NEEIEN 3
34T

JHTH IR BT AHSNZY

Explain three conventional waste water treatment processes in India
OR

Explain Vermiculture

NNRTHTAEOT A ST~ A9 TITIRNT FEITSN pT AHSST 3
3T

TGO F YITIRY] TR U Tl diF 94Td oSy |

Explain three problems originating from Industrialisation
OR
Explain three Effect of urbanisation on environment.

Qug — ol
SECTION - D

JURe Tl SUAR & IrIdiy g Irarudiy fafy &1 fora afed awsmsu | 2+42=4
AT
3T HRT Yd=eH BT UlhdAT Bl NG g9 ThY FHSU |
Explain Aerobic and Anaerobic method of waste water treatment process with digram.
OR
Explain process of solid waste managment with line digram.

SUINT Bl FR=RAT & AR W Uplcld FAEA! B 9o BRY | AFqeHl &
BT BT e g1V | 2+4+2=4
3ferdr

JMUGTRN & TIHTHROT BT gui HRT TG qIfTHRT BT a1 918U |

Discribe natural resources on the basis of Continuous usage- draw a chart of
classifiction of resources.

OR
Describe the classifiction of disasters and draw a chart of classifiction.



Q. 22-

Q. 23-

s — ¥
SECTION - E
Ug¥® DI URWINT BT | UgUHl & YPRI Pl I&BRUT hR  FHSSY |
14+3=4

3ferar
STl UGHUT I GRMINT BIRTY | STl Uy & gl | Sl &1 quie iforg |
3ferat
IR UguE DI ARG BHIY | arg Ugue! & 9 Tl BT gui By |

Define pollutants. Explain types of pollutants by example
OR

Define water pollution. Describe any three sources of water pollution.
OR

Define Air pollutants Describe any three sources of air pollutants.

STel gguul (FamRor qem i) ifSfe & aR - faRyaril &1 quie I |
1+1+1+1=4

IR Uyl (FaReT qer i) a@ﬁiﬂwﬁwﬁﬁwﬁwaﬁaﬁm
Describe four speciality of water pollution ( prevention and control) Act

Describe four speciality of Air pollution ( [())rSvention and control) Act

Describe four speciality of Forest conserva?ic?n Act.
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GENERAL INSTRUCTION TO THE EXAMINEES:

1. Tl FdueMm 199 U3 U UR AHih Sifardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge e erfard 7|

All the questions are compulsory.
3. U U BT IR &l g IR JRAHT 4§ &1 ford |
Write the answer to each question in the given answer book only.
4. T3 el # T<IR® WUS & I F9 & IR Y AT & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
5. U UF @ 2l 9 ISl ®URRl ¥ ¥l R &1 Ffe /3R / faReammE 8 R B
AT & YT DI el A |
If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.
6. U BT SR foRg= & gd U BT HAID Aaed ford |
Write down the serial number of the question before attempting it.
7. Ul BT FHIR TR 2 |
Weightage of marks for the question is as follows.

I | TS

= | U
Tus—31(A) 1(itox), 2toll 20 1 20
gue—d(B) 12 to 15 4 2 8
gug—4(C) 16 to 19 4 3 12
wue—3(D) 20 to 21 2 4 8
Tus—(E) 22 to 23 2 4 8




®Y A==
(@rs @)
SECTION-A

g1 e (Y 17 qgagTIcIE gE & GOV FIv Jlasr 7 ferfae—

Write the the answer to the given multiple choice questions in the answer book.

() =1 & 9 for Ryerd fofy & v & STegrT <181 grar § ?

®) & 9= (@) drony
(M) G fRarg OES&rT
Which Irregation method not loss of water in way
(A) Drift irrigation system (B) Sprinkler System
(C) Furro Irregation method (D) Border strip system
(i) =4l @ Ao H fFd TRUGIR & Aelae I $Iwd 97 BT B 7
(@) IR (@) Hrerr
RN () AR
In which weeds aids in Mustard oil Dropsy Disease-
(A) AMARBEL (B) MOTHA
(C) PYAII (D) SATYANASHI
(iii) T H T Reiaxvr # HErd Had © ?
(@) T (@) Ss=
(1) FaHT () =
Nitrogen fixation help in Soil which crop -
(A) Wheat (b) Udad
(c) Maize (d) Sugarcane

(iv) 3TTe] &1 = fhsd URT |IT BT HUTTRIT 2°

(@) <Ts (@) a7
(1) =g (&) ®fctat
Potato tuber in which part of modification form-
(A) Root (B) Stem
(C) Branch (D) Bud
(v) I v TH ey & forl Sfad wal B
(@) & (@) s
(M) IR (&n) &
Which fruit is suitable for Hot and Dry climate -
(A) Ber (B) Mango
(C) Grapes (D) Apple
(vi) 3MHE B AT T dTell fheT HIdT § 2
(®) WRER (@) afera
() 31t s (&) o= T
Which verity of Guava for red pulp-
(A) Sardar (B) Lalit

(C) Arka Amulya (D Pant Prabhat



(vii) 3ffael # W T F9I 5—
(@) ST HRaT (@) Ard e

() T7 gerg (CIREECINEEN
Timing of flowering in Amla -
(A) January Februray (B) March April
(C) June July (D October November

(viii) THTER AT # uRRewT & w9y H§ YA form Sfrar 8-

(@) ® (@) afew domge
(m) = (@) TeRRrM feETEaTrEe
Which preservative used in Tomato Sauce -
(A) Salt (B) Sodium Benzoate
(C) Sugar (D) Potesium Metabisulphite

(ix) a9 @1 a9 ufoerd g & ford #9 @) et ST St 28—
)

(@) R (@) weTa
WISIEAEIS (@) e
More fat percent in Buffalo Breed -
(A) Murrah (B) Bhadabary
(C) Jaffrabadi (D) Surti
(x) T3 H oTel T fHdd gRT herdm 27?
(@) offamy () forarey
(1) drersiam (6) SWRIad H ¥ dIg A8l
Causes in Animals Mastitis Disease -
(A) Bacteria (B) Virus
(C) Protozoa (D) None of these

T¥ HeGT 02 W 08 GF P TV P GlaT A 7/
Write the answer from the Questions 2 to 8 in one line.

g. 2 Ri=g @ 31 Sev faRay |
Write Two Objects of Irregation ?

¥. 3 TUeT WRUAAR fhd ®ed & ?
Define Relative Weeds?

. 4 YRR f5d Fed 87
Define Tillage?

Y. 5 B b DI URHATYT PIfoTg ?
Define Crop rotation?

U 6 SR &I giviey Ufad gacax foRay ?

Write Seed rate per Hectare in Jwar crops?

9. 7 91 H UicH &1 gfoerd A faRkaa?

Write Protien percent in Moong?

U. 8 sl 3N ATAUM dbs bel Reyd © 7

Where isCentral Potato research center?



e W 09 W 11 GF & 74 T RFT w7 ST Fv geaaT 7 feifay—

Write the answer to the blank given in Question number 9 to 11 in the answer sheet.

. 9 GRUBT GEUBT FHR o @ GRI Hofd! 7 |

T 10 e BAGR 9 T 7 |

(@vs 9)

SECTION-B
U. 12 99 BT PRI A DI Dlg af [qewan forRay |
Write Two characters of Murrah Breed of Buffalo.
Y. 13 TR I B Dl &l el foIRay |
Write Two Characters of Anthrax disease.
T 14 o9 ® BAA H WRT I BT HROT 9 FaRoT f1Ray |
Write Causes and treatment of Khera disease in Paddy .

U. 15 9% BT A8 [oIRIU | 2

Write Importance of Fennel

(Fvs 9)

SECTION-C

9. 16 TdR (Mulch)gRT @RUdaR =1 &4 favar Sirar g 2
How weed control is done by mulching ?
3AdT
GRAAART & 3l gor faRkad |

Write medicinal characters of weeds ?

9. 17 g&h B H TH W1 & Rygia faRag ?

Write the theory of Conservation of Moisture in dry farming ?

3T
A dh B Plg 3 A foIRay |
Write Any three benefits of crop rotation.

. 18 Bolled & foR I &7 gH1d & Agwaqol fawg forRag |

Write Selection of the site of Orchard important points ?

SAT
B & YT BRE [eIRAT |
Write Main cuases of unfruit fullness
Y. 19 U3 BT a1 Aed ARy | 3
Write Religious importance of animals ?
SAT

qY] U BT Heed oIl |



Write Importance of Cattle management.

(Fvs T)

SECTION-D

. 20 g @ Wl & = fagel § avi= Sy |

U 21

Y. 22

(1) IR 8= fod  (2) I97 &R UfT B T INUaR
(3) &1 ug@ I (4) ST U oI
Describe Cultivation of weed crop in following points.
(1) Four improved verities (2) Seed rate per Hectare and seed treatment
(3)Two majorDisease (4) Yield per Hectare
31T
OR

=+ B WA B = fgel @ auiE Sy |

(1) IR I=1d fbd  (2) 919 &R Ufd BacR G dISuar

(3) &1 UHg AT (4) IUST Ufd oI

Describe Cultivation of Gram crop in following points.

(2) Four improved verities (2) Seed rate per Hectare and seed treatment
(3)Two major Disease (4) Yield per Hectare

MR B Wl &1 1 fI=gaii # auia SISy |

(1) IR S~a o (2) gaeie

(3) i oI T fafer (4) <1 ggg B

Describe Cultivation of Pomegranate crop in following points.
(1)Four improved verities (2) Propagation

(3)Method of plantation (4) Two major Insects

AT

wﬁa%@?ﬁmﬁwﬁgsﬁﬁavhaﬁ%;l
(1) aR S~a o (2) wad=
(3) Ui eI @t fafer (4) T vHE DI

Describe Cultivation of Papaya crop in following points.
(1)Four improved verities (2) Propagation
(3)Method of plantation (4) Two major Insects

(Tvs 3)

SECTION-E

T & R % &1 quie 7 el & SR R SRy |
(1) SRT = (2) faa=or

(3) g < faRryamy (4) SRR

Describe the Gir breed of cow based on the following points.
(2)Origin Place (2) Distribution

(3)Any two Characters (4) Utility



. 23

S REIHE
OR

¥ B PRI T BT 9o 14 95l & MR R IR |
(1) IR =IH (2) fae=or
(3) ®Ig a1 favryam (4) Sy=frar

Describe the Murrah breed of buffalo based on the in following points -

(1)Origin Place (2) Distribution
(3)Any two Characters (4) Utility
AT

OR
TS P ARAREI % BT goiF 71 fdgall & MR R HIRTT |
(1) IR =IH (2) faa=or
(3) ®i < favrwan (4) STAfraT
Describe the Marwari breed of Sheep based on the following points.
(1)Origin Place (2) Distribution
(3)Any two Characters (4) Utility

G BT U g 1 fAfd &1 goid SIS e 5 fball FaR b1 Ui g4 H ggad
RICPIRITCI 4

Describe the Method of making Orange squash and write the ingredients used to make 5
kg of orange squash.

AT
OR

cHIER A 999 @1 fafer &1 qui Iy T 5 fheliam™ eder 9 |- daR &- H
ERCNASIIB IR EIECI

Describe the Method of making tomato sauce and write the ingredients used to prepare
the sauce with 5 kg tomatoes.

3AdT
OR
S g9 B fafr @1 9ol Py qen 5 feaum 99 9 9 TR B |
gad AHRf faRag |
Describe the Method of making jam and write the ingredients used to prepare jam from 5
kg apple.



